mEERsJSVREEAR

Quality control and Brand are from Japan

RIELcmEEEOT. [EfEl BN I EnE ] 0RmZESEFLET

We offer products with shorter delivery term, lower price, but higher quality
to our customers through our quality control system.

EBHDOISVR

IKMT

CORPORATION @

ﬂgl\o)nuﬂa ............................... 3—4
Action To Quality

/\*‘7!} yﬁ‘ ...................................... 5—-12
Bearings

AFUVLARNTYSLG oo 13—18
Stainless Bearings

ta;‘yaz\*'?l) ya" ...................... 19—-22
Ceramic Bearings

ANTPYDGIZ YR oo 23—26
Bearing Units

AF LA ’\"7')?7“1:‘7# .......... 27-30
Stainless Bearing Units

EEM&T"}’/@J:“/F ............... 31-34
Light Bearing Units

BEBAT VA ATY51=yh -35—-38
Light Stainless Bearing Units

,f o — I*iﬂlﬁ ..................................... 39
Insert Bearings

ATF VLAY 1=y RHIN— 40
Stainless Bearing Units Cover

4’/11-_|~§m§ (EE&]) ................. 41—42
Insert Bearings (Light)

:|’//\°7 |~/\"7Jl}~/7“_-,_:‘y|~ .................. 43
Compact Bearing Units

1FHh [/17]'5’\7') ~/7“ .......................... 44
Ball Bearings Set Screw Type

7]-4)» bzz\"7lj ya ..................... 45—46
Oilless Bearings

;imﬁﬂ ...................................... 47_54

Technical Data

2024.05.31




on A DY) & ACTION TO QUALITY

KMT Tl AFZUY T AFUY ST 1=y NEED
RWBEEKMTISYRELTRFELTHEDET .

We have our own KMT Brand bearings, bearing units for sell.

HmeERBEN. EMICEEL EDE@mE | ZHETTDICHIC,
HARBEE=EKBICLKOIREBEZITOCHHET,

KMTDSYVR&EBE MBS HEBE - BEBEEDICIISICERL TS,
HARBEAFOMEBZEKRLTHDHET,

We inspect our products ourselves and also have an examination run by a third party that make sure our produce process
economically and effectively. So that we can control the quality of our products.

From Material, Dimensions, to Rotating accuracy, KMT products are all made according to the JIS standards.
Because we pursue the same gquality as Japanese products.

JISBELZHICI MEDEIR Realization of the Quality Under JIS Standard

&85 EERMHE I JISICEU I HAERESE
ITEHEERE JISHH FEER# JU—RZHA

Optimal reliable JIS standerd JIS compliant Enclosed Japan-made
factory selection compliant material accuracy standard lubricating grease

KMTZ SV RREmIE M T ELEAEE S BICJISICEMLTHD.
HARBERIEFEDREZEKRLTHEDET,
From Material composition to Dimensions / Rotation accuracy, KMT products are all made according
to the JIS standards, We pursute the same excellent quality as Japan manifactured products.

ﬁE%IEP.ISiﬁIJ Quality Control System

F—YRE

| Data collation l

REKMT HEAKMT
(RE) (RE)

SE=-EHRERE
(RE)

KMT CHINA KMT JAPAN

(inspections) (inspections)

Third-party Organizations
(inspections)

I F=FT4—RN\vIRBRE I F=FT4—RIN\vIBRE
Data feedback matching Data feedback matching

FREKMTEBARKMT, EOICHE=EREKB CREZRED ST AREBERE. NARIREBEZHEL TITOTHHET,

KMT CHINA and JAPAN, as well as third-party organizations, thoroughly carry out
vibration inspections, dimensional rotation accuracy inspections, and visual inspections.

b 4
HAROBEREITTHELBADSBERICERAUMETCRM

We can provide the same high quality products for the customers in both Japan and overseas.

OIS RE] ZHEITITD/-IC TO DELIVER RELIABLE QUALITY

FEKMTEBARKMT, E5ICE=ERBHKE CHORBEZ{TOTHD.
HEDHSZRKICH. BHDOBERICEEILME CTTRHLE T,

Our products are tested by KMT JAPAN, KMT CHINA, and a third party.

So that we can provide the same quality products for customers in Japan or overseas.

HEKMT B EECCELLE
KMT CHINA | KMT JAPAN \ THE THIRD PARTY
on E E IR (A mE EE AT =R =fEdry |

BA#ERERS (UB) [CT. EHENREZREE
FRBEEKE (—EHRIEEED)

A EERAEEFJIISZ90 1 5- 1 (CHEUIREURE. HARRECHEUTIREBRE Z =

IRE) S EF = HIREZ R FREKMTORET —5ZRE

Quality Control System Quality Control System Quality Control System

Sampling inspection is performed for dimensions and Conducted sampling inspection in accordance with We perform objective inspections appropriately,
rotation accuracy according to JIS Z9015-1 standard. company regulations. conducted by JBI(Japan Bearing Inspection), for all bearing
Also, 100% inspection for vibration and appearances. Collate inspection data of China KMT. model numbers.(some items cannot be supported.)

*iw*ﬁﬁ INTERNAL INSPECTION

IR 8 8 B GURNIVRE.7YFOVERE)

NPV DEEGRICEUDRE ZIRE T HIET . EFE. A
e EEOEEE. K- REFEDORELEYEADRBEE,
HWENEREHMZTOTBDERT  (NFUVITDH)

Vibration Examination

An examination to get vibration data when bearings are rotating.
We analysis the data to find the problems on [Roundness], [Roughness], [cages].then make a judgment about the quality.

JTERERE-ODERERE
JISICEDOSNICHET. EFETEDREZITOCHEDETRT K
o NS B EENOREZBEITITHcH. FistNRESE
EBFEZRAVC. REDN\SYFDZEZToCHBDET,
Dimension & Rotation Examination

We check the dimension according to the JIS Standard.
To deliver products following the tolerance, we have our own gquality control system to control the unevenness among the products.

Neme

RIZBOE ERDBESDEREHZERL. [F XU A
O | BEDRBZITOCHDET ANTFUVITIE BRUANILE
ERAEICHEEL RELUNILDOE— b ZHSIch . BEISE
REXBEZEALTHDET,

Appearance Inspection
Product Appearance is also considered as an important subject. We inspect the products with [Scratch], [Rustiness],
[Dent] and so on. We use Automatic Appearance Inspection Equipment to make sure the Appearance Inspection standard can be controlled.

FLSMRE exTeERNAL INSPECTION
FEoEHRERETORE

BABMZERERS N7 UYIONERBE D ER Az KR
B#%>o./0Y— - #EED SO EE R R CZ KR
REN7UYVIHEOERMER - AR =0 DR 2 MRS BRE 2 KR

Examination run by Third Party

JBI : Examination on Dimension & Rotation of the bearings

Nittetsu technology : Examination on Micro Observation, Heat Treatment, Hardness.

State Organization Of Chinese KMT Association : Examination on Micro Observation, Heat Treatment, Hardness.

H¥AEKMTEFREXRTZ UV IHREDRETT . %CBIA: Examination on Micro Observation, Heat Treatment, Hardness.

At SF (S ER (FEEHF)
BEBEOTHEASNTVDA—H—EKMTEEBSZ MU THmER
([CHVF. RERFIE DT AR E DB E LIRS ED LR E ATV
FI.F e HBRICHRL. PLEEDEEREFER AN TR =
TWET,

Comparing Test (requested only)

We do a comparing test between the bearing that customer’'s using and a KMT bearing. We will compare the data from the test on [Dimension], [Rotation
Examination], [Vibration] and so on. After the test, we disassemble the test object to check the abrasion and make a judgement on the bearing.

2024.05.31




2V b/

BEARINGS

-y - 7 l \ m F=+% (mm) B E BEAEREE B3R~ A (mm) &E(E SramERE (rpm) B8 ()
I=Fa17 MEEH e o |8
gy, 1 } .1 Main Dimensions(mm) Bearing Number Basic Load Rating Installlz?;ufc;r:eage\r;:;gg (mm) A"DVSV;ZEd'\(Ar?;Tum BE
Weight(g)
MINIATURE/SMALL BALL BEARINGS S— JURF g
i < a
WIRELR ' Shields (min) | (max) | (max)
Standard Specification
B A 4 @ | SUJE@E%’{) 8 |25 ] 0.05 MR8522 — — 310 120 74 58 | 0.10 53000 — 0.34
nner and Outer Aings (equivalent) 9| 3 |0.15| MR95zZ — — 430| 168| 82 | B0 | 0.15 | 50000 — 0.58
; K — b SUJ2 (1)
E LI, — 7 \nm Ball (equivalent) 10 4 |0.10 MR10522 — — 430 168 8.4 6.0 | 0.20 50000 — 1.29
IE— ‘ — ® = # SPCC/SUS304 (tfH) — —
H M e et 11| 4 |010| MR1152Z 715| 276| 98 | 63 | 0.15 | 48000 — 1.49
s P = IR SPCC/SUS304 (1) 5(11] 5 |0.15 68527 — — 715 281 9.9 6.2 | 0.15 45000 — 1.96
) N b—R Shields (equivalent)
S s v = SPCC(*E%’I)-F:‘HJJD:U_\ 13| 4 |0.10 69527 2RS 2Rz 1080| 430 | 11.2 6.6 | 0.20 43000 | 40000 2.50
I I S R Seals SPCC(EauvalentFitrle Ruober 14| 5 |020| 6052z 2RS 2RZ 1830 505| 122 | 69 | 020 | 40000 | 38000 | 3.48
i B M UFDLFRITU—R
A P Lubricant Lithium Greases 16 5 | 0.20 62527 2RS 2Rz 1730 670 | 13.8 7.5 | 0.30 36000 | 32000 4.86
E— BEER JIS Ofk
m m Aoouacy Class S0 Class 19| 6 |0.30| 63522 2RS 2Rz 2340| 885|165 | 85 | 0.30 | 32000 | 30000 | 834
i o i g T F MC3 10 3 |0.10 MR10622 = = 495 218 SE3 70 | 0.15 45000 = 0.68
B S Clearance MC3 Clearance
MEEBEE Z Z|110CEEBE) 12/ 4 |0.10| MR1262Z - - 715 292|109 | 72 | 020 | 43000 — 1.74
Heat-Resistant Temperature o
2RS | 100T(=E1E) 13| 5 |0.15 68622 2RS 2RZ 1080 | 440 | 11.7 7.4 | 0.20 40000 | 38000 2.69
TCEEE
2RZ | 10T (==E) 6|15 5 | 0.20 69622 2RS 2Rz 1730 670 | 13.3 79 | 0.30 40000 | 38000 3.72
17 6 | 0.30 60622 2RS 2Rz 2260 | 835 | 148 82 | 0.30 38000 | 34000 6.08
B (mm) B OE poauT— B8 E (mm) B&(E SEESEERE (rpm) . 19/ 6 | 0.30 62622 2RS 2Rz 2340| 885 | 165 85 | 0.30 32000 | 30000 7.94
. ’ . . =(g
R [y ey e Bearing Number Basic Load Rating lnStBIE;;Z?eEL?;eGZ;SQ(mm) A"Ogigfd“(ﬂr?;r%r;mm e, 22| 7 1 0.30 63622 2RS 2Rz 3300|1370 | 19.0 | 105 | 0.30 30000 | 28000 | 14.00
= o Weight(g) 11 3 |0.10 MR11722 — — 455 | 201 | 10.5 8.0 | 0.10 43000 — 0.72
— VR Reference
Shields 13| 4 |0.15 MR13722 — = 540 | 276 11.6 9.0 | 0.15 40000 — 2.02
625|005 | MR632z — — 208 74 54 3.7 0.10 | 71000 — 0.27 . 14, 5 |0.15 68722 2RS 2Rz 1170 510 | 12.7 85 | 0.15 40000 | 34000 2.97
7| 3 |0.10| 6832z = — 310 110 6.4 4.0 0.10 | 83000 = 0.45 17, 5 | 0.30 69722 2RS 2Rz 1610 710| 148 | 102 | 0.30 36000 | 28000 5.12
8| 3 |0.10| MR83z2z — — 395 139 73| 40 0.10 | 60000 — 0.64 19/ 6 | 0.30 60722 2RS 2Rz 2340| 885 | 165 9.1 0.30 36000 | 32000 751
3|8 4 |0.15| 69322 = = 560 179 7.3 4.3 0.15 | 60000 = 0.83 22| 7 1 0.30 62722 2RS 2Rz 3300|1370 | 19.0 | 105 | 0.30 30000 | 28000 | 12.90
9| 4 |0.15| MR93z2z — — 570 187 7.9 4.3 0.15 | 56000 — 1.18 12/35|0.10 MR12822 — — b45| 2741 11.3 9.0 | 0.15 40000 — 0.97
9| 5 |0.15| 603z2z = — 570 187 7.9 4.3 0.15 | 56000 = 1.45 14, 4 |0.15 MR14822 — = 820| 385 | 128 9.2 | 0.20 38000 — 2.16
10 4 |0.15 | 6232z — — 630 | 218 8.0 4.3 0.15 | 50000 — 1.66 16/ 5 | 0.20 6882z 2RS 2Rz 1610 710| 142 | 102 | 0.20 36000 | 28000 4.02
7125|010 | MR7422 = — 255 107 6.3 4.8 0.10 | 80000 = 0.29 8119 6 |0.30 69822 2RS 2Rz 2240| 910 | 165 | 10.0 | 0.30 36000 | 28000 7.18
8| 3 |0.05| MR84z2z — - 395 139 7.4 5.0 0.10 | 56000 — 0.56 22| 7 10.30 6082z 2RS 2Rz 3300|1370 | 19.0 | 105 | 0.30 34000 | 28000 | 12.20
9| 4 |0.10| 684zz = = 640 | 225 8.1 52 0.10 | B3000 — 1.01 24| 8 | 0.30 62827 2RS 2Rz 3350 | 1430 | 205 | 120 | 0.30 28000 | 24000 | 17.40
10 4 |0.15 | MR104zz — - 710 | 270 8.8 59 0.20 | 50000 — 142 28| 9 | 0.30 63822 2RS 2Rz 4550|1970 | 228 | 128 | 0.30 28000 | 22000 | 28.60
4
11 4 |0.15 | 69422 = = 960 | 345 9.9 5.6 0.20 | 48000 = 1.75 17, 5 | 0.20 68922 2RS 2RZ 1330| 665| 1562 | 11.5 | 0.20 36000 | 24000 443
12 4 | 020 | 604zz — — 960 | 345 9.9 5.6 0.20 | 48000 — 2.29 . 20| 6 | 0.30 69927 2RS 2Rz 1720 840/| 172 | 120 | 0.30 34000 | 24000 8.33
13| 5 | 020 | 624z2z = — 1300 | 485 | 11.3 6.0 0.20 | 40000 = 3.04 24| 7 |1 0.30 6092z 2RS 2Rz 3350| 1430 | 205 | 120 | 0.30 32000 | 24000 | 14.70
16/ 5 | 0.30 | 6342z — — 1730 | 670 | 138 7.5 0.30 | 36000 — 521 26| 8 | 0.30 62927 2RS 2Rz 4550|1970 | 228 | 128 | 0.30 28000 | 22000 | 19.30
Cr=EAXEEEETE Cor=EXEEEIRETE Cr=EAXEEIEETE Cor=EXREEIRETE gAY —)URZ (2RS) DEMEBFZHREDE T,
Cr=Basic dynamic rated load Cor=Basic static rated load Cr=Basic dynamic rated load Cor=Basic static rated load % Different companies have differences on the quantity of contact seal (2RS).
x FERRIERLNDEISAIREC T . BRBICBBLIEDELEE L, x _FERRIBLSNDEISAIREC T . BRBICHBBLIEDELEE L,
¥ We can also produce bearings not in the list. Please contact us. ¥ We can also produce bearings not in the list. Please contact us.

2024.05.31



2V b/

BEARINGS

R=FaT7/MERME (77011 E)

MINIATURE/SMALL BALL BEARINGS (WITH FLANGED OUTER RING)

WREELRR
Standard Specification
A 5 SUJ2(H8%)
B Inner and Outer Rings (equivalent)
wn — SuJe (1E%)
7 Ball (equivalent)
_ rsi —_—— ® =¥ 2 SPCC/SUS304 ()
Cage (equivalent)
rs = IR SPCC/SUS304 (tH%)
T R Shields (equivalent)
v = SPCCHEZ)+=rUJLTL 8 BEAERESE S (mm) 5 S EEEE (rpm
ol o a 3 Seals SPCC(equivalent) Fhitrle Rubber ESEA(mm) = & Bi'c?gzd ?Zlf:fj;ﬁlfnens?un:r{s :;iiﬁfﬂiiir:urz
[ S . . 4 . . |
S OB H UF LRI —2 Main Dimensions (mm) Bearing Number Rating Reference Valie e
Lubricant Lithium Greases
BES®H JIS 0% AN ZZ-2RZ| 2RS
g@g g@g - Accuracy Class JIS O Class Shields
) g T & MC3 8| 92|25 06/|005| MF852z - - 310 | 120| 58 | 0.10 | 53000 | — 0.41
—L | Clearance MC3 Clearance
‘ maEE Z Z | 110C(=E6) 9,102 3 |06|0.15| MF9522 — = 430 168 | 6.0 0.15 | BOO0O = 0.66
Heat-Resistant Temperature o
Ch 2RS | 100C(5%®) 10/116| 4 |08|0.10| MF10522 — — 430 | 168 | 60 | 020 | 50000 | — 1.46
2RZ | 110TC(BE®) N
5111126 4 | 1.0|0.15| MF11522 = = 715 | 276 | 6.3 0.15 | 48000 = 1.67
111125] 6 1.0]/0.15 | F68522 — — 715 | 281 6.2 0.15 | 45000 — 2.18
g y HATIEEE | DHEGTEmS2E| FEEER (rom) 13150 4 | 1.0|0.20| F69522 2RS 2Rz 1080 | 430 | 6.6 0.20 | 43000 | 40000 | 2.84
EEE(mm) B OB
Main Dimensions (mm) Bearing Number Basic Load Installation Dimension(mm) | Allowable Maximum 141160 5 | 1.0|0.20| F60522 2RS 2Rz 1330 | BO5 | 6.9 0.20 | 40000 | 38000 | 3.85
Rating Reference Value Speed(rpm)
— > ” 101112, 83 |06|0.10| MF10622 — — 495 | 218 | 7.0 0.15 | 45000 = 0.77
c s | Y—IURRZ | 8o —IUR | FFEmS—IVR
(min)| Shields Contact Rubber Seal | Non-Contact Rubber Seal 12/136| 4 |08/|0.15| MF1262Z - - 715 | 292 | 7.2 | 0.20 | 43000 — 1.94
6| 72|25 |06|0.10| MF632z — — 208 74 3.7 0.10 | 71000 — 0.33 6 (13|15.0| 5 1.110.15 | F68622 2RS 2RZ 1080 | 440 | 7.4 0.20 | 40000 | 38000 | 3.04
7| 81] 3 |08|0.10| F68322 = = 310 | 110 4.0 0.10 | 83000 = 0.53 15/170] 5 1.210.20 | F69622 2RS 2Rz 1730 | 670 | 7.9 0.30 | 40000 | 38000 | 4.26
8 92| 3 | 06]0.10| MF832z - — 395 | 139 4.0 0.10 | 80000 — 0.73 17/19.0| 6 1.2|0.30| F6062Z 2RS 2Rz 2260 | 835 | 8.2 0.30 | 38000 | 34000 | B.61
3|8 95| 4 |09]0.15| F69322 = = 560 | 179 4.3 0.15 | 80000 — 0.97 14116.0| 5 1.110.20 | F68722 2RS 2Rz 1170 | B10| 85 0.15 | 40000 | 34000 | 3.37
91106 4 [08|0.15| MF932z — — 570 | 187 4.3 0.15 | 56000 — 1.34 71171190| 5 1.2]10.30| F69722 2RS 2Rz 1610 | 710 |10.2 0.30 | 36000 | 28000 | 5.65
91105 5 |1.0|0.15| F6032z = = 570 | 187 4.3 0.15 | 56000 = 1.63 19/22.0| 6 1.5/0.30| F60722 2RS 2RZ 2340 | 885 | 9.1 0.30 | 36000 | 32000 | 8.66
10/11.5] 4 |1.0|0.15| F62322 — — 630 | 218 4.3 0.15 | 50000 — 1.86 121363508 |0.15| MF12822 == = 545 | 274 | 9.0 0.15 | 40000 = 1.15
7| 8225|106 |0.10| MF74ZzZ = = 255 | 107 4.8 0.10 | 80000 = 0.35 141156| 4 |08|0.15| MF14822 — — 820 | 385 | 92 0.20 | 38000 — 2.39
8 92| 3 |06 |0.05| MF84zz - — 395 | 139 5.0 0.10 | 56000 — 0.63 81(16/180| b 1.110.20 | F68822 2RS 2Rz 1610 | 710 |10.2 0.20 | 36000 | 28000 | 447
91103 4 |1.0|0.10| F68422 == — 640 | 225 52 0.10 | 53000 = 1.14 191220 6 1.5|10.30| F6982z 2RS 2Rz 2240 | 910 |10.0 0.30 | 36000 | 28000 | 8.30
4110/116| 4 |08|0.15| MF1042z — — 710 | 270 59 0.20 | 50000 — 1.59 22|250| 7 1.5]10.30 | F60822 2RS 2Rz 3300 |1370 |10.5 0.30 | 34000 | 28000 | 13.50
111125 4 | 1.0]/0.15| F694ZZ = = 960 | 345 5.6 0.20 | 48000 = 1.96 17/19.0| 5 1.1 10.20 | F68922 2RS 2RZ 1330 | 665 |11.5 0.20 | 36000 | 24000 | 4.91
12135 4 |1.0|0.20| F604z2z — — 960 | 345 5.6 0.20 | 48000 — 2.53 9 |20|230| 6 1.5]10.30 | F69922 2RS 2RZ 1720 | 840 |12.0 0.30 | 34000 | 24000 | 9.51
13150 5 |1.0|0.20| F62422 = = 1300 | 485 6.0 0.20 | 40000 = S5 24|\270| 7 1.5]10.30 | F60922 2RS 2RZ 3350 |1430 |12.0 0.30 | 32000 | 24000 | 16.00
Cr=EXEEIEETE Cor=BAEHTEIREE Cr=EAXEEIEETE Cor=BAEEIREE x> —)URZ (2RS) DEMEFBHELDOE T,
Cr=Basic dynamic rated load Cor=Basic static rated load Cr=Basic dynamic rated load Cor=Basic static rated load % Different companies have differences on the quantity of contact seal (2RS).
¥ FECRIBLS O RISAIRE T T . STBICBRLEHDELEEL, ¥ FECRIBLS O RISAIRET T . BTBICBRBLEDELEEL,
% We can also produce bearings not in the list. Please contact us. % We can also produce bearings not in the list. Please contact us.

2024.05.31



RPYLY

BEARINGS

R

Standard Specification

: a,
oIy A 5 SUJ2(18%)
;g'ﬁiﬁmx Inner and Outer Rings (equivalent)
m — b SUJ2 (18
DEEP GROOVE BALL BEARINGS R & Aottt
® ¥ 2 SPCC/SUS302/5US304 (1BH)
h%“ ﬂ‘f Cage (equivalent)
A ST A — R Y — LR SPCC (184)
&:ﬁ I I Shields (equivalent)
m M - s — SPCCHRY)+ =LA
rs — Seals SPCC(equivalent)+Nitrile Rubber
—" M 8 UF DRI
o N | « 1] | S s Lubricant Lithium Greases
° S e ¥ % R JIS Ot
1 Accuracy Class JIS O Class
— r g T X CN/C3
- Clearance CN Clearance
H m i M M#BEE 2z Z|110CEER
| | € Heat-Resistant Temperature 2RS 100C (BE(B)
—)URFE = — I FEEfL s —) VR LEHERfTE °
Y4 2RS 2RZ ZZNR m 2RZ | 110C(Z%1E)

EEiE(mm) R OE IEERHE BAEIEE BfSRFRTE(mm) SE(E

SFEmERE (rpm)

sE(g)

Dimeng,ilg:wns(mm) Bearing Number Dimensions with the snap ring Basgiihgad Instalg;:‘(;r:ealcr:\;ec:;gg(mm) Allowable Maximum Speed (rpm) =BE
Weight(g)
rs ¥—)URHZ B —IVR; | FEEMY—IUR LEsHER (= a D2 f EEfareies
REER RN it e B e SR PR e
15 4 0.3 670022 2RS 2RZ — — — — 855 435 13.9 11.5 11.5 0.15 15000 9990 2
19 5 0.3 68002z 2RS 2Rz — = = = 1590 760 17.0 12.0 12.0 0.30 34000 24000 5
22 ] 0.3 690022 2RS 2RZ ZZNR 1.05 24.8 0.70 2690 1270 20.0 125 12.0 0.30 32000 22000 9
10 26 8 0.3 600022 2RS 2RZ ZZNR 1.73 29.2 0.70 4750 1960 24.0 13.0 12.0 0.30 30000 22000 18
30 9 0.6 62002z 2RS 2RZ ZZNR 2.06 34.7 1.12 5100 2390 26.0 16.0 14.0 0.60 24000 18000 32
35 11 0.6 630022 2RS 2Rz ZZNR 2.06 39.7 1.12 8200 3500 31.0 16.5 14.0 0.60 22000 17000 52
18 4 0.3 670122 2RS 2RZ — — — — 926 530 16.8 13.8 13.8 0.20 13000 8660 3
21 5 0.3 68012z 2RS 2RZ — = = = 1910 1040 19.0 14.0 14.0 0.30 32000 20000 6
24 6 0.3 690122 2RS 2Rz ZZNR 1.05 26.8 0.70 2890 1450 22.0 145 14.0 0.30 30000 20000 10
1e 28 8 0.3 600122 2RS 2RZ ZZNR 1.35 30.8 0.85 5100 2390 26.0 1155 14.0 0.30 28000 18000 23
32 10 0.6 62012z 2RS 2RZ ZZNR 2.06 36.7 1.12 6800 3050 28.0 17.0 16.0 0.60 22000 17000 37
7 12 1.0 630122 2RS 2Rz ZZNR 2.06 41.3 1.12 9700 4200 32.0 18.0 17.0 1.00 20000 16000 60
21 4 0.2 670222 2RS 2RZ — — — — 937 582 19.7 16.8 16.8 0.20 11000 7330 4
24 5 0.3 680222 2RS 2RZ == = = = 2060 1260 22.0 17.0 17.0 0.30 28000 17000 7
28 7 0.3 690222 2RS 2Rz ZZNR 1.30 30.8 0.85 4320 2260 26.0 17.0 17.0 0.30 26000 17000 15
1° 32 9 0.3 600222 2RS 2RZ ZZNR 2.06 36.7 1.12 5600 2840 30.0 19.0 17.0 0.30 24000 15000 32
35 11 0.6 620222 2RS 2Rz ZZNR 2.06 39.7 1.12 7750 3600 31.0 20.5 19.0 0.60 20000 14000 45
42 13 1.0 630222 2RS 2Rz ZZNR 2.06 46.3 1.12 11400 5450 37.0 22.5 20.0 1.00 17000 13000 82
23 4 0.15 670322 2RS 2RZ — — — — 1000 658 21.6 18.8 18.8 0.20 9500 6330 4
26 5 0.3 680322 2RS 2Rz == = — — 2130 1360 24.0 19.0 19.0 0.30 26000 15000 7
30 7 0.3 690322 2RS 2RZ ZZNR 1.30 32.8 0.85 4310 2310 28.0 195 19.0 0.30 24000 15000 17
17 35 10 0.3 600322 2RS 2RZ ZZNR 2.06 39.7 1.12 6800 3350 33.0 215 19.0 0.30 22000 13000 39
40 12 0.6 620322 2RS 2Rz ZZNR 2.06 44.6 1.12 9600 4600 36.0 235 21.0 0.60 17000 12000 65
47 14 1.0 630322 2RS 2RZ ZZNR 2.46 52.7 1.12 13500 6550 42.0 25.5 22.0 1.00 15000 11000 115
27 4 0.1 670422 2RS 2RZ — — — — 1038 725 25.3 22.3 22.3 0.20 8500 5660 B8
32 7 0.3 680422 2RS 2RZ ZZNR 1.30 34.8 0.85 3470 2240 30.0 22.0 22.0 0.30 22000 13000 17
37 9 0.3 690422 2RS 2RZ ZZNR 1.70 39.8 0.85 6390 3590 35.0 24.0 22.0 0.30 19000 12000 37
20 42 12 0.6 600422 2RS 2RZ ZZNR 2.06 46.3 1.12 9400 5050 38.0 255 24.0 0.60 18000 11000 70
47 14 1.0 620422 2RS 2RZ ZZNR 2.46 52.7 1.12 12800 6650 42.0 26.5 25.0 1.00 15000 11000 106
52 15 1.1 630422 2RS 2RZ ZZNR 2.46 57.9 1.12 15900 7900 455 28.0 26.5 1.00 14000 10000 144

g —)URZ (2RS) DEMEFZHELEDFE T,
% % Different companies have differences on the quantity of contact seal (2RS).

Cr=EAETIRHTE Cor=EXFETIREE
Cr=Basic dynamic rated load Cor=Basic static rated load

¥ FERBIEDINNDEIERIRE T T . BREBICBELEHDELEE L,

#We can also produce bearings not in the list. Please contact us.
KERBAEIESEAE. JIS B 1512(CEUTHEDF B A

% Snap ring groove dimensions and snap ring dimensions are not conformed to JISB 1512.

2024.05.31




RPYLY

BEARINGS

et Soecifcati
naar 1Tl 1on
RS A | Sz
' ' x Inner and Outer Rings (equivalent)
DEEP GROOVE BALL BEARINGS p v g
rs% j—__J‘f g:%ageﬁ a SPCC/SUSBOE/SUSBC():;RE?%
A AR u 7 R Y=LK SPCC(#H=)
&:ﬁ I I Shields (equivalent)
& = S5 - L= e
—" M 8 UF DRI U—2R
ale 1 N | a4 | S L s Lubricant Lithium Greases
s s BEER JIS OfR
Accuracy Class JIS O Class
7’ — T ERCS CN/C3
- Clearance CN Clearance
@Q}@ m 1l M WMMEBE Z Z 110020
I, N 7ﬂ—/ Y Heat-Resistant Temperature 2RS | 100C (2£m)
Igﬂ'ﬁf\_(mm) R OE IEERHE EAEIEE B BEIRTE (mm) SEHE SEESEEEH (rpm) B8 (g)
: IV_Ialn Bearing Number Dimensions with the snap ring Basic_Load izttt (Bl s o) Allowable Maximum Speed(rpm) =&
Dimensions (mm) Rating Reference Value =
Weight(g)
¥—)URHZ V=)L Vi JE D= f Da da R
JShi)tglzg Cofaﬁc!lcéub;;ﬂSeal N?rfg;;nﬁfcthubégrﬁSeal Wﬁiﬁ]{g ring (BZEfE) | (BE(E Reference
37 7 0.3 680522 2RS 2Rz ZZNR 1.30 39.8 0.85 3666 2640 35.0 27.0 27.0 0.30 18000 10000 21
42 9 0.3 690522 2RS 2RZ ZZNR 1.70 44.8 0.85 6650 4190 40.0 28.5 28.5 0.30 16000 10000 42
25 a7 12 0.6 600522 2RS 2Rz ZZNR 2.06 52.7 1.12 11900 6550 43.0 30.0 30.0 0.60 15000 9500 79
52 15 1.0 620522 2RS 2Rz ZZNR 2.46 57.9 1.12 14800 7850 47.0 32.0 32.0 1.00 13000 9000 128
62 17 1.1 630522 2RS 2RZ ZZNR 3.28 67.7 1.70 23400 11600 555 36.0 36.0 1.00 11000 8000 232
42 7 0.3 680622 2RS 2Rz ZZNR 1.30 44.8 0.85 4020 3120 40.0 32.0 32.0 0.30 15000 9000 24
a7 9 0.3 690622 2RS 2Rz ZZNR 1.70 49.8 0.85 7200 5050 45.0 34.0 32.0 0.30 14000 8500 52
30 55 1&E 1.0 600622 2RS 2RZ ZZNR 2.08 60.7 1.12 13800 8300 50.0 36.5 35.0 1.00 13000 8000 116
62 16 1.0 620622 2RS 2RZ ZZNR 3.28 67.7 1.70 20300 11300 57.0 385 35.0 1.00 11000 7500 199
72 19 1.1 630622 2RS 2Rz ZZNR 3.28 78.6 1.70 29600 16000 65.5 425 36.5 1.00 9500 6700 345
47 7 0.3 680722 2RS 2RZ ZZNR 1.30 49.8 0.85 4310 3610 45.0 37.0 37.0 0.30 14000 7500 27
55 10 0.6 690722 2RS 2RZ ZZNR 1.70 57.8 0.85 10370 7180 51.0 39.0 39.0 0.60 12000 7500 75
35 62 14 1.0 600722 2RS 2RZ ZZNR 2.08 67.7 1.70 16000 10300 57.0 415 40.0 1.00 11000 6700 151
72 17 1.1 620722 2RS 2RZ ZZNR 3.28 78.6 1.70 27000 15300 65.5 445 415 1.00 9500 6300 284
80 21 1.5 630722 2RS 2RZ ZZNR 3.28 86.6 1.70 33500 19100 72.0 47.0 43.0 1.50 8500 6000 464
52 7 0.3 680822 2RS 2RZ ZZNR 1.30 54.8 0.85 4420 3895 50.0 42.0 42.0 0.30 12000 6700 31
62 12 0.6 690822 2RS 2RZ ZZNR 1.70 64.8 0.85 11270 8450 58.0 46.0 44.0 0.60 11000 6300 112
40 68 15 1.0 600822 2RS 2RZ ZZNR 2.49 74.6 1.70 17800 11600 63.0 47.5 45.0 1.00 10000 6000 190
80 18 1.1 620822 2RS 2RZ ZZNR 3.28 86.6 1.70 32500 19000 73.5 50.5 46.5 1.00 8500 5600 366
90 23 1.5 630822 2RS 2RZ ZZNR 3.28 96.5 2.46 40500 24000 82.0 53.0 48.0 1.50 7500 5300 636
58 7 0.3 680922 2RS 2RZ ZZNR 1.30 60.8 0.85 4620 4330 56.0 475 47.0 0.30 11000 6000 38
68 12 0.6 690922 2RS 2RZ ZZNR 1.70 70.8 0.85 13500 10270 64.0 50.0 49.0 0.60 9500 5600 126
45 75 16 1.0 600922 2RS 2RZ ZZNR 2.49 81.6 1.70 21000 15200 70.0 53.5 50.0 1.00 9000 5300 241
85 19 1.1 620922 2RS 2RZ ZZNR 3.28 91.6 1.70 32500 20400 78.5 5515 S48 1.00 7500 5300 420
100 25 1.5 630922 2RS 2RZ ZZNR 3.28 106.5 2.46 53000 32000 92.0 615 53.0 1.50 6700 4800 829
65 7 0.3 681022 2RS 2RZ ZZNR 1.30 67.8 0.85 5500 5270 63.0 52.5 52.0 0.60 9500 5300 50
72 12 0.6 691022 2RS 2RZ ZZNR 1.70 74.8 0.85 13890 10990 68.0 55.0 54.0 0.60 9000 5300 135
50 80 16 1.0 601022 2RS 2RZ ZZNR 2.49 86.6 1.70 21800 16600 75.0 58.5 55.0 1.00 8500 4800 261
90 20 1.1 621022 2RS 2RZ ZZNR 3.28 96.5 2.46 35100 23300 83.5 60.0 56.5 1.00 7100 4800 459
110 27 2.0 631022 2RS 2RZ ZZNR 3.28 116.6 2.46 62000 38500 101.0 68.0 59.0 2.00 6000 4300 1060

Cr=EAETIRHTE Cor=EXFETIREE
Cr=Basic dynamic rated load Cor=Basic static rated load

¥ FERBIEDINNDEIERIRE T T . BREBICBELEHDELEE L,

#We can also produce bearings not in the list. Please contact us.
KERBAEIESEAE. JIS B 1512(CEUTHEDF B A

% Snap ring groove dimensions and snap ring dimensions are not conformed to JISB 1512.

iEAt> —)URZ (2RS) DEMEFBHELDET,
% ¥ Different companies have differences on the quantity of contact seal (2RS).

2024.05.31



AT VVAANTI Y

STAINLESS BEARINGS

S=Fa7 M EFRHEE

MINIATURE/SMALL BALL BEARINGS

I's

@ Da

A
— JR
)

da

AS)

WiREEL R

EXEREE | BEBERTE(mm) 2E(E

Basic Load
Rating

FFEmEERE (rpm)
Allowable Maximum Ef(g)
Speed(rpm) sE
Weight(g)
Reference

FEE(mm)

Main Dimensions
(mm)

B B

ST Installation Dimension(mm)

Reference Value

s — Ui

Contact Seals

Standard Specification

]

Inner and Outer Rings

R — b
Ball

R ¥ B
Cage

Y =)L R
Shields

> =
Seals

i B M
Lubricant
BEFR
Accuracy Class
R
Clearance
it #48 B

Heat-Resistant Temperature

SUS440C (18)

(equivalent)
SUS440C(#8%)
(equivalent)
SUS304 (1)
(equivalent)
SUS304 (1)
(equivalent)
SUS304(18%)+=rJJILT A
SUS304 (equivalent)+Nitrile Rubber

UFILRIU—R

MC3

Z Z
2RS

100T (&3

Lithium greases

JIS Ofk
JIS O Class

MC3 Clearance
120T (31

o m

)
)

EFEE(mm) B OE EZSEJI%T&‘E Hlfvjﬁa%viﬁ(mm? SE(E E‘Fﬁlﬁliﬁ%&(r?m) i
o Dimenin Tralled |t nOny| AT ||t
Weight(g)
Eas—)UR Reference
Contact Seals
6 |25| 0.05 | SSMR63ZZ — 208 74 54| 37| — |0.10, 61000 — 0.27
7 | 3| 010 | SS6832z — 390 130 64 40| — |0.10| 53000 — 0.45
8 | 4| 0.15 | S$S6932z 2RS 560 179 73] 43| — |0.15] 54000 36000 0.83
? 9| 4 | 0.15 | SSMR93zz 2RS 570 187 79| 43| — |0.15] 48000 | 30000 1.18
9] 5015 | S$S6032zZ 2RS 570 187 79| 43| — |0.15] 51000 | 34000 1.45
10| 4 | 0.15 | $S6232z 2RS 630 218 80| 43| — |0.15] 45000 | 30000 1.66
7 25| 0.10 | SSMR74z2z — 310 115 6.3 48| — |0.10| 50000 — 0.29
8 | 3| 005 | SSMR84zz 2RS 395 139 741 50| — |]0.10] 46000 30000 0.56
9] 4| 010 | SS684zz 2RS 480 170 8.1 62| — |0.10] 43000 28000 1.01
10| 4 | 0.15 | SSMR104z2z 2RS 710 270 88| 59| — |0.20| 42000 | 28000 142
N 111 4 | 0.15 | SS694ZZ 2RS 960 350 99| 56| — |0.20| 43000 | 28000 1.75
12| 4 | 0.20 | SS604z2z 2RS 960 345 99| 56 | — |0.20| 48000 | 32000 2.29
13| 5 | 020 | $S6242zZ 2RS 1300 485 |11.3] 80| — ]0.20| 40000 | 26000 3.04
16| 5 | 0.30 | SS634Z2Z 2RS 1730 670 |[138| 75| — |0.30| 36000 | 24000 521

8 |2.5| 0.05 | SSMR85Z2Z - 310 120 | 74| 58| — |0.10| 43000 — 0.34
9 | 3 |0.10 | SSMR952Z 2RS 430 168 82| 6.0 — |[0.15| 40000 | 26000 0.58
10| 4 | 0.10 | SSMR1052z 2RS 430 168 84| 6.0 — |0.20| 42000 | 28000 1.29
11| 4 | 010 | SSMR1152z 2RS 715 276 98| 6.3] — |0.15| 40000 | 26000 1.49
5|11 5 ]0.15 | S8S6852Z 2RS 770 320 | 99| 62| — |0.15 43000 | 40000 1.96
13| 4 | 0.20 | $S695Z2z 2RS 1070 420 |11.2] 66| — |0.20| 43000 | 40000 2.50
14| 5 | 0.20 | SS6052Z 2RS 1330 505 |122] 69| — |0.20| 40000 | 38000 3.48
16 | 5 | 0.30 | SS6252Z 2RS 1730 670 |138| 75| — |0.30| 36000 | 32000 4.86
19| 6 | 0.30 | SS6352Z 2RS 2810 | 1060 |16.5| 85| — |0.30| 32000 | 30000 8.34
10| 3 | 0.05 | SSMR106Zz 2RS 495 218 93| 70| — |0.15| 37000 | 24000 0.68
12| 4 | 0.20 | SSMR1262z 2RS 715 292 |1089| 72| — |0.20| 35000 | 23000 1.74
13| 5 | 0.15 | $S686ZZ 2RS 1080 440 |11.7] 74| — |0.20| 40000 | 38000 2.69
6 | 15| 5 | 0.20 | SS6962Z 2RS 1730 570 |13.3| 79| — |0.30| 40000 | 38000 3.72
17| 6 | 0.30 | SS606Z2Z 2RS 2260 835 |148| 82| — [0.30| 38000 | 34000 6.08
19| 6 | 0.30 | SS626Z2Z 2RS 2340 885 |16.5| 85| — |0.30| 32000 | 30000 7.94
22 | 7 | 0.30 | $S6362Z 2RS 3290 | 1360 |19.0|105| — |0.30| 30000 | 28000 | 14.00
11| 3| 0.15 | SSMR1172Z 2RS 455 201 |10.5| 80| — |0.10| 35000 | 23000 0.72
13| 4 | 0.20 | SSMR13722 2RS 540 276 |116| 90| — |0.15 32000 | 21000 2.02
14| 5 | 0.15 | $S687ZZ 2RS 1170 510 |12.7| 85| — |0.15| 35000 | 23000 2.97
/ 17| 5 | 0.30 | SS697Z2Z 2RS 1610 710 1148|102 — |[0.30| 36000 | 28000 512
19| 6 | 0.30 | SS607Z2Z 2RS 2800 | 1060 |16.5| 9.1 — |0.30| 36000 | 32000 751
22 | 7 | 0.30 | $86272Z 2RS 3290 | 1360 |[19.0|105| — |0.30| 30000 | 28000 | 12.90
12 13.5| 0.10 | SSMR1282z 2RS 545 274 |11.3| 9.0 — |0.15| 30000 | 20000 0.97
14| 4 | 0.15 | SSMR1482z 2RS 820 385 |128| 92| — |0.20| 30000 | 20000 2.16
16| 5 | 0.20 | $S6882z 2RS 1610 710 | 142102 — |0.20| 36000 | 28000 4.02
8 |19 | 6 | 0.30 | SS6982Z 2RS 2240 910 | 165|100 — |[0.30| 36000 | 28000 7.18
22 | 7 | 0.30 | ss608zz 2RS 3300 | 1370 |189.0]10.5| — |0.30| 34000 | 28000 | 12.20
24 | 8 | 0.30 | $s6282Z 2RS 3330 | 1410 |20.5|12.0] — |0.30| 28000 | 24000 | 17.40
28 | 9 | 0.30 | Ss6382Z 2RS 4550 | 1970 |228|128| — |0.30| 28000 | 22000 | 28.60
17| 5 | 0.20 | SS689ZZ 2RS 1330 660 | 152|115 — |0.20| 36000 | 24000 4.43
20| 6 | 0.30 | SS6992Z 2RS 1720 840 | 172120 — |0.30| 34000 | 24000 8.33
? 24 | 7 | 0.30 | $S609z2z 2RS 3330 | 1410 |20.5]120| — |0.30| 32000 | 24000 | 14.70
26 | 8 | 0.30 | $86292Z 2RS 4160 | 1780 |22.8|128| — |0.30| 28000 | 22000 | 19.30

Cr=EAETEIRHTE Cor=EXFHFTHEE
Cr=Basic dynamic rated load Cor=Basic static rated load

¥ FEERIBLUNDBEEARECT .

SRBICBENEDELZEL,

*\We can also produce bearings not in the list. Please contact us.

M EEARS/— )L (2RS) DEMBIFFHRIEDE T,

% Different companies have differences on the quantity of contact seal (2RS).

Cr=EAETEIRTE Cor=EXFFTHREE
Cr=Basic dynamic rated load Cor=Basic static rated load

¥ FECBYB LISV O RIENIRET T,
*\We can also produce bearings not in the list. Please contact us.

S[BICBENEDELZEL.

gty —)UR (2RS) DEMEFBHELDOE T,
% Different companies have differences on the quantity of contact seal (2RS).

2024.05.31




AT VVAANTI Y

STAINLESS BEARINGS

R=FaT7/MERME (77011 E)

MINIATURE/SMALL BALL BEARINGS (WITH FLANGED OUTER RING)

WiREE LR
5 Standard Specification
RN 5 @ SUS440C (#8%)
Inner and Outer Rings (equivalent)
_ m — SUS440C(#8=)
N p— = Bal (equivalent)
R ¥ B SUS304 (18%)
rs Cage (equivalent)
T R Y — LR SUS304 (184)
Shields (equivalent)
- R v = SUS304 (1) +=rJJILT LA
oo o T T P Seals SUS304 (equivalent)+Nitrile Rubber
i B M UFDILFRIU—2R
Lubricant Lithium greases
T I g ;g I g S BEFR JIS O#k
Accuracy Class JIS O Class
I ] R MC3
| Clearance MC3 Clearance
‘ MzEE Z Z| 120C(E=E)
cl Heat-Resistant Temperature 2RS 100C (%S%ﬂﬁ)

FEi%(mm) B % BEARERETE
Basic Load

Main Dimensions (mm) Bearing Number .
Rating

BB % A (mm) SE(E

Installation Dimension(mm)
Reference Value

STEEERER (rpm)

Allowable Maximum
Speed(rpm)

s | Y—IVRRZ | EBEY—IURZ

dD|D1|B|C (min)| Shields | Contact Rubber Seal

6| 72|25|06|0.10| SSMF632Z — 208 74 54 3.7 — 0.10 | 61000 — 0.33
7| 81 3 |0.8|0.10| SSF6832Z — 390 | 130 6.4 4.0 — 0.10 | 53000 — 0.53
8| 95| 4 |09|0.15|SSF6932Z 2RS 560 | 179 7.3 4.3 — 0.15 | 54000 | 36000 | 0.97
° 91106 4 |0.8|0.15|SSMF93ZZ 2RS 570 | 187 7.9 4.3 = 0.15 | 46000 | 30000 | 1.34
9|105| 5 |1.0|0.15| SSF603ZZ 2RS 570 | 187 7.9 4.3 — 0.15 | 51000 | 34000 | 1.63
10115 4 |1.0]/0.15|SSF6232Z 2RS 630 | 218 8.0 4.3 — 0.15 | 45000 | 30000 | 1.86
7| 82/25/06|0.10| SSMF74ZZ — 310 | 115 6.3 4.8 — 0.10 | 50000 — 0.35
8| 92| 3 |0.6|0.15|SSMF84Zz 2RS 395 | 139 7.4 5.0 — 0.10 | 46000 | 30000 | 0.63
91103 4 |1.0|/0.15|SSF6842Z 2RS 480 | 170 8.1 5.2 — 0.10 | 43000 | 28000 | 1.14
4110|11.6| 4 |0.8|0.20| SSMF104z2z 2RS 710 | 270 8.8 5.9 = 0.20 | 42000 | 28000 | 1.59
111125 4 |1.0/0.20| SSF6942Z 2RS 960 | 350 9.9 5.6 — 0.20 | 43000 | 28000 | 1.96
12/135| 4 |1.0|0.20 | SSF6042Z 2RS 960 | 345 9.9 5.6 — 0.20 | 48000 | 32000 | 2.53
13/15.0| 5 |1.0|/0.20|SSF6242Z 2RS 1300 | 485 | 11.3 6.0 — 0.20 | 40000 | 26000 | 3.53

FEE(mm) B E EEE@HE Hiﬁﬁﬁf%ﬂ'iﬁl(mm?*}%fﬁ %ﬁ@?ﬁ%ﬂl(ripm) E5(0)
Main Dimensions (mm) Bearing Number Ba;'fﬁhzad Instal::?;clfc;r:etr)]lcr;ge\r/'lasllgg(mm) A"c’é"s:;%?fsx';’“m BE
Weight(g)
I—)URRZ | S —)URZ Reference
Shields Contact Rubber Seal
8| 92|25|06|0.10 | SSMF852z — 310 | 120 7.4 5.8 — 0.10 | 43000 — 0.41
91102 3 |06|0.15|SSMF952z 2RS 430 | 168 8.2 6.0 = 0.15 | 40000 | 26000 | 0.66
10/11.6| 4 |0.8|0.10|SSMF1052zZ 2RS 430 | 168 8.4 6.0 — 0.20 | 42000 | 28000 1.46
5(11/126| 4 |0.8|0.15|SSMF11522 2RS 715 | 276 9.8 6.3 = 0.15 | 40000 | 26000 1.67 N
111125 5 |1.0]0.15|SSF68522 2RS 770 | 320 9.9 6.2 — 0.15 | 43000 | 40000 | 2.18
13/15.0| 4 |1.0|/0.20|SSF6952Z 2RS 1070 | 420 11.2 6.6 = 0.20 | 43000 | 40000 | 2.84
14/16.0) 5 |1.0]/0.20|SSF60522 2RS 1330 | BO5| 122 6.9 — 0.20 | 40000 | 38000 | 3.85
10|11.2| 3 |0.6|0.15|SSMF106ZZ 2RS 495 | 218 9.3 7.0 == 0.15 | 37000 | 24000 | 0.77
12/136| 4 |0.8|0.10|SSMF1262zZ 2RS 715 292| 109 7.2 — 0.20 | 35000 | 23000 1.94
6 13/15.0| 5 |1.1|0.15|SSF6862ZZ 2RS 1080 | 440 11.7 7.4 = 0.20 | 40000 | 38000 | 3.04
15/17.0| 5 |1.2]0.20|SSF6962Z 2RS 1730 | 570| 13.3 7.9 — 0.30 | 40000 | 38000 | 4.26
17/19.0) 6 |1.2|0.30|SSF606Z2Z 2RS 2260 | 835| 148 8.2 = 0.30 | 38000 | 34000 | 6.61
14/16.0) 5 [1.1]0.15|SSF68722 2RS 1170 | 510| 12.7 8.5 — 0.15 | 35000 | 23000 | 3.37
7117/19.0| 5 |1.2|0.30|SSF69722Z 2RS 1610 | 710| 148 | 10.2 — 0.30 | 36000 | 28000 | b5.65
19/22.0| 6 |1.5|0.30|SSF6072Z 2RS 2800 |1060| 16.5 9.1 — 0.30 | 36000 | 32000 | 8.66
12/13.6|3.5]0.8|0.15| SSMF1282zZ 2RS 545 | 274| 11.3 9.0 = 0.15 | 30000 | 20000 1.15
14/156| 4 |0.8|0.15|SSMF14822 2RS 820 | 385| 12.8 9.2 — 0.20 | 30000 | 20000 | 2.39
8116/18.0| 5 |1.10.20|SSF6882Z 2RS 1610 | 710| 142 | 102 = 0.20 | 36000 | 28000 | 447
19/22.0) 6 | 1.5|0.30|SSF6982Z 2RS 2240 | 910| 165 | 10.0 — 0.30 | 36000 | 28000 | 8.30
22|25.0| 7 |1.5|0.30|SSF6082z 2RS 3300 [1370| 190 | 105 — 0.30 | 34000 | 28000 | 13.50
17/19.0| 5 |1.1]0.20|SSF68922 2RS 1330 | 660| 152 | 11.5 — 0.20 | 36000 | 24000 | 491
9 120(23.0| 6 | 1.5|/0.30|SSF6992zZ 2RS 1720 | 840| 172 | 120 — 0.30 | 34000 | 24000 | 9.51
24/27.0| 7 |1.5]0.30|SSF609z2Z 2RS 3330 |1410| 205 | 120 — 0.30 | 32000 | 24000 | 16.00

Cr=EABEREE Cor=EBAREREE RS — U (2RS) DEMEEFEHELDET .

Cr=Basic dynamic rated load Cor=Basic static rated load
x FERRIELSNDRISAIREC T . BRBICBBLIEDELEE L,
*\We can also produce bearings not in the list. Please contact us.

% Different companies have differences on the quantity of contact seal (2RS).

Cr=EAEEIEEE Cor=EAFEREE

Cr=Basic dynamic rated load Cor=Basic static rated load

x FERRIBLSNDEISAIREC T . BRBICHBBLIEDELEE L,
*\We can also produce bearings not in the list. Please contact us.

gAY —)URZ (2RS) DEMBIFZHREREDE T,
% Different companies have differences on the guantity of contact seal (2RS).

2024.05.31



AFULR RPYLY

STAINLESS BEARINGS

xin L

DEEP GROOVE BALL BEARINGS

W
B Standard Specification
A 5 W SUS440C (#82) EFEZE(mm) B OE SFOEREY (rpm) BRGE)
Inner and Outer Rings (equivalent) Main Dimensions EreErE N Basic Load Installation Dimension(mm)| Allowable Maximum f g
fe —_— S |V SUS440C (HH%) (mm) earing Number Rating Reference Value Speed(rpm) 2%
R Ball (equivalent) Weight(g)
T F 35 =8 SUS304 (#824) —)URRE = — IR ; Reference
Cage (equivalent) Shields Contact Seals
rs R yo K SUSSO‘(LSJEEV\B%’Q”U 32| 7 | 0.3 | $S68042Z 2RS 2784 | 1792 30.0|22.0|22.0/0.30| 22000 | 13000 17
© © >y - ) SUS304(8X4)+=~JJL DL 37| 9 | 0.3 | SS6904z2z 2RS 5080 | 2960 |35.0/24.0/22.0/0.30| 19000 | 12000 37
oo T o% - —— § (| % :SF;G‘S:E " Bﬁﬁ“ﬁ“ﬁjﬁl@ﬁjﬂ\““wm 2042 12| 1.0 | $56004ZZ 2RS 7520 | 4000 |38.0|255|24.0/060| 18000 | 11000 70
1 lLubriolant ’ Lithium gri/eg;ses 47 (14| 0.5 S$S620422 2RS 10240 | 5280 |42.0/26.5|25.0/1.00| 168000 11000 106
L 8= 5 ik JIS Ok 52 | 15| 0.5 | $563042Z 2RS 12720 | 6320 |45.5 28.0|26.5/1.00 14000 | 10000 144
WI' a Accuracy Class JIS O Class
;L\_ :)] g T X CN 37| 7 | 0.3 | SS68052z 2RS 2944 | 2104 |35.0/27.0|27.0/0.30| 18000 | 10000 21
§ ° %f;”?jg 5 7 f“é%‘ig?i%m 42| 9 | 0.3 | 85690522 2RS 5600 | 3600|400 285|27.0/0.30| 16000 | 10000 42
R i & 7 =518
—)URFE B — IV Heat»Heswst,annltlTemuerature 2RS | 100T (=) 25147 12| 08 SS600522 2RS 8080 | 4680 |43.0/30.0|29.0/0.60| 15000 9500 79
2z 2RS - 52| 15| 1.0 | $562052Z 2RS 11200| 6320 |47.0/32.0/30.0/1.00] 13000 | 9000 | 128
62 17| 0.5 | SS630522 2RS 18880 | 9680 |55.5(36.0/31.5|1.00| 12000 8100 232
FO— BRI B (mm) S ) 42| 7 | 0.3 | SS68062z 2RS 4000 | 3150 /40.0/32.0/32.0] 0.3 | 15000 9000 26
— <3 , B SRR A (mm) 2 & L 1
E= i (mm) B E S REIMMISEIR |- AR 47| 9 | 0.3 | $S69062Z 2RS 7240 | 5010|45.0|34.0|32.0] 0.3 | 14000 | 8500 49
Main Dimensions Bearing Number Basm_l.oad Installation Dimension(mm)| Allowable Maximum =
(mm) eanins Rating Reference Value Speed(rpm) 2E 30|55 |13| 1.0 | SS6006ZZ 2RS 11900 | 7460 |50.0/36.5|35.0] 1.0 | 13000 8000 90
Weight(g)
5 S— JLRRS s — LR : oo — 62 | 16| 1.0 | SS62062z 2RS 19460 (11310 |57.0/38.5|35.0/ 1.0 | 11000 7500 205
Shields Contact Seals 72119 1.1 $S630622 2RS 27000 | 15200 | 655|425 36.5| 1.0 9500 6700 340
19| 5 | 0.3 | SS68002z 2RS 1456 736 |17.0/12.0|12.0/0.30, 37000 | 24000 5 471 7 | 0.3 | SS68072Z 2RS 4270 | 3600 45.0/37.0/37.0] 0.3 | 14000 7500 30
22| 6 | 0.3 | $SS6900z2z 2RS 1992 904 20.0|12.5|12.0/0.30| 33000 | 22000 9 551 10| 0.6 | SS690722 2RS 10390| 7160|51.0/39.0/39.0| 0.6 | 12000 7500 86
1026 | 8 | 0.3 | $S6000zz 2RS 3640 | 1576 [24.0/13.0|12.0| 0.30| 30000 | 22000 18 35|62 14| 1.0 | SS6007Z2Z 2RS 16210| 10420 |57.0/41.5/40.0| 1.0 | 11000 6700 100
30| 9 | 0.3 | $S6200zz 2RS 4080 | 1912 |26.0/16.0| 14.0| 0.60| 25000 18000 32 72 117 1.1 $S62072z 2RS 256670 | 16300 1655445415 1.0 9500 6300 284
3 |11| 05 | $S63002z 2RS 6480 | 2760 |31.0/16.5|14.0, 0.60| 23000 17000 52 80 21| 1.5 | SS63072Z 2RS 33500 | 19200 |72.0/47.0/43.0| 1.5 8500 6000 464
21| 5 | 0.3 | SS68012Z 2RS 1528 832 119.0/14.0|14.0/ 0.30| 32000 | 20000 6 521 7 | 0.3 | SS68082z 2RS 4470 | 3890 |50.0/42.0/42.0| 0.3 | 12000 6700 30
24| 6 | 0.3 | SS69012z 2RS 2160 | 1056 [22.0|14.5]14.0) 0.30| 30000 | 20000 10 62 | 12| 0.6 | SS69082z 2RS 13020 | 9200 |58.0/46.0/44.0| 0.6 | 11000 6300 112
12,28 8 | 0.3 | $SS60012z 2RS 4080 | 1912 |26.0/15.5|14.0/ 0.30| 30000 | 20000 23 40|68 | 15| 1.0 | $S60082z 2RS 17030] 11700 |63.0/47.545.0| 1.0 | 10000 6000 190
32| 10| 0.3 | SS62012z 2RS 5440 | 2440 |28.0/17.0|16.0/0.60| 22000 17000 37 80 18| 1.1 $S62082z 2RS 2952018140 |73.5/505|46.5| 1.0 8500 5600 366
37|112| 05 | SS63012z 2RS 7840 | 3400 |32.0/18.0|17.0| 1.00| 20000 16000 60 90 23| 1.5 | SS630822 2RS 40500 | 24000 |82.0/53.0(48.0| 1.5 7500 5300 636
24| 5 | 0.3 | $SS68022z 2RS 1666 | 1000 |22.0/17.0]17.0|0.30] 28000 17000 7 58| 7 | 0.3 | SS68092z 2RS 4590 | 4330 |56.0/475[47.0] 0.3 | 11000 6000 40
28| 7 | 0.3 | $S69022z 2RS 3440 | 1800 |26.0/17.0|17.0/0.30| 26000 17000 15 68 | 12| 0.6 | SS690922 2RS 13490 | 10130 |64.0|50.0|49.0| 0.6 9500 5600 126
15132 | 9 | 0.3 | $S60022z 2RS 4480 | 2272 |30.0/19.0|17.0/ 0.30| 24000 16000 32 45|75 16| 1.0 | SS600922 2RS 21080 | 14780 |70.0/535|50.0| 1.0 9000 5600 240
35|11 | 0.3 | $S62022z 2RS 6120 | 2960 |31.0/20.5|19.0| 0.60| 24000 15000 45 85119 1.1 $S62092z 2RS 31500 | 20400 |78.8|/555|51.5| 1.0 7500 5300 420
42 1 13| 0.5 | $S63022z 2RS 9120 | 4320 |37.0/22.5|20.0| 1.00| 17000 13000 82 100/ 25| 1.5 | SS63092z 2RS 53000 | 32000 |92.0/61.5|43.0| 1.5 6700 4800 829
26| 5 | 0.3 | $S68032z 2RS 1704 | 1088 |24.0/19.0|19.0/0.30| 26000 15000 7 65| 7 | 0.6 | SS68102Z 2RS B6610| 6080 |63.0|52.5|52.0] 0.6 9500 5300 57
30| 7 | 0.3 | $S69032z 2RS 3680 | 2040 [28.0/19.5|19.0/0.30| 24000 15000 17 721 12| 0.6 | SS691022 2RS 13900 | 10990 |68.0/55.0/54.0) 0.6 9000 5300 135
17135 ]10| 0.3 | $S60032z 2RS 4800 | 2600 |33.0|21.5/19.0/0.30| 22000 14000 39 50|80 |16| 1.0 | SS6010Z2z 2RS 22000 | 16260 | 75.0/58.5|55.0| 1.0 8500 5000 260
40 | 12| 0.5 | $S62032z 2RS 7640 | 3840 [36.0/23.5|21.0/0.60| 22000 14000 65 90 | 20| 1.1 $S621022 2RS 35000 | 23200 |83.5/60.0|56.5| 1.0 7100 4800 459
47 1141 05 | S$S630322 2RS 10880 | 5240 [42.0/255|22.0/1.00| 16000 11000 115 110127 | 2.0 | SS631022 2RS 62000 | 38500 |1010|/68.0|59.0| 2.0 6000 4300 1060
Cr=EABERTE Cor=BEAHETHEEE xS —)URZ (2RS) DIFMBIFEHEEDET, Cr=EABEIREE Cor=BAHERETE gty —)UR (2RS) DEMEFBHELDOE T,
Cr=Basic dynamic rated load Cor=Basic static rated load % Different companies have differences on the guantity of contact seal (2RS). Cr=Basic dynamic rated load Cor=Basic static rated load % Different companies have differences on the guantity of contact seal (2RS).
x FERRIERLSNNDEISTIREC T . BRBICBBLIEDELEE L, ¥ FERRIBLINDEIETAIRE T T . BREBICBELEHhELEEL,
*\We can also produce bearings not in the list. Please contact us. % \We can also produce bearings not in the list. Please contact us.

2024.05.31



T IIVINTIY

CERAMIC BEARINGS

ES3V IS o=’ .

CERAMIC BEARINGS CES CEM CE
WiEELR
B Standard Specification
rs J)b32=7(CE) ZE{tsr1%(CES) YIWAZT7+ELr (4% (CEM)  \1TUwR(HYB)
A 5 &® Zr02 RN 5 &® SiaNa A 4 & Zr02 RN 5 &® SUS440C (%) —= N e e A
[ﬁ\ Inner and Outer Rings Inner and Outer Rings Inner and Outer Rings Inner and Outer Rings (equivalent) @S5IV I DT A EOERFRIE. BITERIZCSRIEE V.
\! /] . . . . . . . Ep——— pE———
| Zr02 R = SisNa K — Jb SisNa K — Jb SisN4 . BSI7 IVEE (BEE) FFEmE (SEE) =
re Ball Ball Ball Ball ERTE(mm) B & (Nn) (rpm) Ei%g)
® 5 2 PTFE & ¥ 25 PTFE ® &5 2 PTFE R 5 = SUS304 (1) Main Dimensions Bearing Number Allowable Radial Load Allowable Maximum Speed ) =
Cage Cage Cage Cage (equivalent) Reference Value Reference Value Weight(g)Reference
Qo T 9 oE & CN~C3 9 & & CN~C3 ¥ & & CN~C3 Y —=Ju R SUS304 (18%)
Clearance Clearance Clearance Shields (equivalent)
R if &= B 180C MWHEE 180C MWHEBEE 180C 9 & F CN~C3
Heat-Resistant Temperature Heat-Resistant Temperature Heat-Resistant Temperature Clearance 16| 4 | 02 | 688CE CES | CEM HYB 9 11 9 22 | 1000 | 1000 | 1000 | 1000 | 25 14 2.3 29
N 3 N | 7l —
(a) m fﬁbr‘éit A da:u?n%fazgs A 191 6 | 03 | 698CE CES | CEM HYB 16 20 16 39 | 1000 | 1000 | 1000 | 1000 56 30 50 6.4
| I L it # 8 B 150CT 8 |22| 7| 03| 608CE | CES | CEM | HYB | 23 | 29 | 23 | 58 | 1000 | 1000 | 1000 | 1000 | 93| 50| 84| 108
Heat-Resistant Temperature
2418 | 03 | 628CE CES | CEM HYB 23 29 23 59 | 1000 | 1000 | 1000 | 1000 | 13.0 72 | 120 15.0
O STy HDOM RIS HEHES OISR N ECSBIEE, 2819 | 03 | 638CE CES | CEM HYB 32 40 32 80 | 1000 | 1000 | 1000 | 1000 | 220 | 120 | 200 | 258
; HBSYT7IVEE(BEE) HFEOEI(EE(E) = 17| 4 | 02 | 689CE CES | CEM HYB 9 12 9 23 | 1000 | 1000 | 1000 | 1000 2.7 15 25 3.2 N
FEE(mm) B F (NI; ( (rpm) Eﬁ%g)
Main Dimensions Bearing Number Allowable Radial Load Allowable Maximum Speed : =3 20| 6 | 03 | 699CE CES | CEM HYB 12 15 12 30 | 1000 | 1000 | 1000 | 1000 6.5 35 59 76
Reference Value Reference Value Weight(g)Reference 9
241 7 | 03 | 609CE CES | CEM HYB 23 29 23 59 | 1000 | 1000 | 1000 | 1000 | 11.0 6.0 99 12.7
26| 8 | 03 | 629CE CES | CEM HYB 32 40 32 80 | 1000 | 1000 | 1000 | 1000 | 150 8.1 14.0 17.8
1113 | 02| 685CE | CES CEM HYB 5 6 5 13 1000 | 1000 | 1000 | 1000 | 09 05 08 1.0 19| 5 | 03 | 6800CE | CES | CEM HYB 10 12 10 24 850 850 850 850 40 2.2 36 46
13| 4 | 02 | 695CE | CES CEM HYB 8 9 8 19 1000 | 1000 | 1000 | 1000 19 10 1.8 2.3 22|16 | 03 | 6900CE | CES | CEM HYB 14 17 14 34 850 850 850 850 7.0 39 6.3 8.1
5 14| 5 |02 | 605CE | CES CEM HYB 9 12 9 23 1000 | 1000 | 1000 | 1000 | 2.7 15 25 32 10126| 8 | 03 | 6000CE | CES | CEM HYB 32 40 32 81 850 850 850 850 | 140 77 | 130 16.8
16| 5 |02 | 625CE | CES CEM HYB 12 15 12 30 1000 | 1000 | 1000 | 1000 | 3.8 2.1 315 45 309 | 06 | 6200CE | CES | CEM HYB 35 44 35 89 850 850 850 850 | 2560 | 140 | 230 | 297
19| 6 | 03 | 635CE | CES CEM HYB 16 21 16 41 1000 | 1000 | 1000 | 1000 | 6.6 36 6.0 7.7 35(11 | 06 | 6300CE | CES | CEM HYB 56 71 56 141 850 850 850 850 | 400 | 220 | 360 | 465
13135| 03 | 686CE | CES CEM HYB 8 9 8 19 1000 | 1000 | 1000 | 1000 15 08 14 1.7 2115 | 03 | 6801CE | CES | CEM HYB 10 13 10 25 750 750 750 750 50 2.8 45 58
1515 | 02| 696CE | CES CEM HYB 12 15 12 30 1000 | 1000 | 1000 | 1000 | 3.0 16 2.7 34 2416 | 03 | 6901CE | CES | CEM HYB 16 20 16 39 750 7560 750 750 8.0 44 7.2 9.3
6 | 17| 6 | 03| 606CE | CES CEM HYB 16 20 16 40 1000 | 1000 | 1000 | 1000 | 4.7 25 43 1) 12128| 8 | 03 | 6001CE | CES | CEM HYB 35 44 35 89 750 7560 750 750 | 170 94 | 150 19.0
191 6 | 03 | 626CE | CES CEM HYB 16 21 16 41 1000 | 1000 | 1000 | 1000 | 6.3 34 5.7 7.3 32|10 | 06 | 6201CE | CES | CEM HYB 48 60 48 121 750 750 750 750 | 280 | 150 | 250 | 320
22| 7 | 03 | 636CE | CES CEM HYB 23 29 23 58 1000 | 1000 | 1000 | 1000 | 11.0 58 98 | 126 37 (12| 10 | 6301CE | CES | CEM HYB 68 85 68 171 750 750 750 750 | 460 | 260 | 410 52.8
14135(015| 687CE | CES CEM HYB 8 10 8 21 1000 | 1000 | 1000 | 1000 1.7 09 16 2.0 2415 | 03 | 6802CE | CES | CEM HYB 11 14 11 27 600 600 600 600 50 2.8 45 6.0
17| 5 | 03 | 697CE | CES CEM HYB 11 14 11 28 1000 | 1000 | 1000 | 1000 | 4.0 2.2 36 46 28 7 | 03 | 6902CE | CES | CEM HYB 28 35 28 71 600 600 600 600 | 120 66 | 11.0 14.0
7 (19| 6|03| 607CE | CES CEM HYB 16 21 16 41 1000 | 1000 | 1000 | 1000 | 5.9 32 54 6.4 15132| 9 | 03 | 6002CE | CES | CEM HYB 39 49 39 98 600 600 600 600 | 240 | 180 | 220 | 280
22| 7 | 03 | 627CE | CES CEM HYB 23 29 23 58 1000 | 1000 | 1000 | 1000 | 9.8 3E 89 | 114 35(11 | 06 | 6202CE | CES | CEM HYB 55 68 55 137 600 600 600 600 | 350 | 190 | 320 | 410
26| 9 | 03 | 637CE | CES CEM HYB 28 35 28 71 1000 | 1000 | 1000 | 1000 | 19.0 | 100 | 170 | 219 42 1 13| 10 | 6302CE | CES | CEM HYB 80 100 80 200 600 600 600 600 | 640 | 350 | B80 | 75.0
MBSV IEE. FFELEHIISEETHOIRIHETIFHDEE Ao ¥ FEELSNDHEIFEDEBERETT . BREICHELEDELEEL, XEFBRSIV7IEE. FBLEHIISEETHOIRIHETIFHDEE Ao ¥ FEUSNDEFEDEBOEETCT . BREBICBBLEHDELEEL,
% Allowable Radial Load, Allowable Maximum Speed information above are references, % We can also produce bearings not in the list. Please contact us. s Allowable Radial Load, Allowable Maximum Speed information above are references, ¥ We can also produce bearings not in the list. Please contact us.
not guaranteed. not guaranteed.
XIFHEWVIF BERTEREDICLTLIEE L, #IFHEWVE BRI EREDICLTREL,
#%The fitness style is basically clearance fitness style. *%The fitness style is basically clearance fitness style.
*ESZVIREEICTHMETT DT BIRVISERLTLEEL, *ESZVIRERBICHVMETTOT BRVITERLTLEE W,
s Ceramics is very weak to impact , please be careful about the handing. % Ceramics is very weak to impact , please be careful about the handing.

W | 2024.05.31 (



TIIVINTIYT

CERAMIC BEARINGS

€73V
CERAMIC BEARINGS
WL

Standard Specification

Y ),ba=7(CE) Z{tT 1% (CES)
R 5 Zr02 AN 5 &
Il \ Inner and Outer Rings Inner and Outer Rings
‘ﬂ’ K= W 7100 K — W
rs Ball Ball
R B & PTFE @& & #
Cage Cage
oo 1T 1 ¢ & & CN~C3 ¢ & &%
Clearance Clearance
A | WEREE 180C MWHEE
Heat-Resistant Temperature Heat-Resistant Temperature
i )\
(+)| =D

HRNSYTEESEE
B E Hac J}(bl\?E( 1)

Allowable Radial Load
Reference Value

FEE(mm)

Main Dimensions Bearing Number

SiaN4

SiaN4

PTFE

CN~C3 ¢ & &

180T

INIAZT7+E(LT 1% (CEM)

A 5 &® Zr02
Inner and Outer Rings
R = SiaN4
Ball
x & = PTFE
Cage

CN~C3
Clearance
it &R B 180T

Heat-Resistant Temperature

N TUyR(HYB)
A5 @

Inner and Outer Rings

wno—= b
Ball

® F &
Cage

Y —JbR
Shields
ERGEE
Clearance
M B M
Lubricant

it R B

Heat-Resistant Temperature

SUS440C(15)

(equivalent)

SiaN4

SUS304 (18x)

(equivalent)

SUS304 (18x)

(equivalent)

CN~C3

UFDOLRIU—R

Lithum Greases

160T

O SV DML A EDERERE. BB ECSRIZE L,

(rpm)

Reference Value

STEOEE (BE(E)

Allowable Maximum Speed

EE(g)

&E

Weight(g)Reference

26| 5| 03 | 6803CE | CES | CEM | HYB 12 15 12 29 | 500 | 500 | 500 | 500 50| 28 45 6.2
30| 7| 03 | 6903CE | CES | CEM | HYB 31 38 31 76 | 500 | 500 | 500 | bOO | 180| 72 | 120 | 154
17135|10| 03 | 6003CE | CES | CEM | HYB 42 53 42 | 106 | 500 | 500 | 500 | 500 | 320| 180 | 260 | 335
40112 | 06 | 6203CE | CES | CEM | HYB 67 84 67 | 167 | 500 | 500 | 500 | 500 | 520 | 290 | 470 | 606
47114 | 10 | 6303CE | CES | CEM | HYB 74 92 74 | 184 | 500 | 500 | 500 | 500 | 870 | 480 | 780 | 100.0
32| 7 | 03 | 6804CE | CES | CEM | HYB 19 24 19 47 | 450 | 450 | 450 | 450 | 180| 72 | 120 | 158
371 9 | 03 | 6904CE | CES | CEM | HYB 45 56 45 | 112 | 450 | 450 | 450 | 450 | 280 | 150 | 250 | 320
20142 (12| 06 | 6004CE | CES | CEM | HYB 66 82 66 | 164 | 450 | 450 | 450 | 450 | 520 | 290 | 470 | 610
47114 | 10 | 6204CE | CES | CEM | HYB 89 111 89 | 222 | 450 | 450 | 450 | 450 | 820 | 450 | 740 | 950
52| 15| 1.1 | 6304CE | CES | CEM | HYB | 111 139 | 111 | 278 | 450 | 450 | 450 | 450 |1100| 610 | 99.0 | 1280
37| 7| 03| 6805CE | CES | CEM | HYB 31 38 31 76 | 350 | 350 | 350 | 350 | 160| 88 | 140 | 180
421 9 | 03 | 6905CE | CES | CEM | HYB 46 58 46 | 116 | 350 | 350 | 350 | 360 | 320 | 180 | 290 | 372
25|47 112 | 06 | 6005CE | CES | CEM | HYB 78 98 78 | 196 | 3560 | 350 | 360 | 360 | 61.0| 340 | 550 | 710
52| 15| 10 | 6205CE | CES | CEM | HYB 98 123 98 | 245 | 350 | 350 | 350 | 350 | 990 | 55.0 | 890 | 1150
62| 17| 1.1 | 6305CE | CES | CEM | HYB | 158 197 | 158 | 394 | 350 | 350 | 350 | 350 |180.0| 99.0 |162.0 | 208.0

KBS UTIVEE FFELERIESEETHORIMETIEHDEFE Ao

¥ Allowable Radial Load, Allowable Maximum Speed information above are references,

not guaranteed.
XIFHEWVIF BERTEREDICLTLIEE L,
#%The fitness style is basically clearance fitness style.
*ESZVIREEICSHEVMETT DT BHRVITERLTLEE W,
s Ceramics is very weak to impact , please be careful about the handing.

¥ FEEMSNDEFEDEBAEET T,
*We can also produce bearings not in the list. Please contact us.

SRERCBEVEDELIEE L,

CES CEM CE

@ TSIy DMEFE MBS D EIFIERE. BirER 2SS RIEE L,

B = FESI7 IVEEEEE) FEEER(BEE) E2(g)
(N) (rpm) B

Allowable Radial Load Allowable Maximum Speed

Reference Value

FEiE(mm)

Main Dimensions Bearing Number

Weight(g)Reference

Reference Value

CES | CEM | HYB

421 7 | 03 | 6806CE | CES | CEM | HYB 31 39 31 79| 300 | 300 | 300 | 300 | 180| 100 | 160 | 205
4719 | 03 | 6906CE | CES | CEM | HYB 51 64 51 127 | 300 | 300 | 300 | 300 | 400| 220 | 360 | 440
30 |55|13| 10 | 6006CE | CES | CEM | HYB 93 | 116 93 | 233 | 300 | 300 | 300 | 300 | 89.0| 480 | 800 | 1020
62|16 | 10 | 6206CE | CES | CEM | HYB 137 | 171 137 | 341 | 300 | 300 | 300 | 300 | 1500| 83.0 | 1350 | 1730
72 119| 11 | 6306CE | CES | CEM | HYB 197 | 246 | 197 | 492 | 300 | 300 | 300 | 300 [270.0| 1400 | 2430 | 3120
4717 | 03 | 6807CE | CES | CEM | HYB 33 42 33 83| 200 | 200 | 200 | 200 | 21.0| 110 | 190 | 240
55|10| 06 | 6907CE | CES | CEM | HYB 67 84 67 167 | 200 | 200 | 200 | 200 | 580 31.0 | 52.0 | 66.8 o
35|62 | 14| 10 | 6007CE | CES | CEM | HYB 111 139 | 111 278 | 200 | 200 | 200 | 200 | 1200| 63.0 | 1080 | 1390
72117 | 1.1 | 6207CE | CES | CEM | HYB 179 | 223 | 179 | 446 | 200 | 200 | 200 | 200 |220.0|120.0 | 1980 | 2540
80|21 | 15 | 6307CE | CES | CEM | HYB | 232 | 291 | 232 | 581 | 200 | 200 | 200 | 200 | 360.0| 1900 | 3240 | 4160
52| 7 | 03 | 6808CE | CES | CEM | HYB 35 43 35 86 | 200 | 200 | 200 | 200 | 200| 130 | 180 | 230
62|12 | 06 | 6908CE | CES | CEM | HYB 97 | 121 97 | 242 | 200 | 200 | 200 | 200 | 90.0| 50.0 | 81.0 | 1040
40|68 | 15| 10 | 6008CE | CES | CEM | HYB 118 | 147 | 118 | 294 | 200 | 200 | 200 | 200 |150.0| 80.0 | 1350 | 1720
80|18| 1.1 | 6208CE | CES | CEM | HYB | 215 | 269 | 216 | 537 | 200 | 200 | 200 | 200 | 2800 1500 | 2520 | 3200
90|23 | 15 | 6308CE | CES | CEM | HYB | 287 | 359 | 287 | 718 | 200 | 200 | 200 | 200 | 4900| 2700 | 4410 | 5690
58| 7 | 03 | 6809CE | CES | CEM | HYB 42 53 42 106 | 150 | 150 | 160 | 150 | 29.0| 160 | 26.0 | 330
68| 12| 06 | 6909CE | CES | CEM | HYB 71 88 71 177 | 160 | 150 | 160 | 150 | 970| 530 | 87.0 | 1120
45|75 16| 1.0 | 6009CE | CES | CEM | HYB 146 | 182 | 146 | 364 | 150 | 150 | 150 | 160 | 190.0| 1000 | 1710 | 2200
85|19| 1.1 | 6209CE | CES | CEM | HYB | 232 | 291 | 232 | 581 | 160 | 150 | 150 | 150 | 3200 1750 | 2880 | 3680
100/ 25| 15 | 6309CE | CES | CEM | HYB | 369 | 461 | 369 | 922 | 150 | 150 | 160 | 150 | 640.0| 3450 | 5760 | 7400
65| 7 | 03 | 6810CE | CES | CEM | HYB 44 55 44 109 | 150 | 150 | 150 | 150 | 380| 210 | 340 | 438
721 12| 06 | 6910CE | CES | CEM | HYB 102 | 128 | 102 | 256 | 150 | 150 | 160 | 150 | 1000| 60.0 | 90.0 | 1155
50|80 |16| 10 | 6010CE | CES | CEM | HYB 151 189 | 151 378 | 150 | 150 | 150 | 150 | 2000| 1100 | 1800 | 2300
90|20| 1.1 | 6210CE | CES | CEM | HYB | 246 | 307 | 246 | 614 | 150 | 150 | 150 | 1560 | 350.0| 1900 | 3150 | 4010
110127 | 20 | 6310CE | CES | CEM | HYB | 433 | 541 | 433 | 1082 | 150 | 150 | 150 | 150 | 8200 | 4400 | 7380 | 9480

XEFBRSIV7IEE. FBLEHIISEETHOIRIHETIFHDEE Ao

% Allowable Radial Load, Allowable Maximum Speed information above are references,
not guaranteed.

#IFHEWVE BRI EREDICLTREL,

*%The fitness style is basically clearance fitness style.

*ESZVIRERBICHVMETTOT BRVITERLTLEE W,

% Ceramics is very weak to impact , please be careful about the handing.

¥ FEUSNDEFEDEBOEETCT . BREBICBBLEHDELEEL,
*We can also produce bearings not in the list. Please contact us.

2024.05.31




NF7V72=vk

BEARING UNITS

to-Ea1=vh{(UCPK) EOo—-#1=vh(UCPAJ)

PILLOW UNITS (UCP) PILLOW UNITS (UCPA)

WiRELR

Standard Specification

—B
«Sa
i |
-‘n
IS .Eﬁﬁéﬁ Specification fx
2

H2
N \ 1 W = | SUJ2GEN) H2 W = | SUJ2GEN)
‘ ‘ H r ”‘ Bearing (equivalent) Bearing (equivalent)
b f:‘ | T l T W OF i FC200 (184) o b H ? 2 FC200 (+54)
, } } } } L Housing (equivalent) I—i1 \ ) Housing (equivalent)
| M B UFDLRIU—R * ! W OB UFHLRIU—R
J Lubricant Lithium Greases Lubricant Lithium Greases
it 34 52 & 110C(3&f®) J \ it 34 58 110C(3Zf®)
L ' A Heat-Resistant Temperature L N A Heat-Resistant Temperature

1= hEIE EETA(mm) W | wg | == N EBFiE(mm) wEE | w= | =B

Main Dimensions(mm) BE BE (kg) Main Dimensions(mm) NE nE (39
Unit . . Weight Unit . . Weight
R OCnc s DO I O
Reference Reference
17 UCP203 |30.2| 127 | 38 | 95 13 19 14 | 62 |31.0|127| M10 | P203 | UC203| 0.60 17 UCPA203 | 30.2| 76 | 38 | B2 M10X1.5 8 62 14 | 31.0|12.7 | PA203| UC203| 0.60
20 UCP204 |33.3| 127 | 38 | 96 13 19 14 | 65 [ 31.0|127| M10 | P204 | UC204| 0.66 20 UCPA204 | 30.2| 76 | 38 | B2 M10X1.5 8 62 14 | 31.0|12.7 | PA204 | UC204 | 0.60
25 UCP205 |36.5| 140 | 38 | 105 | 13 19 15 | 71 [34.1|143| M10 | P205 | UC205| 0.80 25 UCPA205 | 365| 84 | 38 | 56 M10x1.5 10 | 72 15 | 34.1|14.3 | PA205|UC205| 0.80
30 UCP206 |429| 165 | 48 | 121 17 | 21 17 | 83 [38.1|159| M14 | P206 |UC206| 1.20 30 UCPA206 | 429| 94 | 48 | 66 M14x2.0 10 | 84 18 | 38.1|15.9 | PA206|UC206| 1.25
35 UCP207 (476|167 | 48 | 127 | 17 | 21 18 | 93 429|175 | M14 | P207 |UC207| 1.70 35 UCPA207 | 476| 110| 48 | 80 M14x2.0 12 | 95 | 20 |429|17.5|PA207|UC207| 1.70
40 UCP208 (492|184 | 54 | 137 | 17 | 21 18 | 98 [492|19.0| M14 | P208 |UC208| 2.10 40 UCPA208 | 492| 116 | 54 | 84 M14x2.0 12 | 100 | 20 |49.2|19.0 | PA208|UC208| 2.00
45 UCP209 540|190 | 54 | 146 | 17 | 21 20 | 106 |492(19.0| M14 | P209 |UC209| 2.40 45 UCPA209 542| 120| 54 | 90 M14x2.0 12 1108 | 20 |49.2|19.0 | PA209|UC209| 2.20
50 UCP210 (572|206 | 60 | 159 | 20 | 25 | 21 114 1516|190 M16 | P210 |UC210| 2.90 50 UCPA210 | 57.2| 130 | 60 | 94 M16x2.0 14 1116 | 25 |51.6|19.0 | PA210|UC210| 2.80
¥ LERRIBMNDEETRE T Y . SRECBBLEDELEEL, ¥ FEERIBLISIERUETARET Y . SRBICBRAVLEDELEE L.
*We can also produce bearings not in the list. Please contact us. % We can also produce bearings not in the list. Please contact us.

2024.05.31




NF7V72=vk

BEARING UNITS

vL77598a3 =y (UCFL) A7 =y b {(UCFE)

RHOMBUS FLANGED UNITS (UCFL) SQUARE FLANGED UNITS (UCF)
B
B N 57
ksg.
an
L N
N e
WIZE 1% 7 Lad0 WIZsE 1%
™ i ! ( L a0 O Standard Specification J L Q J Standard Specification
\ . \J N WS SUJ2(184) W= SUJ2 (182
\V \ Q J Bearing = (equivalent) 1 Bearing = (equ\'vale)nt)
] B % #E FC200 (84) I FC200 (184
Housin—lg i (equivalent) {} C) I Housinzg i (et(lu'\vale)nt)
| ™ B UFOLRIU—R B UFOLRTU—2
Lubricant Lithium Greases Lubricant Lithium Greases
J At it & 8 E 110C(&&BE) it &8 E 110C(&EE)
H (R — Heat-Resistant Temperature J Al Heat-Resistant Temperature -
L —A—
TA0 [ RoHS 10 —n0— GIED

FEZ=iE(mm) M | MR | EE

=EA ) s | WE | EE

d=-vhBIE

Main Dimensions (mm) BE BE | (ke) d-yhElE Main Dimensions (mm) i BE | (ke)
Nfrﬂger Housing | Bearing V\i?:;]t thrgiger Housing | Bearing V\ieKig?t
17 UCFL203 | 113 | 60 |255| 90 12 1333 12 15 |31.0|12.7| M10 | FL203 |UC203| 0.49 17 UCF203 86 | 255 | 64 12 | 333 12 15 [ 31.0 127 | M10 | F203 |UC203| 0.62
20 UCFL204 | 113 | 60 |255| 90 12 1333] 12 15 |31.0|12.7| MI0 | FL204 |UC204| 0.47 20 UCF204 86 | 255 | 64 12 | 333 12 15 | 31.0 | 127 | M10 | F204 |UC204| 0.60
25 UCFL205 | 130 | 68 | 27 | 99 16 |358| 14 16 |34.1]114.3| M14 | FL205 |UC205| 0.63 25 UCF205 95 27 70 12 | 358 | 14 16 | 34.1 | 143 | M10 | F205 |UC205| 0.86
30 UCFL206 | 148 | 80 | 31 | 117 | 16 |[402| 183 18 |38.1]159| M14 | FL206 | UC206| 0.85 30 UCF206 108 | 31 83 12 | 402 | 14 18 | 38.1 | 169 | M10 | F206 |UC206| 1.10
35 UCFL207 | 161 | 90 | 34 | 130 | 16 |444 | 16 19 14291175 | M14 | FL207 |UC207| 1.20 35 UCF207 117 34 92 14 1444 | 16 19 |429 | 175 | M12 | F207 |UC207| 1.60
40 UCFL208 | 175|100 | 36 | 144 | 16 |51.2| 16 | 21 |492|19.0| M14 | FL208 |UC208| 1.60 40 UCF208 130 | 36 102 16 | B51.2| 16 21 492 | 190 | M14 | F208 |UC208| 1.90
45 UCFL209 | 188 | 108 | 38 |1485 19 |522| 18 | 22 [492|19.0| M16 |FL209 |UC209| 1.90 45 UCF209 137 | 38 105 16 | 522 | 18 22 492|190 | M14 | F209 |UC209| 2.40
50 UCFL210 | 197 | 115 | 40 | 157 | 19 |546| 18 | 22 |[51.6|19.0| M16 |FL210|UC210| 2.30 50 UCF210 143 | 40 111 16 | 546 | 18 22 | 516|190 | M14 | F210 |UC210| 2.60
* LERRBISIORIERIREC T SRBECBHLEDE TS * FRRELNCHETETY . SRBCBHLEDELZE N,
% We can also produce bearings not in the list. Please contact us. % We can also produce bearings not in the list. Please contact us.

2024.05.31




AF VLA AXRTY “/7“:l.:fjl~

STAINLESS BEARING UNITS

Fo—f1=vk(SUCPE) o — Ea—#1=v b (SUCPA) =4

S0
PILLOW UNITS (SUCP) - PILLOW UNITS (SUCPA)
o .ﬁf\Liaﬁ Specification -*S;—iﬁiljéﬁ Specification
W IR o e | S e
Sone T | 20 e fore | 5% e
S —= T et i Tenpetue - H 5 ; et st Torpere -
L A N A
CHI— DAIN— CHhik— DAI—

¥C-D NI\—IFRIREA ¥C-D A/\—(FRIREA

BT CHJIN—SSUC ¢ % %-C
BT DA/N—SSUC ¢ 3% %-D

BT CHJ/\—SSUC % % %-C
23 DAJ/\N—SSUC % % %-D

¥CHN—DILBFFEO=FIILTLE
RIER, A VO—ITHRES A THREE

|
1
|
A KCHN—DILIBTRRERD=I)L T LS
KIEBR. A Y O—IHES A THFES

1= whEE FZE(mm) 1w hEE FEE(mm) N
Main Dimensions (mm) . Main Dimensions (mm) .
Unit . et i Unit . .
Number i Numbegr Number L 2 i NS?JEE
17 SUCP203 302 | - 127 | 38 | 95 13 19 14 | 65 | 310| - 12.7 | M10 | SP203 |SSUC203| 0.69 17 SUCPA203 | 302 | - 76 | 38 | 52 |MIOXl5] 13 | 105| 62 | 310 - 12.7 | M10 |SPA203|SSUC203| 0.54
SUCP2034vO— | 302 | 543 | 127 | 38 | 95 13 19 14 | 65 | 31.0[4566 | 127 | MI10 | SP203 |SSUC203| 0.61 SUCPA2034A—- | 302 | 54.3| 76 | 38 | 52 |MIOXI5| 13 | 105| 62 | 31.0|456.6|12.7 | M10 |SPA203|SSUC203| 0.48
o0 SUCP204 EELE) - 127 | 38 95 (3 19 14 | 65 | 310 - 12.7 | M10 | SP204 |SSUC204| 0.67 o0 SUCPA204 30.2 - 76 38 52 |MIOX15] 13 | 105 | 62 | 310 - 12.7 | M10 |SPA204|SSUC204| 0.52
SUCP2044vO— | 333 | 5643 | 127 | 38 | 95 13 19 14 | 65 | 31.0|456|127| M10 | SP204 |SSUC204| 0.59 SUCPA2044/O—- | 302 | 54.3| 76 | 38 | 52 |MiOXI5| 13 | 105 | 62 | 31.0|456.6 | 12.7 | M10 |SPA204|SSUC204| 0.46
o5 SUCP205 365 - 140 | 38 | 105 | 13 19 15 | 71 | 341 - 14.3 | M10 | SP205 |SSUC205| 0.83 o5 SUCPA205 | 365 | - 84 | 38 | b6 [MIOXI5] 13 | 126| 72 | 34.1 - 143 | M10 |SPA205|SSUC205| 0.73
SUCP2051€ 00— | 365|603 | 140 | 38 | 105 | 13 19 15 | 71 |34.11(478]143 | M10 | SP205 |SSUC205| 0.69 SUCPA2051/vA— | 365|603 | 84 | 38 | 56 |MIOXI5| 13 | 125| 72 |34.1 478|143 | M10 |SPA205|SSUC205| 0.64
30 SUCP206 429 | - 165 | 48 | 121 17 | 21 17 | 84 | 381 = 159 | M14 | SP206 |SSUC206| 1.32 30 SUCPA206 |429| - 94 | B0 | 66 | M4 | 18 | 125| 84 | 38.1 = 159 | M14 |SPA206|SSUC206| 1.09
SUCP2064O— | 429 | 704 | 165 | 48 | 121 17 | 21 17 | 84 381|528 |159 | M14 | SP206 |SSUC206| 1.16 SUCPA2064/Aa— | 429|704 | 94 | 50 | 66 | M4 | 18 | 125| 84 | 38.1 |52.8 | 159 | M14 |SPA206|SSUC206| 0.96
35 SUCP207 47,6 - 167 | 48 | 127 17 21 18 93 | 429 - 175 | M14 | SP207 |SSUC207| 1.55 35 SUCPA207 |476 - 110 | bb 80 | M| 20 | 135 | 95 | 429 - 175 | M14 |SPA207|SSUC207| 1.53
SUCP2074vO— | 476|804 | 167 | 48 | 127 17 21 18 93 429|574 175 | M14 |SP207 |SSUC207| 1.36 SUCPA2074/0O—- | 476|804 | 110 | 55 80 | M2 | 20 | 135 | 95 (429|574 | 175 | M14 [SPA207|SSUC207| 1.35
20 SUCP208 492 | - 184 | 54 | 137 | 17 | 23 18 | 100 | 492 | - 19.0 | M14 | SP208 |SSUC208| 1.91 40 SUCPA208 | 492 | - 116 | 58 | 84 | m42| 20 | 135|100 | 492 | - 19.0 | M14 |SPA208|SSUC208| 1.77
SUCP208f0— | 492|882 | 184 | B4 | 137 | 17 | 23 18 | 100 | 492 |66.8 | 190 | M14 | SP208 |SSUC208| 1.68 SUCPA2081vR— | 492|882 | 116 | 58 | 84 | M4@2| 20 | 135| 100 | 49.2 | 66.8 | 19.0 | M14 |SPA208|SSUC208| 1.56
45 SUCP209 540 - 190 | 54 | 146 | 17 | 23 20 | 106 | 492 | - 19.0 | M14 | SP209 |SSUC209| 2.21 45 SUCPA209 |542 | - 120 60 | 90 |42 | 25 | 135|108 | 492 | - 19.0 | M14 |SPA209|SSUC209| 2.04
SUCP209f/O— | 540|952 | 190 | B4 | 146 | 17 | 23 20 | 106 | 492|678 |19.0| M14 | SP209 [SSUC209| 1.94 SUCPA2091/O— | 542|952 | 120 | 60 | 90 | M4k | 25 | 135|108 | 49.2|67.8 | 19.0 | M14 |SPA209|SSUC209| 1.80
50 SUCP210 57.2 - 206 | 60 | 159 | 20 25 2l 113 | 516 - 190 | M16 | SP210 [SSUC210| 2.82 50 SUCPA210 57.2 - 130 | 64 94 | Mex2| 25 | 145|116 | 51.6 - 190 | M16 |SPA210|SSUC210| 2.38
SUCP210f/va— | 572 |100.1| 206 | 60 | 169 | 20 | 25 21 | 113 |516|756|190| MI6 |SP210 |SSUC210| 2.48 SUCPA2104//A— | 572 |[100.1| 130 | 64 | 94 | Mex2| 25 | 145|116 |51.6| 756 | 19.0 | M16 |SPA210|SSUC210| 2.09
¥ FERRIBLS B RIETIEE T T BTBICBRELEDELEEL, x EERRIERLNNDEISTIREC T . BRBICBBLIEDELEE L,
¥ We can also produce bearings not in the list. Please contact us. ¥ We can also produce bearings not in the list. Please contact us.

2024.05.31




ATFVODAANTPY 9=y b

STAINLESS BEARING UNITS

L7529 1=y(SUCFL#¥) 575 1= M (SUCF)

RHOMBUS FLANGED UNITS (SUCFL) SQUARE FLANGED UNITS (SUCF)
" - B MR . WIS LR
BkSa *S—tfnfjaﬁ Specification *S—tfn!:laﬁ Specification
& = SUS440C (184) N B L = SUS440C (184)

N i Bearing (equivalent) \ Bearing (equivalent)
| W % @ | SCS130AY) D ﬁ | m=m | scsizuEw

Housing (equivalent) Housing (equivalent)
™ (L A C LedlQ & om o H1 REEBRATU—2 / \ B ® B H1 REEBRATU—2

Lubricant H1 Certificated Grease For Food ( L-ao- Lubricant H1 Certificated Grease For Food
L

- ) it # R E 120TC (&) \ / N Q ) it # R B 120T(2&1®)
Heat-Resistant Temperature Heat-Resistant Temperature
1 GIED GIED

1V0-NIHESLT e 10-IHES1T

\ R—

-

R
N

J;
|

N |

\“-

3

CHIN—

4

/(ﬁ‘"l‘l i :
CHhI\—

7
gl

¥C AI\—IFRIEREA ¥C NIN—SRIREEA

I :SSUC % 3% %-C BIF:SSUC % 3% %-C

XCHN—DILBFFEO=FIILTLE KCHN—DILBFRFEDO=NIIVILE

H XIER. A >~ O—INITHHET A TMLIFEE L MIER, 4~ O—INIAHEY A TMTREE
1= whEE FEE(Mm) 1w hEE EZEE(mm)
Main Dimensions (mm) . Main Dimensions (mm)
Unit . et i Unit
2 o e TeT[a o]
17 SUCFL203 113 - 60 | 27 | 90 12 1333 11 15 310 - 12.7 | M10 |SFL203|55UC203| 0.53 17 SUCF203 - - 86 | 27 | 64 12 13833| 12 | 15 |31.0] - 12.7 | M10 | SF203 |SSUC203| 0.71
SUCFL2034Aa—- | 113 | 543 | 60 | 27 | 90 12 - 11 15 | 31.0|378| 127 | M10 |SFL203|SSUC203| 0.47 SUCF2031 vO— - |543| 86 | 26 | 64 12 - 12 | 15 |31.0(378]12.7| M10 | SF203 |[SSUC203| 0.62
o0 SUCFL204 113 - 60 27 90 12 1333| 11 15 | 31.0 - 12.7 | M10 |SFL204|S5UC204| 0.50 o0 SUCF204 - - 86 27 64 12 1333| 12 15 | 31.0 - 12.7 | M10 | SF204 |SSUC204| 0.68
SUCFL2044O- | 113 | 543 | 60 26 90 12 - 11 15 | 31.0]378| 127 | M10 |SFL204|S5UC204| 0.44 SUCF2044 vO— - 543 | 86 26 64 12 - 12 15 | 310|378 127 | MI10 | SF204 |SSUC204| 0.60
o5 SUCFL205 130 | - 68 | 28 | 99 16 | 358] 13 | 16 | 341 - 14.3 | M14 |SFL205|SSUC205| 0.70 o5 SUCF205 - - 9% | 27 | 70 12 1358 14 | 16 | 341 - 14.3 | M10 | SF205 |SSUC205| 0.88
SUCFL2054/a- | 130 603 | 68 | 27 | 99 16 - 13 | 16 |34,1(399 143 | M14 |SFL205|SSUC205| 0.61 SUCF2051 vO— - |603] 95 | 27 | 70 12 - 14 | 16 | 34.1(399] 143 | M10 | SFR05 [SSUC205| 0.77
30 SUCFL206 148 = 78 | 31 | 117 ] 16 [402| 13 | 18 | 381 = 159 | M14 |SFL206|SSUC206| 1.02 30 SUCF206 = = 108 | 31 83 12 1402| 14 | 18 | 381 = 159 | M10 | SF206 |SSUC206| 1.21
SUCFL2064O— | 148 | 704 | 78 | 31 | 117 | 16 = 13 | 18 |3811(444]159 | M14 |SFL206|SSUC206| 0.90 SUCF2061 vO— - | 704] 108 | 31 83 12 - 14 | 18 | 38.1]444]159 | M10 | SF206 [SSUC206| 1.07
35 SUCFL207 161 - 88 34 | 130 16 | 444 | 15 19 | 429 - 175 | M14 |SFL207|SSUC207| 1.36 35 SUCF207 - - 117 | 34 92 14 | 444 16 19 1429 - 175 | M12 | SF207 |SSUC207| 1.62
SUCFL2074O- | 161 | 804 | 88 34 | 130 16 - 15 19 1429 1487|175 | M14 |SFL207|SSUC207| 1.19 SUCF2074/ vO— - 804 | 117 | 34 92 14 - 16 19 1429 1487|175 | M12 | SF207 |SSUC207| 1.43
20 SUCFL208 175 = 96 | 36 | 144 | 16 |bl2| 15 | 21 |492| - 19.0 | M14 |SFL208|SSUC208| 1.68 40 SUCF208 o < 130 36 | 102 | 16 |512| 16 | 21 492 | - 19.0 | M14 | SF208 |SSUC208| 2.09
SUCFL208f/0— | 175 ([882| 96 | 36 | 144 | 16 - 15 | 21 1492|549 |190 | M14 |SFL208|SSUC208| 1.48 SUCF2081 »vO— - | 882|130 | 36 | 102 | 16 - 16 | 21 492|549 ]19.0| M14 | SF208 [SSUC208| 1.84
45 SUCFL209 188 - 104 | 38 | 148 | 19 |622| 16 | 22 |492| - 19.0 | M16 |SFL209|SSUC209| 2.00 45 SUCF209 - - 137 | 38 | 106 | 16 |b22| 18 | 22 492 | - 19.0 | M14 | SF209 |SSUC209| 2.50
SUCFL209f/,O— | 188 | 952 | 104 | 38 | 148 | 19 - 16 | 22 492|569 | 190 | MI16 |SFL209|SSUC209| 1.76 SUCF2091 vo— - |952| 137 | 38 | 105 | 16 - 18 | 22 492|569 |19.0| M14 | SF209 [SSUC209| 2.20
50 SUCFL210 197 - 111 40 | 157 19 | 546 | 16 22 |b16 - 19.0 | M16 |SFL210|SSUC210] 2.30 50 SUCF210 - - 143 | 40 | 111 16 | 546| 18 22 |b16 - 190 | M14 | SF210 |SSUC210| 2.64
SUCFL2104//a— | 197 |100.1| 111 40 | 157 19 - 16 22 |516(61.8|190 | MI6 |SFL210|SSUC210| 2.03 SUCF21041 vO— - [100.1] 143 ] 40 | 111 16 - 18 22 [516(61.8|190| M14 |SF210 |SSUC210| 2.33
¥ FERRIBLS B RIETIEE T T BTBICBRELEDELEEL, x EERRIERLNNDEISTIREC T . BRBICBBLIEDELEE L,
¥ We can also produce bearings not in the list. Please contact us. ¥ We can also produce bearings not in the list. Please contact us.

2024.05.31




EE’B’\T’U “/7 A=y MNEins5—217

LIGHT BEARING UNITS

EO—#1=k (UPHK) S OL75v 5=k (UFLHE)

PILLOW UNITS (UP) RHOMBUS FLANGED UNITS (UFL)

N e
N 7
/i
N Wi i WL
Standard Specification g 4 ( A2] O Standard Specification
2 2 SUJ2(184) A | N i Z SUJ2 (18)
‘ H2 Bearing = (equivalent) M Qﬁ J Bearing (equivalent)
T H —— B OF ZDC2 (184) W= ZDC2 (154)
|_i|1 \ i i Housing (equivalent) Housing (equivalent)
””””” M R UFOLFIU—2 D { m R UFHLFIU—2
Lubricant Lithium Greases - Lubricant Lithium Greases
fit &8 B 110C(z&®) fit &5 B 110C(&E)
J Heat-Hes‘\st;nltl Temperature m Heat-Resist:nltl Te?perature
L A A —
GIED L Ao [ RoHS 10

BOHF—4547 BOHF—4547

ECCENTRIC COLLAR TYPE ECCENTRIC COLLAR TYPE

=R Maini fn:ig;)mm) BE Eg {EIZ; SRS lvlaini fnw_i;iu(:mz;m) Eﬁﬁ‘gs iﬂg {il;;

Unit . . Weight Unit . . Weight

e A e N e oo | foene | @ e | fome | @
Reference Reference

10 UP000O 18 67 16 53 7 6 35 175 | 40 M6 POOO | UOOO | 0.07 10 UFLOO0O 60 36 |11.5| 45 7 19 | b5 | 55 | 175] 40 M6 | FLOOO | U000 | 0.06
12 UPOO1 19 71 16 56 7 6 38 175 | 40 M6 POO1 | UOOT | 0.08 12 UFLOO1 63 38 |11.5| 48 7 19 | b5 | 55 | 175 40 M6 | FLOOT | UGO1 | 0.07
15 UP002 22 80 16 63 7 7 43 185 | 45 M6 PO0O2 | Uo02 | 0.11 15 UFL002 67 42 13 53 7 205 65 | 665 | 185H| 45 M6 | FLOO2 | U002 | 0.09
17 UP003 24 85 18 67 7 7 47 | 205 | 5.0 M6 POO3 | UOO3 | 0.15 17 UFLOO03 71 46 14 56 7 225 7 7 |205| b0 M6 | FLOO3 | U003 | 0.12
20 UP004 28 100 20 80 10 9 55 | 245 | 6.0 M8 P0O04 | U004 | 0.23 20 UFLO04 90 55 16 71 10 |[265| 8 8 |245| 6.0 M8 | FLOO4 | U004 | 0.21
25 UPO005 32 112 20 90 10 10 g2 | 265 | 6.0 M8 POO5 | UOOS | 0.28 25 UFLOO05 95 60 16 75 10 |275| 8 8 |255| 6.0 M8 | FLOO5 | U005 | 0.24
30 UPO006 36 132 26 106 13 11 70 | 265 | 65 M10 | POO6B | UOO6B | 0.38 30 UFLO06 | 112 | 70 18 85 13 |29.0| 9 9 |265| 65 M10 | FLOO6B | U006 | 0.35

2024.05.31




BEATY 9 1=y Ppasarsen

LIGHT BEARING UNITS

VL7591 =y M {KFL#¥)

RHOMBUS FLANGED UNITS (KFL)

to-Ea1=vh{(KPE)

PILLOW UNITS (KP)

N
N
N
‘ Wi WL
N Standard Specification Standard Specification
‘ & = SSNEIGEE)) & = S{SNEICEE))
Bearing (equivalent) J H Bearing (equivalent)
‘ H2 g A ZDC2 (184) W2 ZDC2 (184)
‘ / H Housing (equivalent) Housing (equivalent)
! | RBA | DRoaRTIA M ORE | UFOLFIU-R
{ . Lubricant Lithium Greases D Lubricant Lithium Greases
fit &8 B 110C(&®) it & iR B 110C (&1
Heat-Resistant Temperature Heat-Resistant Temperature
J
L GIED [ RoHS 10
L

IEHRUELT

SET SCREW TYPE

d=whEiE

Unit
Number

FE+E(mm)

Main Dimensions (mm)

EXf(3 .
T |
H4a4X

Bolt Housing
Size | Number

=

B

B=
(ke)

- Weight
earing
Number Ke)

Reference

10 KP0O0OO 18 67 16 53 7 6 35 14 M6 | POOO | KOOO | 0.06
12 KPOO1 19 71 16 56 7 6 38 | 145 4 M6 | POO1 | KOO1 | 0.08
15 KP002 22 80 16 63 7 7 43 | 165 | 45 M6 | POO2 | KOO2 | O0.11
17 KPO0O03 24 85 18 67 7 7 47 | 175 M6 | POO3 | KOO3 | 0.14
20 KPO004 28 100 | 20 80 10 9 55 21 M8 | POO4 | KOO4 | 0.21
25 KPO05 32 112 | 20 90 10 10 62 | 225 M8 | POO5 | KOO5 | 0.26
30 KPO06 36 132 | 26 | 106 13 11 70 | 245 | 65 M10 | POO6 | KOO6B | 0.36

IEHRUEL7T

SET SCREW TYPE

— FE~E(mm) BTG | S =2

= wNEIZE =245 Z =

Main Dimensions (mm) Bz B (=)

Unit . . Weight

Number Housing | Bearing Ke)

Number | Number

Reference

10 KFLOOO 60 36 |11.5| 456 7 155| 5.5 55 14 M6 FLOOO | KOOO | 0.05
12 KFLOO1 63 38 | 11.5| 48 7 16 BJS 55 1145 M6 FLOOT | KOO1 0.07
15 KFLO02 67 42 13 53 7 185| 6.5 65 | 165| 45 M6 FLOO2 | KOO2 | 0.09

17 KFLOO03 71 46 14 56 7 195 7 7 175 M6 FLOO3 | KOO3 | 0.11
20 KFLO04 90 55 16 71 10 23 8 8 21 M8 FLOO4 | KOO4 | 0.19
25 KFLOOS5 95 60 16 75 10 | 245 8 8 22.5 M8 FLOO5 | KOO5 | 0.22
30 KFLOO06 112 | 70 18 85 13 27 8 9 245| 6.5 M10 | FLOO6 | KOO6B | 0.33

2024.05.31




Eo—-#i1=vhk(SUP#)

PILLOW UNITS (SUP)

p

f—T—

BOHF—4547

ECCENTRIC COLLAR TYPE

,,,,,,,,,

..

MR

T -
— spgo s

-

Standard Specification

& 2
Bearing
W R M
Housing
i B M
Lubricant
fit # R E

Heat-Resistant Temperature

SUS440C (1)

(equivalent)

SCS13 (=)
(equivalent)
H1 8 ERmAT ) —X
H1 Certificated Grease For Food
120TC(&1®)

L7791 =y b (SUFLH)

RHOMBUS FLANGED UNITS (SUFL)

N )
- 7
) NI i -
O B
8 E

L

BOHF—4547

ECCENTRIC COLLAR TYPE

— FEE(Mmm) s | S ==

o R Sl = =

Main Dimensions (mm) B B (ke)

Unit . . Weight

Number Housing | Bearing Ke)

Number | Number

Reference

10 SUPO00O 18 67 16 53 7 6 35 17.5 M6 | SPOOQO | SUOOO| 0.09
12 SUPOO1 19 71 16 56 7 6 38 17.5 4 M6 |SPOOT|SUO0T| 0.10
15 SUP002 22 80 16 63 7 7 43 185 | 45 M6 | SPO0O2|SuU002| 0.13
17 SUPO003 24 85 18 67 7 7 47 | 20.5 M6 | SPO0O3|SU003| 0.16
20 SUP004 28 100 20 80 10 9 55 | 245 M8 | SPO04 | SuU004 | 0.27
25 SUPOO05 32 112 20 90 10 10 B2 2515 M8 | SPO0O5 | SUOOS| 0.35
30 SUPO006 36 132 26 106 13 11 70 | 265 | 65 M10 | SPO0O6B|SUO0B| 0.53

WREER

Standard Specification

& 2
Bearing
W R M
Housing
i B M
Lubricant
it # R B

Heat-Resistant Temperature

SUS440C (#Ex)

(equivalent)

SCS13 (=)
(equivalent)
H1 8 ERmAT—X
H1 Certificated Grease For Food
120TC(&1®)

— FE~E(mm) B | S =2

= wNEIZE SZHE =z =

Main Dimensions (mm) Bz B (=)

Unit . . Weight

Number Housing | Bearing Ke)

Number | Number

Reference

10 SUFLO00 | 60 36 |11.5| 45 7 19 | 65 | 65 | 175 M6 | SFLOOO| SUOOO | 0.08
12 SUFLOO1 63 38 |11.5| 48 7 19 | 55 | Bb5 | 1756 M6 |SFLOOT | SUOOT | 0.10
15 SUFL002 67 42 13 53 7 205| 65 6.5 | 185 45 M6 | SFLOO2| SU002 | 0.11
17 SUFLO03 71 46 14 56 7 22.5 7 7 20.5 M6 |SFLOO3| SUO03 | 0.14
20 SUFLO004 90 55 16 71 10 | 26.5 8 8 24.5 M8 | SFLOO4 | SUO04 | 0.25
25 SUFLO0O5 | 95 60 16 75 10 |275| 8 8 |2b5 M8 | SFLOO5| SUOOS | 0.28
30 SUFLO06 | 112 | 70 18 85 13 |29.0| 9 9 |265| 65 M10 |SFLOO6| SUOO6 | 0.40

2024.05.31




BEWMAT/VAANTY Ly S wsbuses

LIGHT STAINLESS BEARING UNITS

ro—k1=vh(SKP) B OL752 KL=k (SKFLE)

PILLOW UNITS (SKP) RHOMBUS FLANGED UNITS (SKFL)

N
N
‘ iR iR
N Standard Specification Standard Specification
‘ & = SUsS440C (18H) & = SUS440C (1H)
Bearing (equivalent) J H Bearing (equivalent)
‘ H2 W Og A SCS13318Y) / W2 SCS13(18)
4 H Housing (equivalent) Housing (equivalent)
f i . 5 N o= N s 5 N == .
H1 | { i B M HI1EREIBmAIU—XR i B M H1EEIBmATU—X
i L Lubricant H1 Certificated Grease For Food Vel Lubricant H1 Certificated Grease For Food
fit # R E 120TC(&1®) it # R B 120TC(&1®)
Heat-Resistant Temperature Heat-Resistant Temperature
J
L A GIED | RoHS 10
L

IEHRUELT IEHRLEL1T

SET SCREW TYPE SET SCREW TYPE

1=y hEUE FE2WE(mm) W | wE | =2 1= EEWE(Mm) WEE | W | =8

Main Dimensions (mm) B Eig (=) Main Dimensions (mm) % BE ()

Unit . . Weight Unit . . Weight

Number Housing | Bearing | o) Number Housing | Bearing | )

Number | Number Number | Number

Reference Reference

10 SKP00O 18 67 16 53 7 ] 35 14 4 M6 | SPOOO | SKOOO| 0.08 10 SKFLO0O0 | 60 36 |11.5| 45 7 155 b5 | bb 14 4 M6 | SFLOOO| SKOO0O | 0.07
12 SKPOO1 19 71 16 56 7 ] 38 14.5 4 M6 |SPOO01|SKOO1| 0.10 12 SKFLOO1 63 38 |11.5| 48 7 16 | 55 | b | 145] 4 M6 |SFLOOT| SKOOT | 0.10
15 SKP002 22 80 16 63 7 7 43 165 | 45 M6 | SP0O02 | SKO02| 0.13 15 SKFL002 | 67 42 13 53 7 185 85 | 85 | 165 | 45 M6 | SFLOO2| SKO02 | 0.11
17 SKP003 24 85 18 67 7 7 47 17.5 5 M6 | SPOO3|SKO03| 0.15 17 SKFLOO3 | 71 46 14 56 7 195 7 7 175 b5 M6 | SFLOO3| SKO0O3 | 0.13
20 SKP004 28 100 20 80 10 9 55 21 ] M8 | SPO04 | SKO04 | 0.25 20 SKFL004 | 90 55 16 71 10 23 8 8 21 6 M8 | SFLO04| SKO04 | 0.23
25 SKPO005 32 112 20 90 10 10 62 22.5 6 M8 | SPO0O5 | SKOO5 | 0.33 25 SKFL0O0O5 | 95 60 16 75 10 | 245 8 8 |225| 6 M8 | SFLOO5| SKO05 | 0.26
30 SKP006 36 132 26 106 13 11 70 | 245 | 65 M10 | SPO0O6B | SK0O06| 0.51 30 SKFLO06 | 112 | 70 18 85 13 27 9 9 |245| 65 M10 |SFLOO6| SKOO6 | 0.38

2024.05.31




1Y% —bix

INSERT BEARINGS

AT VVANTY 712y b RHIN—

STAINLESS BEARING UNITS COVER

ds C—

S

‘ f

r—
I

—St———5—

ATV 5 1=y A (UCH)
BEARING UNITS(UC)

WIREELR
Standard Specification
H 2 U C | SsUJ2(#E=x)
Bearing (equivalent)
SSUCH?, | SUS440C (HH=)

D (equivalent)
i# B m U C | UFILRIU—X
Lubricant Lithium Greases

SSUCH? | H158stRmAITU—X
H1 Certificated Grease For Food
MEEE U C R |110C(EE1B
Heat-Resistant Temperature
SSUCH: | 120T(&E18)

s EE~E(mm) BEAREIEEIE o
Main Dimensions (mm) Basic Load Rating (k)
Number Weight
(Kg)

Reference
17 uUc203 17 47 31 17 1.0]1127]1183| 5 MB6X0.75 | 4.2 12800 6600 | 0.18
20 uc204 20 47 31 17 1.0]1127]1183| 5 MB6X0.75 | 4.2 12800 6600 | 0.16
25 uUC205 25 52 | 34.1 17 1.0]1143]198| 5 M6X0.75 | 4.2 14000 7800 | 0.19
30 UC206 30 62 | 38.1 19 10159 |222| 5 M6X0.75 | 5.2 19500 | 11200 | 0.31
35 uUc207 35 72 1429 20 151175254 | 65 M8X1 56 | 25700 | 15200 | 0.46
40 uc208 40 80 [ 492 21 1.5 19 | 30.2 M8X1 6.2 | 29600 | 18200 | 0.63
45 uc209 45 85 | 492 22 1.5 19 | 30.2 M8X1 6.3 | 31800 | 20800 | 0.68
50 uc210 50 90 |b16| 24 1.5 19 |326] 10 M1IOX1.25| 6.5 | 35100 | 23200 | 0.78

AF VLA ANTY 921 =y M (SSUCH)
STAINLESS BEARING UNITS (SSUC)

EZE~E(mm)

Main Dimensions (mm)

B

Number

BEAEIEEE
Basic Load Rating

=2
(kg)
Weight
(Kg)
Reference

17 SSUC203 | 17 | 47 | 31 17 1.01127]1183| 47 | MBX0.75 | 40 | 12700 6600 | 0.17
20 SSUC204 | 20 | 47 | 31 17 1.0 1127183 | 47 | MBX0.75 | 40 | 12700 6600 | 0.15
25 SSUC205 | 25 | 52 | 34.1| 17 1.5]1143]198| 5 |M6X0.75| 4.2 | 14000 7900 | 0.19
30 SSUC206 | 30 | 62 | 38.1] 19 1511591222 | 5 MBX1 52 | 19800 | 11300 | 0.30
35 SSUC207 | 35 | 72 | 429 20 1511751254 7 M8X1 55 | 26600 | 15200 | 044
40 SSUC208 | 40 | 80 |49.2]| 21 16| 19 |302| 8 M8X1 6.2 | 29400 | 18000 | 0.59
45 SSUC209 | 45 | 85 | 492 22 16 19 |302| 8 M8X1 6.4 | 31600 | 20600 | 0.65
50 SSUC210 | 50 | 90 |516| 24 | 16| 19 |326| 10 MI10X1.25| 6.5 | 35000 | 23200 | 0.73

Cr=EXEEEETE Cor=BAHERETE
Cr=Basic dynamic rated load Cor=Basic static rated load

¥ FEERIBE SN BRIENEEC T . BRERICBREVEDELEE L.
3% We can also produce bearings not in the list. Please contact us.

e

7

Number

lli
\
\
\
\
A10 A8 A7 Asfff}A{f
\
\
\
\
ﬁﬁ

WL
Standard Specification
b I A AT VIASUS304 (FH)
Cover Stainless (equivalent)
v = ZRJLDA
Seals Nitrile Rabber
- D

Z¥rCHIN—
BIF(:SSUC % % %-C

EZEE(mm)

Main Dimensions (mm)

BYSZRIER 58
()
Weight
(8)
Reference

Bearing Number

17 SSUC203-C 54.25 16.13 26 33 54 14.3 SSuUC203 22
20 SSUC204-C 54.25 19.16 29 36 54 14.3 SSuUC204 22
25 SSUC205-C 60.25 24.19 35 41 60 154 SSUC205 27
30 SSUC206-C 70.35 29.22 38.5 45 70 16.9 SSuUC206 36
35 SSUC207-C 80.35 34.25 46 53 80 18.7 SSuUC207 44
40 SSUC208-C 88.22 39.28 495 56 88 22.9 SSuUC208 54
45 SSUC209-C 95.22 44 31 54.5 61 95 229 SSUC209 66
50 SSUC210-C 100.1 49.34 62.5 69 100 258 SSuUC210 81
A6
=\
5 WRELR
Standard Specification
h N — A7 IASUS304 (18)
d5 = d3 Cover Stainless (equivalent)
LT SHFDH)—
=== B:SSUCH 334D

BE

Number

SR 5
(e)

EZE~E(mm)

Main Dimensions (mm) Bearing Number

Weight
(8)
Reference

17 SSUC203-D 54.25 54 14.3 0.8 SSUC203 23
20 SSUC204-D 54.25 54 14.3 0.8 Ssuc204 23
25 SSUC205-D 60.25 60 154 0.8 SSUC205 30
30 SSUC206-D 70.35 70 16.9 0.8 SSUC206 39
35 SSUC207-D 80.35 80 187 08 Ssucz207 50
40 SSUC208-D 88.22 88 22.9 08 SsuCcz208 64
45 SSUC209-D 9b6.22 95 22.9 08 SSuUC209 82
50 SSUC210-D 100.1 100 25.8 1.0 SSuUC210 105

2024.05.31




19 —baix (1)

INSERT BEARINGS (LIGHT)

WRER

Standard Specification

ds S2

N s

WRELR

Standard Specification

o W2 U | SUJ20E) = W = K |sul2oEm

N2 r—— Bearing (equivalent) rdl Bearing (equivalent)
~$1 S U | SUS440C(#8%) S K # | SUS440C (1)
di ™ B | d D (equivalent) | (equivalent)
B M U | UFILEIU—R EEE K | UFILRIU—X

Lubricant

BEUATI 71y M RDHF—5217) (UFK)

LIGHT BEARING UNITS (ECCENTRIC COLLAR TYPE) {U)

B

Number

EEE(mm)

Main Dimensions (mm)

Lithium Greases

BAREIEHEE

Basic Load Rating

58
(kg)
Weight
(Kg)
Reference

BEBUAT VLA AU 51y M BDH5—417) (SURK)
LIGHT STAINLESS BEARING UNITS (ECCENTRIC COLLAR TYPE) (SU)

i

B

Lubricant

BEEATI 1=y WEDHBLITT) (KIE)
LIGHT BEARING UNITS (Set Screw Type) (K)

B

Number

EEE(mm)

Main Dimensions (mm)

Lithium Greases

S U ¥ |HIFARRAITI—X S K 2 |H1RARRAITI—X
H1 Certificated Grease For Food H1 Certificated Grease For Food
MEEE U | 110C(EE) MHERE K | 110C(=E1E®)
Heat-Resistant Temperature Heat-Resistant Temperature
1 S U F | 120C(EEE) S1 S+ S K # | 120T(&ZE®)

BEREGEEE

Basic Load Rating

5=
(k)

Weight
(Kg)
Reference

10 uooo 10 | 26 | 175 11 0.7 4 17 | 85 | M4x0.7 | 3.3 | 4600 1960 | 0.03 10 K000 10 26 14 0.7 4 10 M3x0.35 | 4600 1960 0.02
12 uoo1 12 | 28 |175| 11 0.7 19 | 85 | M4x0.7 | 3.3 | 5580 2840 | 0.03 12 K001 12 28 | 145 0.7 4 10.5 M3%0.35 5090 2400 0.03
15 uoo2 15 | 32 |185| 12 07 ] 45| 22 | 85 | M4x0.7 | 3.3 | 5580 2840 | 0.04 15 K002 15 32 | 165 0.7 4.5 12 35 M4x0.5 5580 2840 0.04
17 uoo3 17 | 35 |[205|135| 10 | 0.8 25 | 95 | M4x0.7 | 3.3 | 5970 3280 | 0.06 17 K003 17 35 | 175] 10 0.8 5 125 | 35 M4x0.5 5970 3280 0.05
20 Uoo4 | 20 | 42 |245|165] 12 | 1.3 6 30 | 11 M5x0.8 | 42 | 93560 5040 | 0.10 20 K004 20 42 21 12 1.3 6 15 4 M5X0.5 9350 5040 0.08
25 Uoo5 | 25 | 47 |255|175| 12 | 1.3 | 6.0 | 36 | 12 | MEX0.8 | 42 | 10100 | 5600 | 0.12 25 K005 25 47 | 225 12 1.3 6 165 | 45 M5X0.5 10100 5600 0.10
30 UoO6 | 30 | 55 |265|185| 183 | 1.5 | 65 | 42 | 12 | MBX08 | 42 | 13200 | 8000 | 0.17 30 K006 30 55 | 245 | 13 1.5 6.5 18 50 M5X0.5 13200 8000 0.15

BEWBAT VLA ANTYJ1y M (kR La17) (SKIK)
LIGHT STAINLESS BEARING UNITS (set Screw Type) (SK)

. FETE(Mmm) BEAEIEEE =2 FEE(Mmm) BEAXEREE =2

& Main Dimensions (mm) Basic Load Ratins () Main Dimensions (mm) Basic Load Rating (kg)

Number Weight Weight

(6] (6]
Reference Reference

10 SU000 10 26 [175] 11 0.7 17 | 856 M4X0.7 | 3.3 4600 1960 0.083 10 SKO000 10 26 14 0.7 4 10 M3X0.5 4600 1960 0.02
12 SUO001 12 28 175 11 0.7 4 19 | 856 M4x0.7 | 3.3 5580 2840 0.083 12 SKO0O01 12 28 145 0.7 4 10.5 M3X0.5 5090 2400 0.08
15 SU002 15 32 [185] 12 0.7 | 45 22 | 85 M4x0.7 | 3.3 5580 2840 0.04 15 SK002 15 32 16.5 0.7 45 12 35 M4X0.7 5580 2840 0.04
17 SU003 17 35 |205(135]| 10 0.8 5 25 | 95 M4x0.7 | 3.3 5970 3280 0.06 17 SKO003 17 35 17.5 10 0.8 5 125 | 3.5 M4X0.7 5970 3280 0.05
20 sSU004 | 20 42 |245]16.5| 12 1.3 30 11 MBX0.8 | 4.2 9350 5040 0.10 20 SK004 20 42 21 12 1.3 6 15 4 M5x0.8 9350 5040 0.08
25 SU005 | 25 47 |255 175 12 1.3 6 36 12 MB5X0.8 | 42 | 10100 5600 0.12 25 SKO005 25 47 22.5 12 1.3 6 1865 | 45 M5X%0.8 10100 5600 0.10
30 SU006 | 30 55 |265(185| 13 15| 65| 42 12 MB5X0.8 | 4.2 | 13200 8000 0.17 30 SKO006 30 55 24.5 13 1.5 6.5 18 5.0 M5X%0.8 13200 8000 0.15

Cr=EXEERETE Cor=BAHEREE
Cr=Basic dynamic rated load Cor=Basic static rated load

Cr=EAXEERETE Cor=BAHTEREE
Cr=Basic dynamic rated load Cor=Basic static rated load

2024.05.31



AVINIINTY 1=y

COMPACT BEARING UNITS

IESHRUHENTI T

BALL BEARINGS SET SCREW TYPE

WEELRR
Standard Specification
1 S g ZRF— L |suleEE)
% Bearing Steel (equivalent)
Z ATFUULRA SUS440C(#Ex)
‘Eﬂ}ﬁ Stainless (equivalent)
NOIVT AF = SPCC (182) M=t # 7 f=
% I -8 Lg Housing Steel (equivalent) Alkaline Blackening
ATFULRA SUS304 (1B%)
Stainless (equivalent)
B AF— UFDOLRIU—2R
Lubricant Steel Lithium Greases
—- ATFVLRA UFILZRIU—R
Stainless Lithium Greases
it &8 B AF = 110C(z&®)
B Heat-Resistant Temperature  Steel
ATFUULRA 120TC(s&1E)
Stainless
AF=Na1LT [ RoHS 10)
STEEL TYPE
FEE(mm) 58
fEFEhSZ Main Dimensions (mm) (ke)
. . Weight
Unit Use Bearing
Number (Ke)
— Reference
8 CU-608 60827 32 1.2 8.2 34 42 24.4 4.5 0.02
10 CU-6000 6000zZ 36 1.2 9.2 38 46 28.4 45 0.03
10 CU-6200 620077 40 1.2 10.2 42 50 32.4 45 0.04
12 CU-6201 620127 45 1.4 11.4 48 58 34.8 B3 0.06
15 CU-6002 600227 45 1.4 11.4 48 58 34.8 5.5 0.06
10 CU-6000-2RS B6000-2RS 36 1.2 9.2 38 46 28.4 4.5 0.03
10 CU-6200-2RS 6200-2RS 40 1.2 10.2 42 50 324 4.5 0.04
12 CU-6201-2RS 6201-2RS 45 1.4 11.4 48 58 34.8 B3 0.06
15 CU-6002-2RS 6002-2RS 45 1.4 11.4 48 58 34.8 55 0.06

AT /LARELT
STAINLESS TYPE

Unit
Number

fEFEnS2

Use Bearing

FEE(mm)

Main Dimensions (mm)

58
(kg)
Weight
()
Reference

8 SSCU-608 5560827 32 1.0 8.0 34 42 24.0 4.5 0.02
10 SSCU-6000 SS60002Z 36 1.0 9.0 38 46 28.0 4.5 0.03
10 SSCU-6200 55620027 40 1.0 10.0 42 50 32.0 45 0.04
12 SSCU-6201 SS62012Z7 45 1.5 11.5 48 58 35.0 58 0.06
15 SSCU-6002 SS60022Z7 45 1.5 11.5 48 58 35.0 55 0.06
10 SSCU-6000-2RS | SS6000-2RS| 36 1.0 9.0 38 46 28.0 45 0.03
10 SSCU-6200-2RS  SS6200-2RS| 40 1.0 10.0 42 50 32.0 45 0.04
12 SSCU-6201-2RS | SS6201-2RS| 45 1.5 11.5 48 58 35.0 I 0.06
15 SSCU-6002-2RS | S56002-2RS| 45 1.5 11.5 48 58 35.0 55 0.06

Cr=EAHEREE Cor=EBAEREE

Cr=Basic dynamic rated load Cor=Basic static rated load

B Wi
H r Standard Specification
2-M \ A 5 &® SUS420J2 (18)
/“\_ Inner and Outer Rings (equivalent)
i il R o= SUS420J2 (1524)
Ball (equivalent)
' S R & & SUS304 (184)
S Cage (equivalent)
d D =)L R SUS304 (184)
Shields (equivalent)
H B W H1EREIBmAITU—2R
Lubricant H1 Certificated Grease For Food
7y BWES® Jis Ok
Ify il Accuracy Class JIS O Class
g T X CN
Clearance CN Clearance
L (Roris 10
EBiE(mm) BAEREE |Ho0ud| B
Main Dimensions (mm) Basic Load Rating (rpm) (8)
®2) |
ght
Allowable @
Cr(kN) |Cor(kN)| Maximum
dxfiE | hEs= Speed(rpm) | Reference D
SUR69002zz 22 13 ] 3.0 M3x0.5| 0.30 2.70 1.27 9100 13
SUR6000ZZ 10 26 15 8 3.0 M3x0.5| 0.30 455 1.96 7800 24
SUR62002z 30 17 9 3.5 M4x0.7| 0.60 5.10 2.39 6800 41
SUR690122 24 13 6 3.0 M3X0.5| 0.30 2.89 1.46 5200 15
SUR60012Z2z 12 +O'8] 5 28 15 8 3.0 M3X0.5| 0.30 5.10 2.39 7800 27
SUR62012z 32 19 10 S5 M4x0.7| 0.60 6.80 3.05 7500 47
SUR690222z 28 14 7 3.0 M3x0.5| 0.30 4.30 2.25 6500 22
SUR6002Z2 15 32 17 9 3.0 M3x0.5| 0.30 5.60 2.84 | 4500 40
SUR620222z 35 20 11 3.5 M4x0.7| 0.60 7.65 3.75 6000 59
SUR69042Z 37 18 9 3.5 M4x0.7| 0.30 6.40 3.70 9100 51
+
SUR600422z 20 0'8] 8 42 21 12 45 MB5X0.8| 0.60 9.40 5.05 7500 87
SUR62042zz 47 23 14 45 M5x0.8| 1.00 | 12.80 6.65 5800 132

Cr=EASEIREE Cor=EAXHFTHREE

Cr=Basic dynamic rated load Cor=Basic static rated load

¥ EEEDIEHRUMERTUV I DOAREEEF. JIS B1558DMIEICELTNE T,

2024.05.31 (



TIVLAANTI Y

OILLESS BEARINGS

=R LA B2

(FiER LS

HIGH-STRENGTH —— E?_\' % 91
o R = .0.!
BRASS OILLESS BEARINGS Srandard Specification uer | gt 2t -
sy I I earing earing
mte”a' H CACSO@‘%%&U To@rﬁce To@rﬁce b UEETy Number
N & B =|F7
Inner Tolerance 10 JDB-182410 12 12 JDB-303812 29
L 54 ' o E=| m6 12 JDB-182412 15 15 JDB-303815 37
Quter Tolerance . 15 JDB-182415 | 18 20 JDB-303820 | 50
fit 2 B E | 300C(EEHE)
Heat Resistant Temperatore 40,034 0021 16 JDB-182416 | 19 25 JDB-303825 | 62
- " 18| 0016 | 2% | +0.008 20 JDB-182420 | 25 38 30 JDB-303830 | 74
® MiHERBFH A= ' ' o5 JDB-182425 | 3] 35 JDB-303835 | 86
® Recommend Shaft Tolerance 30 JDB-182430 | 36 40 JDB-303840 | 99
® & [« p —ixM (R&E) | d8 36 JDB-182435 | 42 50 JDB-303850 | 126
e G_e%ira“H(eg;g;id)) . 40 JDB-182440 | 48 +0.041 +0.025 | 60 JDB-303860 | 153
. Genexramiugri Loa?) © 10 JDB202810 | 18 | | °° | +0.020 +0.009 12 JDB-304012 | 39
a5 B E B\ f7 12 JDB-202812 22 15 JDB-304015 50
High Precision 15 JDB-202815 | 28 20 JDB-304020 | 62
I SIS AN 16 JDB-202816 | 30 25 JDB-304025 | 83
[ RoHS 10 'L%;*Efe’n\ﬂj;g;ﬁe;ﬂ; 19 JDB-202819 | 35 40 30 JDB-304030 | 100
28 20 JDB-202820 | 38 35 JDB-304035 | 114
25 JDB-202825 | 48 40 JDB-304040 | 129
30 JDB-202830 | 57 50 JDB-304050 | 168
T = Ry =5 = Ny = 35 JDB-202835 | 67 60 JDB-304060 | 201 T
Eteﬁim B OE (8) Eteﬁ:‘fh'o-s B E ) 40 | JDB-202840 | 76 20 | JDB-354420 | 69
e Weight i Weight op | 1004 +0.021 50 JDB-202850 | 95 25 JDB-354425 | 85
NE NE Number ) NE NE Number @ +0.020 +0.008 10 JDB-203010 | 24 30 JDB-354430 | 102
UEET) UEETE) Reference UB ST UBERT) Reference 12 JDB-203012 | 29 | | 35 18'822 a4 Ig'ggg 35 JDB-354435 | 119
8 JDB-061008 3 10 JDB-142010 | 10 15 JDB-203015 | 36 ' ' 40 JDB-354440 | 137
g | 10022 | +0015 10 JDB-061010 3 12 JDB-142012 | 12 16 JDB-203016 | 39 50 JDB-354450 | 171
+0.010 +0.006 12 JDB-061012 3 0,034 10021 15 JDB-142015 | 15 0 20 JDB-203020 | 49 60 JDB-354460 | 205
15 JDB-061015 4 14| 0016 | 20 0008 16 JDB-142016 | 16 25 JDB-203025 | 63 20 JDB-405020 | 86
8 JDB-081208 3 ‘ : 20 JDB-142020 | 21 30 JDB-203030 | 75 25 JDB-405025 | 103
g | 10028 | | +0.018 10 JDB-081210 4 25 JDB-142025 | 26 35 JDB-203035 | 89 30 JDB-405030 | 133
+0.013 +0.007 12 JDB-081212 5 30 JDB-142030 | 31 40 JDB-203040 | 100 +0.050 0,025 35 JDB-405035 | 153
15 JDB-081215 6 10 JDB-152110 | 10 50 JDB-203050 | 125 | |40 | ‘oo | 50 | 1509 40 JDB-405040 | 174
8 JDB-101408 4 12 JDB-152112 | 13 12 JDB-253312 | 26 ' ' 50 JDB-405050 | 213
0,028 L0018 10 JDB-101410 4 15 JDB-152115 | 15 15 JDB-253315 | 3] 60 JDB-405060 | 261
10| 0013 | ' | +0.007 12 JDB-101412 6 0,034 0,021 16 JDB-152116 | 17 16 JDB-253316 | 34 70 JDB-405070 | 300
' ' 15 JDB-101415 7 15| 10016 | 21 | +0.008 20 JDB-152120 | 21 20 JDB-253320 | 42 80 JDB-405080 | 338
20 JDB-101420 | 10 ‘ ' 25 JDB-152125 | 26 a3 25 JDB-253325 | 53 30 JDB-506030 | 156
8 JDB-121808 7 30 JDB-152130 | 31 30 JDB-253330 | 65 35 JDB-506035 | 180
10 JDB-121810 8 35 JDB-152135 | 37 35 JDB-253335 | 75 +0.050 +0.030 40 JDB-506040 | 204
12 JDB-121812 | 10 40 JDB-152140 | 42 40 JDB-253340 | 87 | |50 | ‘0o |60 | L0071 50 JDB-506050 | 262
+0.034 L0018 15 JDB-121815 | 13 10 JDB-162210 | 11 50 JDB-253350 | 109 60 JDB-506060 | 310
12| 5016 | 18| +0.007 16 JDB-121816 | 14 12 JDB-162212 | 13 o5 | 10.04] +0.025 60 JDB-253360 | 127 70 JDB-506070 | 358
' ' 19 JDB-121819 | 16 15 JDB-162215 | 16 +0.020 +0.009 12 JDB-253512 | 34 80 JDB-506080 | 412
20 JDB-121820 | 17 16 JDB-162216 | 17 15 JDB-253515 | 42
25 JDB-121825 | 21 1 | t0034 | | +002] 19 JDB-162219 | 21 16 JDB-253516 | 45
30 JDB-121830 | 26 +0.016 +0.008 20 JDB-162220 | 22 20 JDB-253520 | 56
10 JDB-131910 9 25 JDB-162225 | 27 s 25 JDB-253525 | 70
12 JDB-131912 | 11 30 JDB-162230 | 32 30 JDB-253530 | 85
13| +0034 | | +0021 15 JDB-131915 | 14 35 JDB-162235 | 38 35 JDB-253535 | 99
+0.016 +0.008 20 JDB-131920 | 18 40 JDB-162240 | 43 40 JDB-253540 | 115
25 JDB-131925 | 24 50 JDB-253550 | 142
30 JDB-131930 | 28 60 JDB-253560 | 163
¥ FERRIBLN O ESSTIEE T T . BREICBBVADELEE L, ¥ ERRIBLN O ESSTIEE T T . BREICBBVADELEE L,
*We can also produce bearings not in the list. Please contact us. *We can also produce bearings not in the list. Please contact us.

W | 2024.05.31 (



XIE#

TECHNICAL SPECIFICATIONS

{7 (Units)/um
FaEESFONREE Nl SRS YT ILEN HEEOEN | AROTFITIVEN
N N i _ - e o o — _ H12 Radial Runout Of Outer Ring Wide Runout Axial Runout Of Outer
DB OFENEICODVWTCOFRENOHFRENO(ICOEEEIF. JISB15 14 EDDEROBEE) [CRBESNTL) Nl 0Of Assembled Bearing Of Outer Ring Ring Of Assenbled Bearing
=7 — St N " = — S o N Outside Kea SD Sea
2. MZDBEFRICIE. EBEEDJIISORDIED . BENEIEDICRHD T, 61k, Sk 4RNOU2HRNBOXITH K&K Diameter
PN — = AN —3 Ofk | 61k | 5k | 44k S5k 41k 5k 48R
TlEF2HREFENTWVET . CNEDORBEIE. ISOBRBITEMLU TWVDBHD T, Nomal |Class 6 | Class 5| Class 4| Class 5 Class 4 Class 5 Class 4
e T L E R o I
PRECISION OF GROOVE BALL BEARINGS ey o | vax | Tax | X 4 4 4 4
. . . L . . o x2. 15 8 5 3 8 4 8 5
The tolerances for the main dimensions and speed precision of rolling bearings are specified by JISB1514 15 8 | 5 | 3 8 4 g 5
(Rolling-bearing Precision Standard). 15| 9 | 6 4 8 4 8 5
As the Precision level gets higher than JISO grade, there are the Grade 6, Grade 5, Grade 4 and Grade 2. 20 | 10 | 7 5 8 4 8 5
The Grade 2 is omitted in the list. The precision here is based on ISO Standard. e5 1138 15 8 4 10 5
35| 18 | 10 6 9 5 11 6
%2.BmMmIETOTERDICZFEND. %2.5mm isincluded in this group.
= - o — = o= =~,3J Shos =~ 3 S M= Q= e N[—— =~ 3 )~ =i Shes
NGO SER U SELEVICHBRIEOETERUHSIE TSVIHRZDFEE TSV IRDHFBERUHFBELVICT SV IICH DD EEEEDHTFEIE
TOLERANCE AND TOLERANCE LIMITS FOR INNER RINGS AND WIDTHS OF OUTER RINGS TOLERANCES LIMITS OF OUTSIDE TOLERANCES AND TOLERANCE LIMITS FOR FLANGE WIDTH
847 (Units)/um DIAMETER FLANGE PN AND TOLERANCE OF SPEED ACCURACY RELATED TO FLANGE P
B (Units)/um B (Units)/um
FEATIINEOTEE ] TEARETFE FENTEREOTH LISV I TS5 UNED R — s vl o R LEID)
- . . o ) ! ariation i iati i 2 B=E 2 o f 3 R
p26p Tl Deviation Of Mean Bore Diameter in A Single Plane | Bore Diameter N OBl D ENEIET 2 S e Mean Bore Diameter SIRC I (. Fine Flonge Wicin ALz Deviation Of A Single Variation Of e A:xaﬁ%jnjo:t OEThe
AR 4dmp Ads Vdp Vdmp D1 (mm) 4D1s NISSSPSI Outer Ring Flange Width Outer Ring Flange Width SUffaCE?aTci gggeﬂange Flange Back Face
Norminal 4R O#R, 61 5#% a4R 2z L Outsaide 4C1s VCls SD1 Seal
‘Bore Class 4 Normal Class 6 Class 5 Class 4 | oun | 645 | 5i% | 4 Z@BR LT £ Iy Diameter
Diameter OfR 6k 5k 41k | 6#k | SiR | 41k Over Incl High  Low Ok | 6f% | Sk | 4%k | Ok | 6% | Sk | 4k | S8 | 4k 5% | 4R
d(mm) BRI Nomal | Class | Class | Class 81 ls VI \ormal| Class | Class | Class |Normal| Class | Class | Class | Class | Class | Class | Class
Normal Class 6 Class 5 Class 4 Diameteter Series 6 5 ) 0 o 1358 ig 6 5 4 6 5 4 5 4 5 4
0-1-2:34] 9 [0-1]234] 9 [0-1]234] 9 [01234] 9 [01234 s 30 1550 5o =z LT TN BA BA BA
= = = = = P P Py e ver Inc ig ow ax ax ax
ZHBZ UT . r | £ TF £t | £ F BX RBA =78 BA BA|BK|BRX|RKX B—=wmc.
Over Incl el High Low | High Low | High Low | High Low Max Max Max Max Max | Max | Max | Max BE—ZRT. BCE=ZOIC | BUas=adic
%25 6 i 5 25| 15| 8 4 15| 11 7 3
25 10| 0 -8 o -7 0o 5 0o 4 o 4 |10|8|6 |9 |7 |55 4 |4|3|6|5]3]|¢2 e WY BABSDFEEICSD. | JT2AVBSD : :
10 18| o 8 | 0 -7 0o 5 o 4|0 4 |10|8|6|9 |7 |5|5|4|4|3|6|5|3]2 6 18 |Use Tht dbs Tolerance For | e | 5 |25 /15| 8 | 4 (15| 11| 7 | 3
18 30| 0 10 0 8 | 0 6 o 5| 0 6 [13|10|8|10|8 |6 |6 |5 |5]|4|8]|6|3]25 !s 30 |D Of The Same Bearing Of | Toerans ForD0f | 5 |05 | 15| 8 | 4 15111 7 | 3
30 50| o -12 | o -0 | 0 -8 o 6| 0 6 |15/12/9|13|10|8|8|86 |6|5 | 9|8|]4]|3 The Same Class Tl Sare Beanns, T '
50 80 0 -15 o -12 0 -9 0] -7 o -7 19 |19 | 11 15 | 15 9 9 7 7 5 11 9 5 | 35
#2.5mMMIETDTERDICZEND. %2.5mm isincluded in this group.
O AERIBD T EZE AERIETE RERDSI7 VRN | NERORBIRN | RBO7+/TIEN SHERIED %= SHERIERE — =% MEes “=rote -
:'Fw?gg Deviation Of A Single Variation OF Radial Runout Of Inner Ring | Wide Runout | Axial Runout Of lmer | Deviation Of A Single Variation OF ATA hEEHz@E’FeE&UE‘FeAE (EHE’LE@&)
Nominal Inner Ring Width Inner Ring Width Of Assembled Bearing Of Inner Ring  |Ring Of Assenbled Bearing| Outer Ring Width Outer Ring Width TOLERANCES AND TOLERANCE LIMITS FOR THRUST BALL BEARINGS(RACEWAY DIAK OF SHAFT) o
B 4Bs VBs Kia Sd Sia ACs VCs 131 (Units)/um
SEUEEEN  Off-GiR | SHR-A8R | O%R | 64 | 54% | 4R |O%R | 64k | 54R |44k |5 | 4%% | B4R | 4%% | OMmR-6%% | SH-4k | Ok 64k 276y TR TEPTEINEOT®RE CFENAETR HIEERSRRAWEER U\ TRERONEDES TR
d(mm) Normal- | Class 54 |Nomal| Class | Class | Class | Nomal | Class | Class | Class | Class | Class | Class | Class Normal- Class 54 | Normal | Class 6 AR Deviation Of Mean Bore Diameter | Variation Of Bore Diameter Thickness Variation Of Raceway Disk Of Shaft Or
Class 6 6 5 4 6 5| 4 B 4 5 4 Class 6 A In A Single Plane In A Single Plane Central Raceway Disk Anq Housing Raceway Disk
Al - T | £ T |BX|BX|BX|BX|BA|BX|BX|BABABA| BA | (BX | L F | £ F | BK | BX ‘Bore AL R el
OVCIgell High Low | High Low | Max| Max | Max | Max | Max | Max | Max | Max | Max | Max | Max Max | High Low | High Low Max Max Diameter  NoPy Mot 8ot 1 4i% OR-64R-54k 44R 0%k 618 54 44%
0 -120 1 0 40 |15 ) 15| 5 12510} 6 | 4 25| 7 | 3 7 3 0 -120 | 0 40 15 15 d(mm) Normal Class 4 Normal, Class 4 Normal Class 6 Class 5 Class 4
0O -120 | 0O 80 |20|20| 5 |25|10| 7 | 4 |25| 7 | 83 7 3 0 -120 | 0 -80 20 20 Class 6:5 Class 6-5
0 -120 0O -120 | 20| 20| 5 |25| 13| 8 4 3 8 4 8 4 0 -120 0 -120 20 20 =83 UT +r F + F BX BX BX BA BX BX
0 -120 ) 0 -120 | 201 20| & | 3 |16 )10} 5 | 4 | 8 | 4 8 4 0 -120 | 0 -120 20 20 over incl High Low High Low Max Max Max Max Max Max
0 -150 0O -150 | 25 | 25 6 4 20 | 10 5 4 8 5 8 5 0 -150 0 -150 25 25 18 0 = 0 6 5 10 5 3 5
18 30 0 -10 o -8 8 6 10 5 3 2
30 50 o -12 0 -10 9 8 10 6 3 2
Sy =g 50 80 0 -15 o -12 11 9 10 7 4 3
9+§ﬁ0)§q:ﬁ%&0'aq:ﬁﬂ_§ 80 120 0 -20 0O -15 15 11 15 8 4 3
TOLERANCES AND TOLERANCE LIMITS FOR OUTER RINGS
Bi{i7 (Units)/um — = - n . - —_ —_
= R HED FEANERE TENTENED ATA hiﬁﬂﬁwﬁgﬁﬁvﬁgﬁ(/ \vyyﬂmﬁa&?) ATA FEEﬁEE@E'&
FEAHINEOTEE = Variation Of Outside Diameter In A Single Plane <Al TOLERANCES AND TOLERANCE LIMITS FOR THE HEIGHT OF THE THRUST BALL BEARINGS
) Deviation Of Mean Outside A VDp Variation OF THRUSU BALL BEARINGS(HOUSING RACEWAY DISK)
W‘U‘?gﬁ lameter ZD Ingle Flane Outside Diameter OfR 6% 5% 1R Mean Outside Diameter &7 (Units)/um 847 (Units)/um
b mp b } i : - - p—— . - .
e 4Ds Normal___ Class6 | Glass5 | Class4 VDmp el CEATONEOTAE | FEANETE FUBEAE FEER
Outside 4%% B e S BARELS o BIRNENSS | BERCELSS SR Deviation Of Mean Outside | Variation Of Outside Diameter Nominal Bore Plane Seat Form
Diameter o4& 64R 545 4% Class 4 Open Type | °heded Open Type |50 | Open Type | Open Type | Ok | 6% | 5% | 44R% Nominal Diameter Eénig]gle Plane nA S\\r}%lepp\ane Ege(lrr;iiir ATs
D(mm) ERR Normal | Class | Class | Class Outsaide
Normal | Class 6 | Class & | Class 4 Diameteter series 6 5 | 4 Diameter  NoPy @t @ty 4iR O#R-6#% -5k v ZEZX UT *t T
0-1:2:34] 9 [01]234[234] 9 | 01]234[01234] 9 [01234] 9 [01234 D(mm) Normal- Normal- Over Incl High  Low
= = = = = = =r =x = Class 65 Class 4 Class 65 | Class4
iy Mye + | £t F| £ F|E F|LE F BRA BRA =BRA BK |BRK|RK|RK| &K e — 0 75
High Low | High Low | High Low | High Low | High Low Max Max Max Max Max | Max | Max | Max #BZ LT £t F F F BX BX
. Over Incl High Low High Low Max Max 30 50 0 -100
%25 6 |0 8|0 7|0 5|0 4|0 «4|10]s8|61w0]o]7][5]9|s5]ala]ls|[e|s]|3]a2 g g 50 80 0 125
6 18|/o 8|0 7|0 5|0 4|0 4|10|8|6|1W0|9|7 |5 | 9|5 |4|4|3|6|5]3]|2 10 18] 0 -11 0o -7 8 5 80 120 0 150
18 30 0 -9 0 -8 o -6 0O -5 0 5|12 9 7 12 10| 8 6 10 6 5 5 4 7 6 3 25 18 30 o -13 o0 -8 10 6
30 50 o -11| 0 -9 o -7 0O -6 o 6|14 |11 8 16 11 9 7 13 7 5 6 5 8 7 4 3 30 50 o0 -16 o0 -9 12 7
50 80 0O -183| 0 -11 o -9 o -7 o -7 |16 |13 |10 20 14 111 8 16 9 7 7 5 10| 8 5 35 50 80 o -19 o -11 14 8
80 120 0 -15| 0 -13 | 0O -10 0O -8 O 8|19 |19 |11 26 16|16 | 10 20 | 10 8 8 6 11 ] 10 5 4 80 120 o -22 0 -13 17 10

W | 2024.05.31 (




XiaE#

TECHNICAL SPECIFICATIONS

— G i aag ]
kR OLMZMBR O AT VL AHRU KRR OILE/E S MEHFE (BEE)
CHEMICAL COMPOSITION OF HIGH-CARBON CHROMIUM BEARING STEEL AND STAINLESS STEEL MATERIAL LIST(REFERANCE)
B i S {ris (%) ' B J)a=r ES (4o A RALTA4%R |BRRIOLEEHE | A7V AR ZI=F ATV
Chemical Composition (%) ZIbd—J = 3 X ? | ERER i | AT 23 = T ¥
Standard C Si Mn p ) Cr Mo Topic ZrO2 SiaN4 SiC suJe SUs440C Al203 SUS304
JIS suJ2 0.95~1.10 0.15~0,35 =0.5 =0.025 =0.025 1.30~1.60 =0.08 ;‘ijsit g/cm?s 6.0 3.2 3.2 7.8 7.9 3.92 8.0
GB GCr15 0.95~1.05 0,15~0.35 0.25~0.45 =0.025 =0.025 1.40~1.65 =0.08 . Y
ﬁk’gﬁ‘ﬁéﬁ ion Coefi t><1O"5/”C 105 3.2 4.3 11 17 8.2 16
Jis Sus440C 0.95~1.10 <1,00 <1,00 <0.040 <0.030 16.00~18.00 <075 ﬁ;;“;ﬁ;;ansm oefricien
GB 95Cr18 0.95~1.00 =0.80 =0.80 =0.040 =0.030 17.00~19.00 — Vertioal Elastic Coefficient Gpa 210 320 380 208 200 360 193
JIS S20C 0.18~0.23 0.15~0,35 0.30~0,60 =0.030 =0.030 =0.20 — E’;{%ﬂess HV 1300 1700 2350~2450 800 700 1800 170
GB 20 0.17~0.24 0,17~0.57 0.35~0.65 =0.035 =0.035 =0.25 — RS
[k - 400 800 1100 120 150 400 150
Heat-resistant Temperature
2743 e FERIE i SEmgIE SRfEIE FERIE et
N =3 M ti Nonmagnetic Nonmagnetic Nonmagnetic Ferromagnetic Ferromagnetic Nonmagnetic Mildly Ferromagnetic
ABTUMZOSIT VBT EX S B TREFERE AT TSN
=l 1 = (N7 i}
CLEARANCE P Eeik3 o fEamPN [ing=at3 M _ — S -
B (Units)/um Characteristics High Corrosion Esistance | Wear Resistance Thermal Wear Wear Resistance
Low Cost Corrosion-resistance |High Corrosion Resistance High Corrosion Resistance
U
AR
Nominal ce CN c3 ca c5
Diameter
d(mm)
BN BK =N BKX BN RK 1= 7 N BN BRK
Min Max Min Max Min Max Min Max Min Max i*z*ﬂa}ebﬁ##'ﬁi (%%1@)
| 0 7 2 13 8 23 — — — — COMBINATION CHARACTRISTIC LIST(REFERANCE)
0 7 2 13 8 23 — — — —
] 9 3 18 11 25 18 33 25 45
0 10 5 20 13 o8 20 36 o8 48 RIS R {R¥FER Wﬁ%&zﬂﬁ MRE% M=% [EIER 4RE
1 11 5 20 13 28 23 41 30 53 Inner And Outer Ring Cage H%eat-Reswftant Corrosion Resistance |  Load Resistance Rotary Performance
1 11 6 20 15 33 28 46 40 64 SIPEFEIUS
1 1 6 23 18 36 30 51 a5 73 Y)a=r Jaz=y PTFE 180T 0 N N
1 1 8 28 23 43 38 61 55 90 Zr02 Zr02
1 10 30 25 51 46 71 65 105 I)a=r JIa=7 PEEK 260C 0O A PN
5 - Zr0z2 Zr02
MKMTEE#E T EFHECON Iyna=r Ja=r
s =7 B =7 P . .
Zr02 Zr02 L 4000 © - -
—_ ps =3 =— . pe =5 22 3 22, = . N
BEAFREERZOS YT VAT EF E-FATIERERZOS YT IV T EF BT = BLT= PTFE 180C o o o
CLEARANCE 87 (Units)/um CLEARANCE 87 (Units)/um 5157,'\"(% g%’{b"\"fi PEEK 260T O @) O
13N4 13N4
7 Vi 432
PUBRNE MC1 MC2 | MC3 | MC4 | MC5 | MC6 Etr1R el =L 800C o o o
No[r)%r&ilatl?é?re CM SizN4 Si3N4
=), = =), = =, = = = = = = = J)a=7r £ ER P c -
d(mm) B\ BX | B0 BA | B BA | B B | B BX | B BX Ja=7 BLT% PTFE 180C e A o
s S — — Min  Max | Min Max | Min Max | Min Max | Min Max | Min Max - — -
=8B MT s BX Ya=7r B 1% PEEK 260T o a o)
Over Incl Min Max 6] 5 3 8 5 10 8 13 13 20 20 28 Zr02 SizN4
J =7 = ¢ s N
1020 18 4 11 BE ST EEEMC3TED J”zl%g_} Eggmi WL 400C @) N )
18 30 5 12 2.2 F a7 EEZI SMRNAOMMEE = —
30 50 9 17 3B EB(. SVROOMME L CESREA ] OmmsE AL 1% BAET 1% PTFE 180C (o) N a
50 80 12 22 SIC SiC
RILr 4% KLy % bEEK J o ~ ~
SiC SiC
vy . RIET 1% RIET 1% 4 |
O LY— VBB ERR Sic Sic g 11ooe © . .
RUBBER SEAL PART NUMBER COMPARISON TABLE AT VLA ATV AEZH SUS304 150C ~ ) (¢)
SUS440C0 SUS440C
F=1ou =54 =% L . ~
X—h— EmI LY —)L Lz m NI ﬁ”_\ﬁgﬂé‘mﬁm ﬁ“*g&é‘ﬁmlﬂ SPCC 120C x o (¢)
Manufacturer Contact Rubber Seals | Contactless Rubber Seals 7IL=F FIL=F f— 180G 5 R R
KMT 2RS oRZ Al203 Al203 -
. 7IL=F FIL=F o ~
NSK DD-DDU VV AlDs AloDa PEEK 260 o) N N
NTN LLU LLB TJA}‘b%j- TA}||,§7- @ 400T o N N
NACHI 2NSE 2NKE SUSZ:OC S'C§NS4
i o ~ i
KOYO 2RS 2RU SUS440C Si3N4 SUS304 150T AN (@) (@)

MBS — U (2RS) DEMEFFHELTDFET,
Different companies have differences on the quantity of contact (2RS).

W | 2024.05.31 (




XiaE#

TECHNICAL SPECIFICATIONS

et e (BEE)

MATERIAL LIST(REFERANCE)

ESIvIMRL(SEE)

CORROSION RESISTANCE OF CERAMIC (REFERANCE)

R7ZUIG1=yNDRE
RPUVHG A wNEE(R. JISB 1558 (Ehnehs-+ VY —Nts) ROJISB 1559 (ErhDEhs -4 >~ H —Nets5E) O

A2 =3 “
JyBRR [RUI-F| KU | KUTO | e = stk | Bibr % RIBITECTVE T,
(FI0Y) | TFLrNy | Fes—| ely | TYTEE P il et
PTFE PEEK POM PP PABS BRI 194 ! PRECISION OF BEARING UNITS
MEaEE T 180 260 110 100 100 =i o A o Bearing units precision follows a standard of JISB1558(Rolling bearings-insert bearings) and JISB1559(Rolling bearings-insert
Heat-resistant Temperature Hydrochloric acid . bearings)
BE g/cm? 2.18 1.32 1.42 091 1.14 fHER O N O
Density Nitric acid
5|5RIERE kef/cm? . TR 5 5
ten%i\e strength 140~350) 1000 620 280 850 Sulfuric acid - - © wm@%gfﬁﬁl}?{:g%
U= % | 500400 20 40 500~700 80 brEE N N o TOLERANCE AND ALLOWANCE LIMIT FOR INNER RING
Flexural Strength Rate Phosphoric acid BT (Units)/um
EAIFSEE kegf/em®| g0 1730 910 |420~560| 970 BB X A ® BT
; ~ ; ; 2 a , , . , — DfROED _ . — _
oo Suenalh uctelore oo FUBEAE FENTONEOTEE | FEANETE e WRIEOTEE | NROSYTILORN
FMEARGR X105/C 5 5 9 1 9 bl ! A A o - - . e = - .
f " ) ; C ominal Bore Deviation Of Mean Variation Of Bore Deviation Of Deviation Of Radial Runout
Thermal Expansion Coefficient Sodium hydroxide Diameter Bore Diameter In Diameter In Eccentricity Of Eccentric A Single Inner Of Inner Ring Of
MRk ' %| 001 05 022 003 06 KEBIEDAUDL A A N A Single Plane A Single Plane Face Of Inner Ring Ring Width Assembled Bearing
Water Obsorption Potassium hydroxide d(mm) Admp Vdsp AHs 4Bs Kia
e 1 = = =
s bUoL a a a =@x  UT s F Bx s F T BX
SRS L Over Incl High Low Max High Low High Low Max
Sodium nitrate o o o 10 18 +15 0 10 +100  -100 0 -120 15
sk 18 31.75 +18 0 12 +100 -100 0 -120 18
87 t (@] (@] @] 31.75 50.8 +21 0 14 +100 -100 0] -120 20
cawater 50.8 80 +24 0 16 +100  -100 0 160 25
) ERDRE.REICKDERAFELEDFT, 80 120 +28 0 19 +100 -100 0] -200 30
o 120 180 +33 0 22 +100 -100 0 -250 35
e =i
GREASE
N . Ehem Nl )
x—h— ] 185 555 g |BEDNEAOC) 5.5 | pmEET i HNEWDFRENUTSIE
Manufacturer Brand Thickener Base oil Basis oil motion | gonsistency | Use temperature Characteristic TOLERANCE AND ALLOWANCE LIMIT FOR OUTER RING P
viscosity B (Units)/um
- INRERETESU—2 . . s . e
STV T SRL UFOL | ABRBRLKTH 26.0(mmz/s) 250 -50~150 KMTRP I BEAN )— 2> PO E HINEDOTIEE HE@WDS 7 ILIRN
— Nominal Outside Deviation Of Mean Radial Runout Of
. . Diameter Outside Diameter Outside Ring Of
?IFv T SB-F UL | amikEhm | 47.6(mm2/s) 260 -40~200 BRARSHTU—A assenbloaseaiine
D(mm) 4Dm Kea
=8 vl = + r -F Egik
QIFV 7 SB-M voL7 | ammibkEs | 47.6(mme/s) 220 -40~200 RRAIU—R T=ALT T High Low Max
[ | 0 -9 15
5 ERETAIU—Z 0 1l 20
< IFVTSL-F-1 UFDIA Sl e 17(mm2/s) 325 -60~130 Romi= 0 -13 25
=1:hAE — 80 120 o] -15 35
R@?hsm — , 120 150 0 8 40
=~ FSL-F-2 | ALK 17(mmz/s) 280 60~130 EEETAIU—X 150 180 0 -25 45
RIVFUT UFDIL BRI 180 550 0 =0 50
— 250 315 o] -35 60
RIWFVUTET-100K | voL7 | T—FLFkams | 128(mme/s) 280 -40~200 | BEAESHIU-A
5 j o B IS 4 Shoe
TFVTPS-1 @) | UFon | amsikms | 159(mme/s) | 320(275) | -50~130 | EEETAIU-Z A DI SZ EE R D EE
— TOLERANCE OF HOUSINGS
B (Units)/um
TIFVTLRLNO3 | UFDL | TRFILKARHE - 235 -60~150 | BEBEZSHIU-Z . .
- BRARENRED RREZ EOFEATIRERDEE
TEmBES -2 FUBER Deviation Of Mean Bore Diameter In A Single Plane
S . ZIWIK=7 S2 UFD L SIH 131(mm2/s) 283 -25~120 KMTARP US4 = w1 J— 2 Nominal Diameter OF Of Soher\ca\ABDearlng Seating
SE;]*DJIS}#?'H} — Spherical Bearing EIw
owa She PN Seating
Sekiyu S o 2 50~ LEMHREITU—R s REHISA H7 REHISR J7 REHISA K7
7JLIN=F S3 UFS /1 S 131 (mmz2/s) 242 50~150 o R _
KMTAFUZTAZAERTU—2) Da(mm) Tolerance Range Class Tolerance Range Class Tolerance Range Class
AT - . e NSF-H1&RmIU—2 E ¥ t ¥ £ ¥
TOTAL NEVASTANE XS80| /41 B 80(mmé/s) 280 55~180 | WMTZFYLR RPUH1ZyEEs—2) High Low High Low High Low
— +21 0 +12 -9 +6 -15
FA4F = . 200(mm#/ 280 -60~250 BEAYU—2 +eb 0 +14 -1 +7 -18
Dok 5171\ L200 PTFE JvEH (mmé/s) & 130 0 e a2 16 o1
— 80 120 +35 o] +22 -13 +10 -25
N 120 180 +40 0 +26 -14 +12 -28
THK AFE-CA SV AR 99(mmz/s) 280 -40~180 EREIU—TU—2 180 250 +46 0 +30 16 +13 33
250 315 +52 0 +36 -16 +16 -36
BE)KMTCldJ7ZA. Note)KMT basically use J7.

2024.05.31 (




XiaE#

HREh{iE

VIBRATION VALUE

TECHNICAL SPECIFICATIONS

IS FE DM R IRENIERE (FUANIV)E [UB/T7047-2006]
MECHANICAL PROPERTY OF INSERT BEARING BOX VIBRATION ACCELERATION VALUE ) )
847 (Units)/dB
RFHEEEESE GRAY CAST IRON PRODUCT HZAE BEEHII0 BEERFI2 BEEHII3
(mm) (68,69, 60%3l) (62%31) (63%31)
H OB & B SR g Bore Diameter
St b Tensile Strength|  Hardness (mm) z |z1|z2|z3|za |zP3|zPa| z | z1 | z2 | z3 | za |zP3|zPa| z | 21 | z2 | z3 | z4 |zP3|zPa
N/mm?= HB 3 35| 34| 32|28 |24 |44 |40 | 36| 35| 32|30| 26| 46| 42|37 |36 33|31 |27]|47 | 43
JiS FC200 2001 E 2231 4 35| 34|32 28|24 44a]40| 3635323026 464237363331 274743
B HT200 2008+ 223 5 37| 3|34 |30 |26 |46 42|38 37| 34|32 284844393735 33| 2949/ 45
6 37| 3|34 30|26 |46 42|38 3734|3228 4844393735 33| 29]49]45
7 3938|3531 |27 474340 3836|3429 5045413937 35|30 51|46
HENE ST AL HDANR  zINC ALLOY DIE-CAST PRODUCT 8 3938|3531 |27 474340 3836|3429 5045413937 35|30 51|46
i = R - 9 41140 36| 3228484442 40|37 35| 30|51 4643|4139 |37 32]53] 48
B EE=t = =
SN | 10 | 43| 42|38 /33|28 |49 44| 44| 42| 39| 35| 30|51 |46|46 |44 | 40|37 | 32|53 48
Standard Syl N/mme HB 12 | 44 | 43| 39| 34 | 29| 50|45 | 45| 43| 39| 35| 30| 51 | 46 | 47 | 45 | 40 | 37 | 32 | 63 | 48
s - a5 . 15 | 45|44 40| 35| 30|51 |46 | 46| 44|41 36| 3152474846 42383354 ] 49
cB 7ZnAL4 285 82 17 | 46|44 40| 3530|5146 47| 45|41 36| 3152474947 42383354 ] 49
20 | 47| 45| 41|36 |31 |52 |47 | 48| 46| 42| 38| 33| 54| 49| 50|48 43| 39|34 55] 50
o2 | 4714541 3631|5247 48 46| 42| 38| 33| 54| 495048 |43] 39| 34|55 ] 50
ZF VU ALHSEME,  STANLESS STEEL CAST STEEL PRODUCT o5 | 48| 4642 38| 34|54 |50 49 47 4340 36| 56| 525149 4441375753
- 28 |49 474339355551 |50 48| 44| 41|37 57|53 |652]50|45]| 42| 38|58] 54
B s £ = Y'\e\dﬂgtjrjength Tenzl'zﬁgﬁfngm ao{nzgion Ha‘f;iss 30 |49 |47 | 43|39 | 35| 55|51 | 50| 48| 44| 41 | 37| 57| 53| 52|50 | 45 | 42 | 38 | 58 | 54
Standard Symbol N N e % B 32 | 50484440 3656|5251 49| 45| 42| 38| 58] 5453|5146 | 43| 39| 59 | 55
e S . aObLE bt - 35 | 5114945413757 |53 |52 50| 46| 43| 39| 59|55 |54 |52 47|44 40| 60| 56
o oo s - AdonL L oLt - 40 | 53|51 | 46| 42| 38|58 | 54|54 |52 474440 60| 56[56|54]49]45] 416157
45 | 55| 53|48 | 45| 42|61 |58 5656|5449 46| 4362|5958 56|51 |47 44]63] 60
50 | 57| 54|50 4744636058/ 55| 51|48 45| 64|61 60|57 53|49 46|65 ] 62
. - v
FAWVANTUY T oviess searncs IRENER (77 0Y){E [JB/T10187-2011]
HEFRIHEIRELZE  RECOMMENDED VIBRATION VELOGITY VALUE 841 (Units) /um/s
432/ \! v
pov o oo uzroz [ % v va va ves vea
Housing Inner —f%F (E&afm) —A% A (B2&f) =HEER :
EENETE (520 LEEE) CETEEL it L) Al AEEEE B0 et Bz:li_nd Bg/r|1d Bg:wd Belz_nd Bg/rlm Bg'nd BaLnd Bglrlwd B;nd BaLnd Bglrl1d B:nd lez_nd Bglrlm Bg:wd Belz_nd BeI;/rI1d Bg'nd BaLnd Bgﬂnd B;nd
H7 a8 ¢/ v 80 | 44 | 44 |60 | 35 | 32 |48 |26 |22 | 31| 16| 15| 28| 10| 10 |100| 60 | 60 | 90 | 45 | 45
80| 44|44 60| 35| 3248|2622 31|16 15 28] 10] 10]100/ 60| 60| 90 45 | 45
110 72| 60| 74 4840|5836 303521183211 ]11]115/85] 70 |100] 50| 50
{EFEEHE  RANGE OF USE 110 72| 60| 7448405833035 |21 18][32]11]11]115/85] 70 |100] 50| 50
HERAELP | WERSEEV | WORSPViE | EMEEEEC | BERE | imw A wkeh | s 180, 96 180 1 92 166 |54 | 72 | 48 | 40 44 | 28 | 24 | 38 12 12 14511151 95 1120 55 | 65
Maximum Pressure | Maximum Speed Of Permission | Maximum Pv Of Permission |Range Of Operating Temperature | Lubrication Condition | In The Atmosphere In Water In Seawater | InMedicinal Solution 130 96 | 80 | 92 | 66 | b4 | 72 | 48 | 40 | 44 | 28 | 24 | 38 12 12 11451 115] 95 | 120| b5 | 55
29(296)N/mm?2 B 0.5m/s MEE  1.65N/mm? -40~+300 g @) X X X 130 96 | 80 | 92 | 66 | b4 | 72 | 48 | 40 | 44 | 28| 24 | 38| 12 | 12 |145|115] 95 |120| 55 | 6b
%150(1530) TSR 1.00m/s | CHEE 325N/mm2 | -40~+150 THEE o x x x 160|120/ 100|120/ 80| 70 | 90| 60 | 50 | 55 | 35 | 30| 45 | 14 | 15 |180]145]120|145] 65 | 70
HENHEEE S CEVEE R Y SBOHSEEERY 160|120/ 100/ 120| 80| 70 | 90 | 60 | 50 | 55 | 35 | 30 | 45 | 14 | 15 |180|145|120|145| 65 | 70
%STATIC PRESSURE:the static pressure when it slides at a very low speed. 2101 150|120/ 150|100 85 | 110]| 78 680 65 46 35 52 18 18 12151190/ 140|165| 85 85
210[150]120]150]100] 85 [110] 78 | 60 | 65 | 46 | 35 | 52 | 25 | 25 [215]190]140|165] 115|115
- _ 260]190]150]180]125]100]130]100] 75 | 80 | 60 | 45 | 60 | 25 | 25 |280]285|215|215]115] 115
R/VRIFYIAE  HioH STRENGTH BRASS 260|190]150]180] 125|100| 130|100| 75 | 80 | 60 | 45 | 60 | 30 | 32 |280| 285|215 215| 145|155
EFRes3 (%) 260|190|150|180|125|100|130|100| 75 | 80 | B0 | 45 | 60 | 30 | 32 | 280 285|215|215| 145|155
- = O] BEmEEEnigs 260|190| 150| 180| 125|100|130|100| 75 | 80 | 60 | 45 | 60 | 35 | 40 |280|285|215|215| 170|190
. Majo%iffggnem Residifﬁzﬁnﬁmm 300 240] 190|200| 150 130] 150|120 100| 90 | 75 | 60 | 70 | 35 | 40 | 325|360|290|250| 170|190
300|240/ 190|200/ 150|130| 150|120/ 100] 90 | 75 | 60 | 70 | 35 | 40 |325|360|290|250| 170|190
Cu Zn Fe Al Mn Sn Pb Ni Si 300|240/ 190|200/ 150|130| 150|120/ 100 90 | 75 | 60 | 70 | 42 | 45 |325|360|290|250|200|215
Js o | 80.0~650 | 220~280 | 20~40 | 50~75 | 25~50 02 02 05 0.1 360|300 260|240 180|160|180|150|130|110| 90 | 80 | 82 | 50 | 50 | 400430385 295 240 240
CUInBEAE 360] 300|260 240]180] 160]180|150]130]110] 90 | 80 | 82 | 60 | 60 | 400]430] 385|295 290|290
GB Feamng | 60.0~66.0 | 220~280 | 20~40 | 50~75 256~5.0 0.2 02 1.0 o1 420|320|320] 280] 200]200]210] 160| 160] 125| 100] 100] 95 | 70 | 70 |450|480|480|340|335|335

2024.05.31




FaT7//MEFMZRIENER

MINIATURE/SMALL BALL BEARING PART NUMBER COMPARISON TABLE

W7 S>3}, WiTH FLANGED OUTER RING

e

Ve

MEL KIMT NMB NTN NSK HEL IKMT NMB NTN NSK
MR632Z L-6302Z WAB73SSA MR63ZZ MF63ZZ LF-630ZZ FLWAG673SSA | MF632Z
6832Z L-7302Z W683ZZA 683AZZ F683ZZ LF-7302Z FLW683ZZA | F683AZZ

4 | 69322 R-830ZZ W6932Z 69327 4 | F6932Z RF-8302Z FLW693Z2Z F6932Z
MR93ZZ R-930ZZY04 | WBC3-92ZA | MR93ZZ MF932Z RF-930ZZY04 | FLAWBC3-9ZZA | MF932Z
60322 R-9302Z W6032Z 60322 F603Z2Z RF-930ZZ FLW603Z2Z F603ZZ
62322 R-1030ZZ 62377 62372 F6232Z RF-1030ZZ | FL623ZZ F6232Z
MR74Z2Z L-740ZZ WAGB74ASSA | MR742Z MF74ZZ LF-7402Z FLWAG74ASSA | MF742Z
MR84ZZ L-8407Z WBC4-82Z MR84ZZ MF84ZZ LF-8402Z FLWBC4-87Z | MF84zZ
68422 L-940ZZ W6B4AX50ZZ | 684AZZ F684ZZ LF-94077 FLWB84AX50ZZ | F684ZZ

4 |_MR104ZZ | L1040X07Z | WBC4-102Z | MR104822 4 |_MF1042Z | LF-10402 FLAWBC4-10ZZ | MF104BZZ
69477 R-11407Z 69477 69477 F694ZZ RF-1140ZZ | FL694ZZ F69477
60422 R-1240KK1 6047272 6047272 F604ZZ RF-124072Z2 FL604ZZ F604Z27
62427 R-1340HH 62477 62477 F624ZZ RF-1340ZZ | FL624ZZ F62477
63422 R-1640HH 63477 634221 — — — —
MR85ZZ L-850ZZ WA6752Z MR852Z MF852Z LF-8502Z FLWA675ZZ | MF852Z
MR95ZZ L-9507Z WBC5-92Z MR95ZZ1 MF952Z LF-9502Z FLWBC5-92Z | MF952Z1
MR105ZZ | L-1050ZZ WBC5-10ZZ | MR105ZZ MF105ZZ | LF-1050ZZ FLAWBC5-10ZZ | MF1052Z
MR115ZZ | L-1150ZZY04 | WBC5-11ZZ | MR1152Z MF115ZZ — FLWBC5-112Z —

5| 6852z L-11502Z W6852Z 68527 5| F685zZZ LF-1150ZZ FLW685ZZ F68527
69527 R-13502Z 69527 69527 F695Z2Z RF-1350ZZ | FL695ZZ F6952Z
6052Z R-14507Z 60522 60522 F605ZZ RF-1450ZZ | FL605ZZ F6052Z
62522 R-1650HH 62527 625271 — — — -
63522 R-1950ZZ 63527 635221 — — — —
MR106ZZ | L-1060ZZ WAB76AZZ MR106Z2Z1 MF106ZZ | LF-1060ZZ FLWAB76AZZ | MF106ZZ1
MR126ZZ | L-1260ZZ WBC6-12ZZ | MR1262Z MF126ZZ | LF-1260ZZ FLAWBC6-122Z | MF126ZZ
68622 L-13602Z W6862Z 686AZZ F686ZZ LF-13602Z FLW6862Z F686AZZ

6 | 69622 R-1560X13KK | 696ZZ 696221 8 | F696ZZ RF-1560ZZ | FL696ZZ F696271
6062Z R-1760X2ZZ | 6062Z 60622 F606ZZ RF-1760X2ZZ | FL606ZZ F606ZZ
6262Z R-19607Z 62622 626221 — — — —
63622 - - 63622 — — — —
MR117ZZ | L-1170ZZ WA6772Z MR1172Z — - - -
MR137ZZ | L-13702Z WBC7-132Z | MR1372Z — — — —

, | 6872z L-1470KK W687AZZ 687221 , | Fes7zz LF-14702Z FLW687AZZ | F6872Z1
69727 — 69727 697221 F697Z2Z — FL697ZZ F697271
60722 R-1970ZZ 60722 607221 F6072Z RF-19702Z — F6072Z1
62722 R-2270HH 627722 6277272 F627Z2Z RF-2270HH — F627727
MR128ZZ | L-1280ZZ W678AZZ MR1282Z1 MF128ZZ | LF-12802Z FLAW678AZZ | MF128771
MR148ZZ | L-1480ZZ WBC8-14ZZ | MR148ZZ MF148ZZ | LF-14802Z FLWBCS-14ZZ | MF1482Z

g | 68822 L-1680HH W688AZZ 688AZZ1 g | F6882Z LF-1680HH | FLW68BAZZ | F688AZZ
69822 R-1980KK 69827 69827 F698ZZ RF-1980ZZ | FL698ZZ F69877
60822 R-2280HH 60822 60822 F608ZZ RF-2280HH | FL608ZZ F608ZZ
62827 — 62877 62877 — — — —
68922 L-17902Z W6892Z 689721 F689ZZ LF-17902Z FLW689ZZ F689Z71

g | 6992z L-2090KK 69977 699771 g | F6992Z — — F699ZZ1
60927 60922 60922 60922 F609ZZ — — —
62922 — 629X502Z 62977 — — — —

RPYG 1=y bt W ARTY Y U BHES

BEARING UNIT - OILLESS BEARING PART NUMBER COMPARISON TABLE

BN7YU2J 12w,/ BEARING UNITS

IKMT FYH NTN ASAHI
uUcP UcpP UCP UCP
EO—RI1=vhk piowuniTs
UCPA UCPA UCupP UCPA
OLI735VIR1=wYh  RHOMBUS FLANGED UNITS UCFL UCFL UCFL UCFL
BJ7S5VIRI1YN  sauARE FLANGED UNITS UCF UCF UCF UCF
A VY —NEIF  INSERT BEARINGS uc uc uc uc
BATVURA RXPUVT 1w,/ STAINLESS BEARING UNITS
IKMT FYH NTN ASAHI
SUCP UCSP F-UCPM MUCP
EO—#1=vhk eiowunTs
SUCPA UCSPA — MUCPA
OLI735VIR1=Yh  RHOMBUS FLANGED UNITS SUCFL UCSFL F-UCFM MUCFL
BJ7S5VIRI1YN  sauARE FLANGED UNITS SUCF UCSF — MUCF
AU —NEI5  INSERT BEARINGS ssucC uc-s6 — MUC
BMEERARTYUYIT 1Y, /LeHT BEARING UNITS
KMT FYH NTN ASAHI
ro—wi1=vk EEE?\I%E%;L?R TYPE up - _ upP
PILLOW UNITS thE?g:iET/vZYPE Kp Up _ Kp
oLIZSVIRI=YE E@Eﬁ?ﬂl_cgcgl_gﬂ TYPE UFL — - UFL
RHOMBUS FLANGED UNITS SJLE?&?E,‘(NZYPE KEL UFL _ KEL
A Y —R 5T @%E?\l%ggcggﬁ TYPE v _ T U+ER
INSERT BEARINGS IFRCy1~7 K SU — K
SET SCREW TYPE
WEEERATVUVA RXFPUVI LT WH,/LIGHT STAINLESS BEARING UNITS
IKMT FYH NTN ASAHI
ro—wi1=vhk g?cﬂ;gEjlgl'ZEQCngR TYPE sup - — MuUP
PILLOW UNITS SJJ:E?SL%:/);&VZYPE SKP USP-S6 _ _
OoL7oVyIRI=vh E:EE?\I%EQCJLgR TYPE SUFL — - MUFL
RHOMBUS FLANGED UNITS SJLE?éJ::i;vZYPE SKFL USFL.S6 - _
A Y — N ﬁggﬂ%l_cgcgl_gﬂ TYPE su _ _ MU-+ER
INSERT BEARINGS SJLE?&?R,ET/VZYPE sK SUSE _ R
WA JVVAXRTUYT /olLLESS BEARING
ICMT | ALRTE | ARXSNIE | SHAIMLR | T I18—R
FAIWVARTYUYT  olLLESS BEARING JDB SPB SOB MPB

2024.05.31




TRTSEHHTERE

BERT 37 EEFHHN 8(0/um
HORZEI 52X BT HORE S (mm) HOLERY 5
ey
BER T TS LEDED @z BT | js5 | js6 | Js7 | k5 | k6 | m5 | m6 | n5 | n6 | p6 6 6 16 u6 | x6
- ' 3 +2 +3 +4 +4 +6 +6 +8 +8 +10 +12 +16 +20 B +24 +26
He gb hb jsb k5 mb 0 0 +2 +2 +4 +4 +6 +10 +14 +18 | +20
f6 g6 he | js6 k6 mé né p6 s - 5 » . +6 +9 +9 | v12 | +13 | +18 +20 +23 +27 i +31 | +36
- i - +1 +1 +4 +4 +8 +8 +12 +15 +19 +23 +28
H7 f6 | 96 | h6 | js6 | k6 | m6 | n6 | p6 | 16 | s6 | t6 | u6 | x6 5 i 3 | 245 | 275 | 7| *10 | 712 | +15 | 16 | +19 [ 424 | +28 | 432 T 37 | 443
e7 7 h7 js7 - - - +1 +1 +6 +6 | +10 | +10 +15 +19 +23 +28 | +34
7 hg . . 451
£4 455 195 +9 +12 +15 +18 +20 +23 +29 +34 +39 B +44 +40
H8 e8 | f8 h9 " m = 2. = Al w ] e | w7 w2 ] a2 | s8] 423 | 428 +33 [ 156
do e9 +45
d8 | e8 h8 18 24 | +Ba | 467
" 145 165 +105 +11 +15 +17 +21 +24 +28 +35 +41 +48 +41 +54
c9 d9 e9 h9 - e : ; : +2 +2 +8 +8 | +15 | 415 +22 +28 +35 +54 61 | +77
H10 b9 c9 d9 +41 +48 | +64
30 40 +64 +76
PR +13 +18 +20 +25 +28 +33 +42 +50 +59 +48 +60
WE DTS E 81/um " o £33 B 25 ) ol 2| 49| +9 | w17 | 417 | 426 | 434 | 443 70 | <86 .
EHETHEDOR S (mm) BOAERI TR +54 +70
EBZ BUF b9 c9 d8 d9 e7 e8 e9 f6 7 f8 a5 a6 h5 h6 h7 h8 h9 +60 +72 +85 +106
" 3 -140 60 | -20 -20 -4 -4 -4 6 6 -6 2 2 Y Y 0 0 0 - i SBE L0k L5 | *18 | #21 | 424 | 430 | 433 | 439 +51 +41 +53 +66 +87 )
-165 -85 -34 -45 -24 -28 -39 -12 -16 -20 -6 -8 -4 -6 -10 -14 -25 o = - - +2 +2 +11 +11 +20 +20 +32 162 +78 194 121
3 -~ -140 70 | -30 -30 20 20 | -20 -10 210 | -10 -4 -4 0 0 0 0 0 +43 +59 +75 | +102
2170 | -100 | -48 -60 32 38 | -50 -18 22 | -28 9 | -12 5 8| -12 | -18 -30 73 o3 113 | 1126
-150 -80 -40 -40 25 25 -25 -13 -13 -13 -5 5 0 0 0 0 0 80 100
51 71 91 124
6 10 | g6 | 16| 62| 76| 40| 47| 61| 22| 28| a5 | 11| -14| 6| 9| 5] 22| -3 +75 11 | +175 +l§ +ig ﬁg j’g :gg :;'g :g? +76 TO] :26 +166 -
10 14 | 150 | 95| 50| 50| 32| 32| 32| -16| 16| 16| 6| 6 0 0 0 0 0 100 120 :54 ++79 :]04 :]44
14 18 193 | 138 | 77 93 50 59 | -75 27 34 | -43 | -14 | 17 8| 11| 18 | -27 -43 = = =
+ + +
18 24 -160 | -110 | -65 65 -40 40 | -40 20 20 | -20 7 7 0 0 0 0 0 120 140 +63 02 | 4122
24 30 212 | 182 | 98 | -117 51 73 | 92 33 41 53 | -16 | 20 9| 13| 21 | -33 52
140 160 +9 +125 £20 +21 +28 +33 +40 B +52 +68 +90 +125 +159 R _
30 40 S =L - e = +3 +3 | +156 | +15 +27 +43 +65 | +100 | +134
232 | -182 | -80 -80 50 50 | -50 25 25 | -25 9 9 o 0 0 ) ) ) 33 7
180 | 130 | -119 | -142 75 89 | -112 -4 50 | 64| 20 | 25 | <11 | 16 | -25 | -39 62 160 180 i o *
40 50 +68 | +108 | +146
242 | 192
=0 o -190 | -140 180 200 +1(7)§ +}2;
264 | 214 | -100 | -100 60 60 | -60 -30 30 | -30 | -10 | -10 0 0 0 0 0 + +
200 | 150 | -146 | -174 | -90 | -106 | -134 | -49 60 | -76 | 23 | 29 | -13 | -19 | -30 | -46 74 +24 | +33 | +37 | +46 _ | +60 +79 | 4109 | +159 } } _
65 80 | Soa | 22a T & #10 | #1451 =23 a | s | w7 | a7 #31 | 450 | 480 | +130
220 | -170 +113 | +169
225 250
890 100 -307 | 257 | -120 | -120 72 72 72 -36 -36 36 | -12 | -12 0 0 0 0 0 +84 | +140
240 | 180 | -174 | 207 | -107 | -126 | -159 58 71 90 | 27 | 34| 15| 22 | -35 | 54 | -87 +126
ey feg -327 -267 = e +115 +18 +78 +27 +36 +43 +52 B +66 +88 +94 B ) ) B
-260 -200 o N B +4 +4 +20 +20 +34 +56 +130
120 408 o | G0 280 315 +98
140 | 180 | 330 | 310 | 08 | 245 | 178 | 14 | -es | 68 | o3 | 1o | 52 | @0 | 18 | 25 | <0 | 8 | -1c0 a5 | 385 ot
- - : - - - - - e - g g - - - - - - c18 | spgs | 29 | +40 | +46 | 457 | 473 +98 | +108 ) i i )
160 180 -310 | -230 o o ) ' +4 +4 | +21 | +21 +37 +62 [ 4150
410 | -330
+114
340 | -240
b st 455 | <55 490 430 +32 | +45 | +50 | +63 +80 | +108 ﬂgg
=00 oon -380 | 260 | -170 | -170 | -100 | -100 | -100 -50 -50 50 | -15 | -15 0 0 0 0 0 +£13.5 +20 | +31.5 +5 5 | 423 | 423 “ | La0 +68 2172 = - - =
495 | 375 | 242 | 285 | -148 | -172 | -215 79 96 | -122 | 35 | 44 | 20 | 29 | 46 | -72 | 115 450 500 i
+
420 | -280
225 7 —
480 | -300
2 280 | 410 | -430 | -190 | -190 | -110 | -110 | -110 56 56 | -56 | -17 | -17 0 0 0 ) )
o i 540 | 330 | -271 | -320 | -182 | -191 | -240 88 | -108 | -137 | -40 | 49 | 23 | -32 | -52 | -81 | -130
670 | -460
600 | -360
ol as= 740 | 500 | -210 | 210 | -125 | -125 | -125 62 62 | -62 | -18 | -18 0 0 0 ) 0
59 400 | ©80 | 400 | -299 | -350 | -182 | -214 | -265 98 | -117 | <151 | -43 | -54 | 25 | -36 | -57 | -89 | -140
820 | -540
760 | -440
de0 450 | 915 | 595 | -230 | 230 | -135 | -135 | -135 68 68 | -68 | -20 | -20 ) 0 0 0 )
840 | 480 | -327 | 385 | -198 | -232 | 290 | -108 | -131 | -165 | 47 | 60 | 27 | -40 | -63 | 97 | -155
450 500 | 505 | 635

W | 2024.05.31 (




TRTSEHHTERE

WERTIHMEEEFHH N #(i/um
NODEERT TR EXETEREORES (mm) NROREHIFA
BRm TEEFH R i$ 8 LEDHIESD ZHEZ LT JS6 Js7 K6 K7 M6 M7 N6 N7 P6 P7 R7 S7 T7 u7 X7
h5 H6 156 K6 M6 NG P6 - 3 +3 +5 0 0 -2 -2 -4 -4 -6 -6 -10 -14 _ -18 -20
-6 -10 -8 -12 -10 -14 -12 -16 -20 -24 -28 -30
hé Fé G6é Heé JS6 K6 Mé N6 P6 3 6 4 6 +2 +3 -1 0 -5 -4 -9 -8 -11 -15 -19 -24
F7 G7 H7 JS7 K7 M7 N7 P7 R7 S7 T7 u7 X7 * = -6 -9 -9 -12 -13 -16 -17 -20 -23 -27 - -31 -36
E7 F7 H7 +2 +5 -3 0 -7 -4 -12 -9 -13 -17 -22 -28
h7 F8 08 . L =5 =S g qg | a2 | a5 | a6 | a9 | 21| 24| 28| 32 T | a7 | 43
D8 E8 F8 H8 10 14 -33
h8 155 5 +2 +6 -4 0 -9 -5 -15 -11 -16 =21 _ -26 51
D9 | E9 H9 : 9| 12| 15| 18| 20| 23| 26| 20| -34| -39 -44 [ 38
D8 | E8 H8 14 18 56
h9 (01°] D9 E9 H9 18 24 _ -33 -46
B10 C10 D10 165 +9 +2 +6 -4 0 -1 -7 -18 -14 -20 -27 -54 -67
24 30 ’ -11 -15 -17 -21 -24 -28 -31 -35 -41 -48 .33 -40 56
-54 -61 =77
W\DIVITRDTEFEE e/ um ” = -39 | 51
EHETHEORS (mm) ROBEHI 5 R 8 1125 +3 +7 -4 0 -12 -8 -21 -17 -25 -34 -64 -76
E#@z "F B10 c9 c10 D8 D9 D10 E7 E8 E9 F6 F7 F8 G6 G7 H6 H7 H8 H9 H10 = - -13 -18 -20 -25 -28 -33 -37 -42 -50 -59 -45 61 -
3 +180 +85 +100 +34 +45 +60 +24 +28 +39 +12 +16 +20 +8 +12 +6 +10 +14 +25 +40 40 50 70 86
g +140 | +60 | 460 | +20 | +20 | +20 | +14 | +14 | +14 +6 +6 +6 +2 +2 0 0 0 0 0 = i
3 6 +188 | +100 | +118 +48 +60 +78 +32 +38 +50 +18 +22 +28 | +12 | +16 +8 | +12 | +18 +30 +48 50 65 -30 -42 -55 -76
+140 +70 +70 +30 +30 +30 +20 +20 +20 +10 +10 +10 +4 +4 o] 0 o] o] [o] +4 +9 -5 0 -14 9 26 21 -80 72 -85 -106
1208 | +116 | +138 | +62 | +76 | +98 | +40 | +47 | +61 | +22 | +28 | +35 | +14 | +20 | +9 | +15 | +22 | +36 | +58 9.5 15 =
: 2 +150 | +80 | 480 | +40 | 440 | +40 | 425 | +25 | 425 | 413 | 413 | 413 | 45| 45 0 0 0 0 0 65 80 <15 | <&l | 24 | 90 | ~3% | 99| <48 -8l -32 -48 -Ba -91
10 14 +220 | +138 | +165 +77 +93 | +120 +50 +59 +75 +27 +34 +43 +17 +24 | +11 +18 +27 +43 +70 -62 -78 -94 -121
14 18 +150 +95 +95 +50 +50 +50 +32 +32 +32 +16 +16 +16 +6 +6 0 0 0 0 0 -38 -58 -78 -111
DRI .o | o |0 | v | e | e | o | ol v | | | m|TR|A|Te N 5| - P | as | | t0 | 8| of 6|0 a0 24| 73| o3| 3| e |
24 30 + * + + + + + + £ & * + il + B -18 -25 -28 -35 -38 -45 -52 -59 -41 -66 901 -131
- - +270 | +182 | +220 100 120
+170 +120 +120 +119 +142 +180 +75 +89 +112 +41 +50 +64 +25 +34 +16 +25 +39 +62 +100 -76 -101 -126 -166
o = 280 | +192 | +230 +80 +80 +80 +50 +50 +50 +25 +25 +25 +9 +9 0 0 0 0 0 .48 77 -107
+180 | +130 | +130 120 140 -88 -117 -147
= - +310 | +214 | +260
+190 | +140 | +140 | +146 | +174 | +220 | +90 | +106 | +134 | +49 | +60 | +76 | +29 | +40 | +19 | +30 | +46 | +74 | +120 140 160 +125 £20 +4 | +12 -8 0| -20 | -12 | -36 -28 -50 -85 | -119 _ )
+320 | +224 | +270 | +100 | +100 | +100 +60 +60 +60 +30 +30 +30 | +10 | +10 0 0 0 0 0 o -21 -28 -33 -40 -45 -2 -61 -68 -0 -125 -159
55 0 +200 | +150 | +150
-53 -93 -131
. - +360 | +257 | +310 160 180 03 133 71
+220 +170 +170 +174 +207 +260 +107 +126 +159 +58 +71 +90 +34 +47 +22 +35 +54 +87 +140
4380 | +267 | +320 | +120 | +120 | +120 +72 +72 +72 +36 +36 +36 | +12 | +12 0 0 0 0 0 -60 _105
100 2 +240 | +180 | +180 180 200 - -
106 151
+420 | +300 | +360
120 140 +260 +200 +200 200 225 145 23 +5 +13 -8 0 =22 -14 -41 -33 -63 -11 ~ _ _
v - +440 | +310 | +370 | +208 | +245 | +305 | +125 | +148 | +185 +68 +83 | +106 | +39 | +54 | +25 | +40 | +63 | +100 | +160 o -24 -33 -37 46 51 -60 -70 -79 -109 -159
+280 +210 +210 +145 +145 +145 +85 +85 +85 +43 +43 +43 +14 +14 0 0 0 0 0
-67 -123
1 e +470 | +330 | +390 225 250 113 169
+310 | +230 | +230
180 200 +525 | +355 | +425 -74
izg f?g ﬁig 242 | +285 | +355 146 172 | +215 79 96 122 | +44 | +61 29 | +46 72 115 185 o i 16 +26 +5 +16 9 0 25 "4 47 i . -
+ + + + + + + + + + + + + + + + + + + = = = =
288 228 +380 | +260 | +260 | +170 | +170 | +170 | +100 | +100 | +100 +50 +50 +50 | +15 | +15 0 0 0 0 0 280 315 -27 -36 -41 52 57 -66 79 -88 -78
o 50 +605 | +395 | +465 -130
+420 | +280 | +280 K
690 430 510 315 355 <
+ + +
220 2 +480 | +300 | +300 | +271 | +320 | +400 | +162 | +191 | +240 | +88 | +108 | +137 | +49 | +69 | +32 | +52 | +81 | +130 | +210 +18 +285 +7 +17 -10 0 26 -18 -51 -41 -144 - - - -
+750 | +460 | +540 | +190 | +190 | +190 | +110 | +110 | +110 +56 +56 +56 | +17 | +17 0 0 0 0 0 -29 -40 -46 -57 -62 -73 -87 -98 -a3
280 S +540 | +330 | +330 355 400 -150
315 355 +830 +500 +590 103
+600 | +360 | +360 | +299 | +350 | +440 | +182 | +214 | +265 +98 | +119 | +151 | +54 | +75 | +36 | +57 | +89 | +140 | +230 400 450
- o +910 | +540 | +630 | +210 | +210 | +210 | +125 | +125 | +125 +62 +62 +62 | +18 | +18 0 0 0 0 0 120 1315 +8 +18 -10 0 -27 -17 -55 -45 -166 _ ) ) )
+680 | +400 | +400 . -32 -45 -50 -63 -67 -80 -98 -108 -109
P 450 | *1010 | +595 | +690 450 500 172
+760 | +440 | +440 | +327 | +358 | +480 | +198 | +232 | +290 | +108 | +131 | +165 | +60 | +83 | +40 | +63 | +97 | +155 | +250
+1090 | +635 | +730 | +230 | +230 | +230 | +135 | +135 | +135 +68 +68 +68 | +20 | +20 0 0 0 0 0
a9 o +840 | +480 | +480

W | 2024.05.31 (




(XD H VS IND IR (uis B 0401-1:2016 £yme)

BJISTHRETINEBETO. [FHIHULIRE

BRICDOWNT

AZAT - IR—LR—VZCRHLTCBDEITAMRE. ARFEDEFBICKD FEFLMARTEZEOEEPERZERELLEDTDHED
BODFITDT, HEIUHTTHEEWVNE T,

{RE}E

3
3

REE HWAEIFTA
TEXIED HEED LEVIE®H
H6 g5 h5 jsb k5 m5 n5 p5
H7 f6 g6 h6 js6 k6 m6 n6é p6 ré s6 t6 ubé X6
H8 e7 f7 h7 js7 k7 m7 s7 u7
d8 e8 f8 h8
H9 d8 e8 8 h8
H10 b9 c9 d9 e9 h9
H11 b11 cli d10 h10
WJISTHET IEEETO, [FHHUVIKEE
= NRREIFA
nEE TEEED FRIED LEVIED
h5 G6 H6 Js6 K6 M6 N6 P6
h6 F7 G7 H7 JS7 K7 M7 N7 Rid R7 S7 T7 u7 X7
h7 E8 F8 H8
h8 D9 E9 F9 H9
E8 F8 H8
h9 D9 E9 F9 H9
B11 C10 | D10 H10

¥(EHBVIDBDRYDEREF. TEDLITBRTDRET TADHFDSRESDH R,
K RIFEIEDHHWVIE NEELHDNHRDEERICLDD K34 OHMELEFHH VA LDEE R TR THES NS,

# (3B LD

AYAT - R—LR—IFCEHENTVDERDRILE. ECUTORIAREICEIERX T,
KMTOB@RZ CEAXIEICHRATNTVDHEE(ICE UTCRIRIEREZCSEBEINTVNDBDESBTVERERT, e, ZHD
BA@ICIHRAEN SRR EZINBSINTHEOFEAN UTORABEDNBERICEDCLZHETCSTELILZEL,

{RELEEME

CEBAVCEVWCARICOE, ARZEELDOMEDRACREER CELED ofcRIE (MEPAES) BREDh ofciza. HHDEDHICIRT

NEERICLDBIET. N OMMmEBIFLUAICEHEICTHACBAVCEVWZEEIRD., ZHORBRICHEST. TOEEOEEHLL(F—

D, FEBFE@ROEECIHUSBTWVIEET T, . UTHICZATHEICE. CORMENREBENSEASBCVIEET T,

CARDEVHGUADERICKDEE,

CNFOT IR—LNR—=IEFETRESNCRELUSNDTNEEFR ARV RFETOERIRWV., BSUCREREEIRVICEDHE,

CREANKILDUVICRE, TOMEHIRTERUANADHBERCKDHERUES,

S BREEROEE - FIMOKETIFRULALED 2I2ERICLDHE.

. BERCHIOWE. BEICLDHERUIES,

CETDITOBRBENPACHEE, BRMEICEEDFEVEMENE LOBBIIRET I, BL. AmMUEICREDFITh. FICEL
WERDONDHNER LOBBEIFRALDHBEELFE T,

O o0pdwnNn —

HHEEERS. REESUICINOORERBRONUEREARPERLHLEETIEALEVNTLZE W, E. ZHEmICEhELT
FEEUCUNCERESNCEENRUEEICDOEFLUCH, ZHE—UDEEFEDTVDBDELET,

CHEDRGEUIEEmDERICKD. FTEFBE@BAMERTELED 2l LICLDBEERNES

EFEIIBR BAVEAATNAICLDEERIFER

CBARGOHRIRWVICER T DEE. BENRUEKX

B EDRIREICOEXLTCIE HEEATOSWSINROERZRIRELTHDET,

BHATOCERDBE. RIAFRICEALTCF. LEEHAEATORIERESBRTI . FEDBEIFZALEE .

- BEROEADBNCTORE - Rl SERZBCUCVWEVWCENRR THEPRESEEOCHEE RmARDEVTLSNDER]
ZREL. BROREENSHREASETVEEEXD,

About Our Product

TETED RIS LEDIED
® 550 ® A5\ HUHEL (BEN) ® L (BTN
O EICTEENUBRDEDBL) | @A A—IMICEFETHLADBREDIFHHB * HICLHLAHBBIEHB
o AT BOALDES O EPAICLD, TEFEDEALLDUBDTEBBAENDS | SMEHIFFEALHEFHEDTEICED
o LLADBAIFRRAS B FEAETS o HEABP N EN D BEAICER
o HESEL RS EN B HIBACER o B HI AR DEE B D B A ER
o Bl HI CIEEIEEN D DR AICEA
o I T LEOALDEBENES T HIEAICHR
F7
| las|er LEhEs
| He|H7|Hs } !
i JS6 |JST ! ' Y
A | K6 [K7 |
I i : I 4o
I Me[m7 | mp
| | N7 FEATFL
| ! HBOT
| azEe | s L {P7
' ' (EEniED)
p6
TEEED chfs (£ . né I
L (0 ED) ' m5|m6 :
I k5| ke
/ |1 I i
¥ hs|he|n7 |26 |
BB ) g5gs [ §
=@ ' | - | FEATH
Jis ok o e LEHED | B DT k%

61

We may change the specification of our product in this catalog or homepage without any notification,
please understand this and accept our sincere apology.

Guarantee Policy

The guarantee policy for products listed on this catalog and homepage is following the terms below. If you purchase or use a KMT
product, you can use our guarantee policy. There is not a Guarantee Description inside when the products delivered. Please notice the
guarantee terms following.

Scope of Guarantee

Upon receiving the provisions of the products from the Seller, the Buyer shall conduct acceptance inspections immediately.

If a defect which cannot be immediately discovered by the Buyer's acceptance inspections and is attributable to the Seller is found,
and the Buyer notifies the Seller to that effect within one(1) year after delivery of the products, the Seller shall, at its option, replace
some or all of the defective products. or repair the defective products at no charge.The guarantee will not apply to the situations below.
1. Using the product in a way out of the Specifications.

2. Using the product in an environment out of the Specifications.

3. A damage from Natural disasters & fire or any other external causes.

4. A situation we are not capable to foresee by the time we deliver the products.

5. malfunction caused by remaking the product.

6. A flaw on the outward, no influence to the function. (Significant flaws can get the guarantee service).

Do not use our products on weapons or weapon factories. The damage and loss below that related to our products are out of the
guarantee policy.

-A damage caused by a subject using our product or a subject using our product by mistake.

‘A damage caused by a subject using our product on purpose or by mistake.

‘A loss caused by the Import Restrictions.

All the things mentioned above are for the customers in Japan.

The guarantee policy is same for the customers overseas except the situation below.

‘Using the product in a way against the law or rules oversea. We will take this situation as[Using the product in a way out of the
Specifications] which is not included in the guarantee palicy.

2024.05.31

(o))
N
-




L

EEOTSVR & CAWNALOG

CORPORATION

It is a KMT corporation that we send to you.

BAKMT FEKMT
et KMT o LRSS E 2 BRAE

KIRFFRARHRARD-2-24 PEIZAET FEXREREECNEFEDTIEX
TEL 06-6746-3123 FAX 06-6746-8691 TEL 0086-575-82937510 FAX 0086-575-82937310
URL https://www.e-kmt.com URL https://www.e-kmt.com

AH2OV\CREDER, BBE. 7 M E0EMEH. B8 GHEZECET,

Copy of the photoes and articles in this catalog is forbidden.
CATNO.1
KMT 24.06.2000

2024.05.31




